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[ 20210101 ~ 20221231 ]

No.| olgg $AIER AN Eamxglg 3|$045‘$E*iﬂ S Lye 204 EEANEY HID
120210104 | XIGiAtS] 222= Mol N N bk 10,000 |HIXZH=2 E4CMS
2 120210104 | KIS AIS =323 JH el N Frx 50,000 HXNESAZ
3| 20210104 | XI2iAlE S22 = Hol N 0l %% 10,000 |HIXZEA2
4] 20210104 | XI2AIE S22 = Hol N Hox 10,000 |HINEEZ
5| 20210104 | XISAIE S22 = ol N Bhx 100,000 | HINE=YZ E4CMS
6 | 20210104 | XIAIE S22 = Mol N N = 10,000 |HINZS2 54CMS
7 120210104 | KIS AIS 3323 Jpel N N xx 30,000 NE=3=3 S48CMS
8 | 20210104 | XI2AIE S22 = Hol N N 2 20,000 |HIXIEERA2 E4CMS
9 | 20210104 | KIZAIS] =323 JHel N Txx 10,000 X822 S48CMS
10| 20210104 | XI2iAtS| =92= Hol N N 0l %% 30,000 |HIXIE=A2 S4CMS
11| 20210105 | X% ALE E212= Mol N N =S, 5000 |HIXIE=AZ
12| 20210105 | X2t AtS| 222= Mol N 2 5000 |HIXEE22
13| 20210105 | X%t AlS] 2= Mol N N b 10,000 |HINZ=2
141 20210105 | KIZEAIE 2223 el N Trk 10,000 X822
15| 20210105 | X2t AtS| =292= Hol N 0l %% 10,000 |HIXZS2
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
16 20210106 | KIZEAIS 222 Hel N Sxx 10,000 HXE=AZ2

17| 20210107 | XIS AlS| ERA2E oMol N N L xx 20,000 |HIXEEAZ

18| 20210108 | XIZAlE| A= oMol N e 10,000 |HIXIES=Z S4CMS
19| 20210108 | XIZAlE| EARE oMol N | xx 50,000 |HIXIEEAZ 54CMS
201 20210108 | KIZAlIS] =323 Hel N A *x 10,000 XSRS S48CMS
21| 20210108 | XISiAIE| 22 oMol N M 10,000 |HIXIEE=Z 54CMS
22| 20210108 | KICiAtE ER2= oMol N N 2wk 5000 |HIXNEEAZ

23| 20210108 |XI2iAIE E2A2= ool N Sxx 10,000 |HIXIEEAZ 54CMS
24| 20210108 | KICiAIS 222 = oMol N 0] % 5,000 N S4CMS
25120210108 | KIZAIS] =323 Hel N I *x 30,000 NE=3= S4CMS
26| 20210108 | KI2iAIE| 22 = oMol N N e 10,000 |HIXIEEZ S4CMS
27120210108 | KIS AIS] =323 Hel N N Elg 10,000 HIXEZ=RZ S48CMS
28| 20210108 | KI2iAIE| EA2E oMol N N I 10,000 |HIXIEEAZ 54CMS
29| 20210108 | KI%iAlE ERAZE oMol N N Sxx 5000 |HIXEEA2 S4CMS
30| 20210108 |KICiAIE ERA2E oMol N N 0] % 10,000 |HIXIEEAZ 54CMS
31| 20210108 |XI2iAIE| 222= oMol N N 2xx 50,000 |HIXEEZ S4CMS
32120210108 | KIZAIS] =323 Hel N N Gk 20,000 HXE=Z S48CMS
33| 20210108 | KICiAtE 222 = oMol N N Rxx 5000 |HIXN®EAZ E4CMS
34120210108 | KIZAIS] =323 el N N Hxx 40,000 HXE=AZ2 S48CMS
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No.| oigy sAza58 sAxPE E%‘mxgl% j'%ifi“ S2%} LH = EZEEY
351 20210111 | KIS AIS =323 Hel N Sxx 20,000 HXE=AZ2
36| 20210111 |KICiAtE 222 = oMol N Ok 10,000 |HIXES2
37120210111 | KIEAIS S22 Hel N Aoxk 10,000 HXNESRZ
38| 20210111 |KICiAIE| EA2= oMol N 0] % 10,000 |HIXIEEZ
39| 20210111 | KIS AIS] =23 Hel N O #* 10,000 XSRS
40 20210111 | KIS Ate =323 JHel N N Of** 10,000 HXNEZAS
411 20210111 | KIGAtE =333 Hel N N L 5,000 HAEZAZ
421 20210111 | KIGAIE )23 JH el N Of %+ 10,000 HXE=JZ2
431 20210111 | KIGAtE =333 JH el N Bl x* 10,000 HXNEZEAZ
441 20210112 | KIGAIE =333 JH el N A wx 30,000 HXEZ2Z
45| 20210113 | XICiAlS 22 = oMol N N Blax 5000 |HIXEEA2
46| 20210113 | KIGAIE =323 JH el N N | x* 10,000 HIXEZ=RZ
47| 20210113 | XICiAIE EA2E oMol N CI 10,000 |HIXIEEAZ
481 20210113 | KIGAtE =322 JH el N Llwex 10,000 HXNESAZ
49| 20210115 | XISiAlE EA2E oMol N 0] % 10,000 |HIXIEEAZ
50| 20210115 | K€ At E333 JHel N Llwex 10,000 HXEZ2Z
51120210115 | KIS AIS] 323 JH el N & *x 10,000 HXE=Z
52| 20210115 | KICiAtS| 222 = oMol N Dxx 10,000 |HIXES2
53| 20210117 | KIS AIS] 323 el N O #* 10,000 HIXE=&
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No.| oigy sAza58 sAxPE E%‘mxgl% j'%ifi“ S2%} LH = EZEEY

541 20210117 | KIS AIS] 323 Hel N O #* 10,000 HXE=AZ2

55| 20210117 | KICiAtS| 222 = oMol N 0] % 10,000 |HIXIEE=2

56| 20210117 | KIS AlS S22 Hel N SHx 10,000 HXNESRZ

57| 20210117 | KICiAtE 22 = oMol N Fwx 10,000 |HIXES=22

581 20210118 | KIZAIS] =323 Hel N DHx 10,000 XSRS

59| 20210118 | KICiAlE| 22 = oMol N Fxx 10,000 |HIXIEE=Z

60| 20210118 | KIZAIS] EJA2S Hel N Of** 10,000 HAEZAZ

61120210118 | AISAIS S22 JH el N ELE 20,000 HXE=JZ2

62| 20210118 | KIS AIS] SJA2S Hel N N Frx 10,000 HXNEZEAZ 248CMS
63| 20210118 | KIS AIS] EJA2Z Hel N O #* 10,000 HXEZ2Z S48CMS
64| 20210119 | KISAIE| ERA2E| QI2HEH N N Blax 10,000 |HIXIEEZ

65| 20210119 | KIS AIS] EJA23 JHel N L *x 10,000 HIXEZ=RZ

66| 20210119 | KICiAIE| EA2E oMol N N CLI 5000 |HIXEEA2

67| 20210120 | KIS AIS] ]33 JHel N N L *x 10,000 HXNESAZ

68| 20210120 | KISAIS| ERA2E| QI2HEH N N Sk 1,200 |HIXES2Z

69| 20210120 | KIZAlS EA32 Hel N N L *x 10,000 HXEZ2Z

70| 20210121 | KIS AIS] =323 JH el N L rx 10,000 HXE=Z

71| 20210121 | KIGiAtS 222 oMol N Rl % 10,000 |HIXIEEZ

721 20210121 | KIS AIS] =323 el N N | xx 10,000 HIXE=&
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No.| oigy sAza58 sAxPE E%‘mxgl% j'%ifi“ S2%} LH = EZEEY
731 20210121 | KIS AIS] =323 Jpel N Lk 20,000 HXE=AZ2
74| 20210121 |KISiAtS 222 = oMol N N e 10,000 |HIXES2
75120210121 | XIZAIS S22 Hel N Aoxk 20,000 HXNESRZ
76| 20210122 | XISiAlE SR2E oMol N N 0] % 10,000 |HIXIEEZ
77120210122 | KIS AIS] 323 Hel N xx 10,000 XSRS
78| 20210122 | XISiAtE ER2E oMol N N 2wk 30,000 |HINEZEAZ
791 20210125 | KL A =323 Hel N N Ol ** 10,000 HAEZAZ
80| 20210125 | KIZAIE )23 JH el N N Qb xx 10,000 HXE=JZ2
81 20210125 | KIZAIS S22 JH el N Olxx 10,000 HXNEZEAZ
82| 20210125 | KIGAIE =333 JH el N N Thxx 10,000 HXEZ2Z
83| 20210125 | XICiAlE 22 = oMol N N Ok 20,000 |HINEEAZ
841 20210125 | KIGAIE =323 JH el N N xx 10,000 HIXEZ=RZ
85| 20210125 | XI2iAlE| EA2E el N 0] % 10,000 |HIXIEEAZ
86| 20210125 | XKIGAtE =332 JH el N L *x 10,000 HXNESAZ
87| 20210125 | XI2iAlE| 22 = oMol N P 10,000 |HIXES=2
88| 20210125 | XIGAtel =325 JHel N N Elg 10,000 HXEZ2Z
89 20210125 | KIFAIE )23 Hel N N O #* 10,000 HXE=Z
90| 20210125 | KICiAtS| 222 = oMol N . 20,000 | XEE22
911 20210125 | KIZAIS] =323 el N L rx 10,000 HXE=AZ2
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No.| oigy sAza58 sAxPE E%‘mxgl% j'%ifi“ S2%} LH = EZEEY
92| 20210125 | KIZAIS] =323 el N N Frk 10,000 HXE=AZ2
93| 20210125 | KICiAtE 222 = oMol N CI 10,000 |HIXIEE=2
94 | 20210125 | K€ AlS 323 Hel N SHx 20,000 HXNESRZ
95| 20210125 | KICiAtE| 22 = oMol N Of x 20,000 |HIXEEAZ
96| 20210125 | KIZAIS] =323 Hel N N Hxx 10,000 XSRS
97| 20210125 | XI2iAlE| 22 = oMol N = 30,000 |HIXNEEAZ
98| 20210125 | KIL A =323 Hel N N 2k 30,000 HAEZAZ
99| 20210125 | KIZAIS] =323 JH el N N 1 *x 20,000 HXE=JZ2
100| 20210125 | XIGAtE =322 JH el N L *x 30,000 HXNEZEAZ
101] 20210125 | KIZAIS] 323 JH el N Tk 30,000 HXEZ2Z
102| 20210125 | X AS] EA2RE oMol N N 2wk 10,000 |HIXES2
103] 20210125 | KIZAIS] 323 Hel N N O #* 20,000 HIXEZ=RZ
104] 20210125 | X AIE| EARE oMol N Pk 50,000 |HIXEEAZ
105| 20210125 | XAIGAtE =322 JH el N L *x 10,000 HXNESAZ
106] 20210125 | X AlS| EARE oMol N £ x 10,000 |HIXIEEAZ
107 20210125 | XIGAtel =223 JHel N Of** 10,000 HXEZ2Z
108| 20210126 | KIZAIS] EJ32Z Hel N O #* 10,000 HXE=Z
109| 20210126 | XAIGAtE =323 Hel N N Tr* 30,000 HXNEZ=EAS
110] 20210126 | KIZAIS] EJ2Z el N N Trk 10,000 HIXE=&
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
111] 20210126 | KIS AIS] EJA2Z Hel N PHx 20,000 NE=3=3

112] 20210126 | X AS| EA2E oMol N N 2wk 70,000 |HIXNBEAZ

113 20210126 | X% AIEl A= oMol N Sxx 10,000 |HIXEE2

114] 20210126 | X A5l EA2RE oMol N M xx 10,000 |HIXIEEZ

115] 20210126 | KIZAIS] /23 Hel N SHx 10,000 XSRS

116] 20210127 | X AE| EARE oMol N Flwx 10,000 |HIXES22 54CMS
117] 20210127 | XIS AlS ERA2E oMol N Rxx 10,000 |HIXES2 S4CMS
118] 20210127 | XISl EARE ool N 2wk 10,000 |HIXIEEAZ 54CMS
119] 20210127 | X AlS| EA2E el N o wx 20,000 |HIXEEZ S4CMS
120] 20210127 | KIS AIS] 323 JHel N L *x 10,000 HXEZ2Z S4CMS
121 20210127 | XIKAIS| SRA2E | QI2FCHY| N N (e 100,000 | HIXIHE22 S4CMS
122| 20210127 | KIS AIS] EJA23 JHel N U wx 10,000 HIXEZ=RZ S48CMS
123] 20210127 | X AIE| EARE oMol N 2wk 10,000 | XZ=22 54CMS
124 20210127 | XAl E2A2E oMol N 2k 10,000 |HIXIEE2 S4CMS
125| 20210127 | X AIS| EARE oMol N Lbxs 10,000 |HIXIEEAZ 54CMS
126] 20210127 | X AIEl ERA2E oMol N = 10,000 |HIXIEE22 S4CMS
127] 20210127 | KIS AIS] 323 JH el N Shxx 10,000 HXE=Z S48CMS
128] 20210127 | X AlS| ERA2E oMol N Fwx 10,000 |HIXES2 E4CMS
129| 20210127 | KIS AIS] =323 el N Shxx 10,000 HXE=AZ2 S48CMS
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
130] 20210127 | KIS AIS] EJ23 Hel N Sl 10,000 HXE=AZ2 S48CMS
131] 20210127 | X AS| ERA2E oMol N N 0l %+ 20,000 |HIXEEAZ

132] 20210127 | X AIEl A= oMol N 0l #* 10,000 |HIXEE2

133] 20210127 | X AlS| EARE oMol N N Blxx 20,000 |HIXEEAZ

134 20210127 | KIS AIS] ]33 Hel N O #* 10,000 XSRS

135 20210127 | XIHAIS| ERA2Z | QI2+CHY| N Y (e 100,000 | XNHEA2 54CMS
136] 20210127 | XIS AlS| ERA2E pIxel N 2wk 5,000 NEEELE S4CMS
137] 20210127 | XISl EA2E ool N N O xx 10,000 |HIXIEEAZ 54CMS
138] 20210127 | X AlS EA2E oMol N N CIT 10,000 |HIXIEE22 S4CMS
139 20210127 | KIZAIS] 323 JH el N N L 10,000 HXEZ2Z S4CMS
140| 20210127 | XIS EA2RE oMol N N M xx 10,000 |HIXIEEZ S4CMS
141] 20210127 | KIS AIS] 323 JH el N N L rx 20,000 HIXEZ=RZ S48CMS
142] 20210127 | XIS EARE oMol N N Hwx 30,000 |HIXEEAZ 54CMS
143| 20210127 | XAl E2A2E oMol N N T xx 20,000 |HIXEEAZ S4CMS
144] 20210127 | XIS EARE oMol N N 2wk 10,000 |HIXES=2 54CMS
145| 20210127 | X AIEl ERA2E oMol N N 2xx 10,000 |HIXIEE22 S4CMS
146| 20210127 | KIS AIS] 323 JH el N N L rx 10,000 HXE=Z S48CMS
147| 20210127 | XIS E/A2E oMol N N Blax 10,000 |HIXIEEZ E4CMS
148| 20210127 | NIZAIS] EJ32F el N N owx 50,000 HXE=AZ2 S48CMS
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No.| oigy sAza58 sAxPE E%‘mxgl% j'%ifi“ S2%} LH = EZEEY

149]| 20210127 | KIS AIS] EJ3A2Z Hel N N A *x 10,000 HXE=AZ2

150| 20210127 | XIGAtE =323 Hel N N Ela 10,000 HXNEZEAS

151] 20210127 | XIGAIE =323 Hel N N Frk 10,000 HXNESRZ

152| 20210127 | XISl EARE oMol N N 0] % 10,000 |HIXIEEZ =
153]| 20210127 | KIS AIS] 323 JH el N N Alxx 10,000 XSRS =2
154] 20210127 | X AIS| EARE oMol N N Blax 10,000 |HIXIEE=Z =
155| 20210127 | XIGAtE =333 Hel N L 5,000 NE=3= =2
156| 20210127 | KIGAIS S22 JH el N N Dxx 5,000 HXE=JZ2 k=1
157] 20210127 | XIGAtE =323 JH el N L 20,000 HXNEZEAZ k=3
158| 20210127 | KIZAIS] EJ23 JH el N L 10,000 HXEZ2Z =2
159] 20210127 | X AlS| EA2RE oMol N 2wk 10,000 |HIXES2 =
160] 20210127 | KIS AIS] EJA23 JH el N L rx 10,000 HIXEZ=RZ =2
161] 20210127 | XISl EARE oMol N 2wk 5000 |HIX®EAZ =
162| 20210127 | XIGAIE S22 JH el N Of** 20,000 HXNESAZ =
163| 20210127 | XIS Ate =23 JHel N Bl 10,000 NE=ES =
164| 20210127 | XIGAte =223 JHel N Bl x* 10,000 NE=3= k=3
165 20210127 | KIS AIS] EJ23 Hel N I kx 10,000 NE=3=3 k=1
166| 20210127 | XIGAtg =323 Hel N Of** 10,000 ANE=AS k=3
167] 20210127 | KIS AIS] E/2F el N O #* 10,000 HXE=AZ2 =
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No.| olgg SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR e =X

168| 20210127 | XIS AIS S22 Hel N N Sl 10,000
169] 20210127 | XIS 222 E el N N =1 5,000
170 20210127 | XIGAtS =223 Hel N N Thwx 5,000
171] 20210127 | X AIE 222 E el N N OF x 10,000
172( 20210127 | XIS AIS S323 Hel N N F|xx 10,000
173] 20210127 | X AIE 222 = el N Bl 10,000
174 20210128 | XIKAIE] SRAZE |  DIFEH N N Tax SgmQe2 | 200,000
175| 20210128 | X AIE 222 E el N CI 5,000
176] 20210129 | X AlE 222 = oMol N 0l %+ 5,000
1771 20210129 | XIS AIS S22 Hel N L *x 10,000
178] 20210129 | X AIE 222 = el N Blax 20,000
179] 20210129 | XIS AIS =323 Hel N ENE 10,000
180[ 20210201 | X AIE| 222 E el N Qxx 10,000
181] 20210201 | X% AIEl ERA2E oMol N 0l %+ 10,000
182] 20210201 | X AIE 222 = JHel N e 10,000
183[ 20210201 | X AlE| &2 E JHel N N 2xx 20,000
184| 20210201 | KIS AIS S22 Hel N O #* 10,000
185| 20210201 | X AlE 222 E el N N Pk 20,000
186| 20210201 | XIS AIS S22 el N L *x 20,000

Ctsol & 10/127




No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
187] 20210201 | KIS AIS] EJ2Z Hel N Sxx 20,000 HXE=AZ2

188] 20210201 | X AlS| ERA2E oMol N Hxx 10,000 |HIXES2

189] 20210201 | X AIEl A= oMol N N 0l #* 5000 |HIXNEEAZ

190| 20210201 | X AlSl EARE oMol N N Tk 10,000 |HIXIEEZ 54CMS
191] 20210201 | KIS AIS] ]33 JH el N N L 20,000 XSRS S48CMS
192] 20210201 | X AIS| ERARE oMol N N Fwx 30,000 | XNZ=2 54CMS
193] 20210201 | XIS ERA2E oMol N N Rxx 10,000 |HIXES2 S4CMS
194] 20210201 | XISl EARE ool N CI 100,000 |HIXIHE2A2 54CMS
195| 20210203 | XIS AlS| EA2E oMol N Sxx 50,000 |HIXEEZ

196| 20210203 | KIZAIS] 323 Hel N N Elg 10,000 HXEZ2Z S4CMS
197| 20210203 | X AlS| EA2RE oMol N N 0] % 30,000 |HIXEEAZ S4CMS
198| 20210203 | KIZAIS] EJA2Z Hel N Txx 10,000 HIXEZ=RZ S48CMS
199] 20210205 | X AlE| EARE oMol N Dk 10,000 |HIXE=22

200| 20210205 | XIZAIE| SR2 = oMol N 2k 5000 |HIXEEA2

201| 20210205 | XISiAlE| EA2E= oMol N N = 5000 |HIXEEA2

202| 20210208 | XISiAIE| EA2E oMol N N 2xx 5000 |HIXEEA2

203]| 20210208 | KIZAIS] =323 Hel N N O #* 10,000 HXE=Z

204| 20210208 | XICiAlE 222 = oMol N Lxx 10,000 |HIXIEEZ

205| 20210208 | KIZAIS] =323 el N N Exx 20,000 HXE=AZ2
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = ox

206| 20210208 | KIZAIS] =323 Hel N A *x 10,000 HIXI &

207| 20210208 | XI2iAlE| 222 = oMol N M xx 10,000 | HIXIH

208| 20210208 | XISiAIE| E2A2E oMol N | xx 50,000 | HIXIES

209| 20210208 | XISiAIE S22 = oMol N N Sxx 5,000 |HIXIE =
210] 20210208 | KIZAlIS] =323 Hel N N Sl 20,000 HIXI & =2
211| 20210208 | XICiAlE| E2A2= oMol N N 2wk 50,000 | HIXIE =
212| 20210208 | XICiAIE| 22 = oMol N N 0l % 10,000 | HIXIH =
213| 20210208 | XISiAIE 22 = ool N N Sxx 5,000 | HIXI= =
214| 20210208 | XICiAIE 222 = oMol N N £ xx 10,000 | HIXIH =
215] 20210208 | KIZAIS] S22 Hel N N Elg 10,000 HIXI & =2
216| 20210208 | XI2iAIE| EA2= oMol N e 10,000 | HIXIH =
217] 20210208 | KIZAIS] =323 JH el N Trk 10,000 HIXI & =2
218| 20210208 | XISiAIE| EA2E oMol N N £ x 30,000 | X®= =
219] 20210208 |XIZAIE| SR2=E oMol N e 30,000 | X=E=E =
220| 20210208 | NI Ale] 2323 JHel N N I Hx 10,000 | PNES] k=1
221| 20210208 | XI2iAIE| EA2E oMol N N OF x 40,000 | HIXIH =)
222| 20210209 | KIZAIS] 323 Hel N O #* 10,000 HIXI &

223| 20210209 | NIZGAIS 23 Hel N Nt 10,000 W{PNES]

224 20210209 | KIZAIS =323 el N Ol 10,000 HIXI &
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
225| 20210210 | KIZAIS] =323 Hel N N O #* 10,000 HXE=AZ2

206| 20210210 | XICiAIE| ER2= oMol N Of # 10,000 |HIXIEE=2

227| 20210210 | XISiAIE| EA2E oMol N 0l #* 10,000 |HIXEE2

208| 20210215 | XICiAlS| E2A2E oMol N T xx 10,000 |HIXES=22 54CMS
229| 20210215 | KIZAIS] 323 Hel N O #* 10,000 XSRS S48CMS
230| 20210215 | XICiAlE| ERA2= oMol N D 10,000 |HIXIEE=Z

231| 20210215 | XICiAlS| 22 = oMol N Ol xx 30,000 |HINEEAZ

232| 20210215 | XISiAlE| EA2E ool N N CI 5000 |HIXNESAZ 54CMS
233| 20210215 | XI2iAlS 222 = oMol N Lxx 20,000 |HIXEEZ

234 20210215 | KIZAIS] 323 Hel N el 10,000 HXEZ2Z

235| 20210215 | XICiAIE| ERA2= oMol N Flwx 10,000 |HIXES2

236| 20210215 | KIZAIS] =323 Hel N Sl 10,000 HIXEZ=RZ

237| 20210217 | XICiAlE| EA2E el N 0] % 10,000 |HIXIEEAZ

238[ 20210217 | X2 AIE SR2=E oMol N N | xx 10,000 |HIXIEE2 S4CMS
239| 20210217 | XICiAlE| EA2E oMol N N S 10,000 |HIXIEEAZ 54CMS
240| 20210217 | XI2iAIE| EA2E oMol N Flxx 10,000 |HIXIEE22 S4CMS
2411 20210217 | KIS AIS] 323 Hel N O #* 10,000 HXE=Z

242| 20210217 | XICiAlE 222 = oMol N CT 20,000 |HIXNEEAZ

243 20210217 | KIS AIS] 323 el N Frx 10,000 HXE=AZ2
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244 20210219 | KIS AIS] 323 Hel N PHx 10,000 HXE=AZ2

245| 20210219 | XICiAlS 22 = oMol N N CII 5000 |HIXEEA2

246( 20210220 | NS AIS =323 pjigel N L 20,000 HXNESRZ

247| 20210221 | KIHAIE| ERA2E | QI2HCH| N N CI 10,000 |HIXIEEZ

248| 20210221 | KIZAIS] 323 JHel N L *x 10,000 XSRS

249| 20210222 | XICiAIE| ERA2E oMol N N 2wk 10,000 |HIXES22

250| 20210222 | KIZGAIS 23 Hel N N e 10,000 HAEZAZ

251] 20210222 | KIZAIS 323 JH el N N ES LR 10,000 HXE=JZ2

252| 20210222 | KIZGAIS 323 JH el N RH % 10,000 HXNEZEAZ

253| 20210222 | KIZAIS] 323 JH el N N L 30,000 HXEZ2Z

254| 20210222 | XICiAIE| ERA2E oMol N N 2wk 10,000 |HIXES2

255 20210222 | KIZAIS =323 Hel N I *x 10,000 HIXEZ=RZ

256| 20210222 | KICiAIS| EA2E oMol N N 0] % 10,000 |HIXIEEAZ

257] 20210224 | XIZAIS] 323 JH el N N Ol ** 10,000 HXNESAZ 2 8CMS
258| 20210224 | XICiAIE| EA2E oMol N [ 10,000 |HIXIEEAZ E4CMS
259( 20210225 | A€ At S333 JHel N Tk 30,000 HXEZ2Z

260| 20210225 | KIZAIS] 323 Hel N Sxx 10,000 HXE=Z

261| 20210225 | XICiAlS 22 = oMol N 0] % 10,000 |HIXIEEZ

262| 20210225 | KIZAIS] 323 el N O #* 10,000 HIXE=&
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No.| oigy sAza58 sAxPE E%‘mxgl% j'%ifi“ S2%} LH = EZEEY
263| 20210225 | KIZAIS 323 Hel N O #* 10,000 HXE=AZ2
264| 20210225 | XICiAlS 22 = oMol N | xx 10,000 |HIXIEE=2
265( 20210225 | A€ AS S323 Hel N SHx 10,000 HXNESRZ
266| 20210225 | XICiAIS| EA2E oMol N N Dk 30,000 |HIXEEAZ
267| 20210225 | KIZAIS 323 JH el N N Hxx 20,000 XSRS
268| 20210225 | XICiAlS EA2E oMol N N 2wk 10,000 |HIXES22
269| 20210225 | KIZAIS S22 Hel N SHx 20,000 HAEZAZ
270( 20210225 | KIS AIS =323 JH el N N 1 *x 20,000 HXE=JZ2
2711 20210225 | K€ AlS S22 JH el N N Howx 10,000 HXNEZEAZ
272] 20210225 | KIZAIS 323 JH el N L 30,000 HXEZ2Z
273| 20210225 | XI2iAlE| 22 = oMol N Fex 10,000 |HIXIEEZ
274 20210225 | KIZAIS 323 Hel N N O #* 20,000 HIXEZ=RZ
275| 20210225 | XICiAlE| EA2E oMol N Of * 20,000 |HIXEEAZ
276| 20210225 | KIZAIS] =323 JH el N owex 10,000 HXNESAZ
277| 20210225 | XISiAlE| EA2E oMol N N Fxx 10,000 |HIXIEEAZ
278| 20210225 | A€ Al S333 JHel N N o 10,000 HXEZ2Z
279 20210225 | KIZAIS] 323 JH el N L rx 10,000 HXE=Z
280| 20210225 | XICiAlS 222 = oMol N 0] % 10,000 |HIXIEEZ
281] 20210225 | KIZAIS] =323 el N N O #* 10,000 HIXE=&
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
301] 20210226 | KIZAIS] 323 Jpel N Tk 10,000 HXE=AZ2

302| 20210226 | XICiAlE 222 = oMol N 0l %+ 20,000 |HIXEEAZ

303| 20210226 | XISiAlE| E2A2E oMol N 0l #* 20,000 |HINEEAZ

304| 20210226 | XICiAlE 22 = oMol N M xx 10,000 |HIXIEEZ

305| 20210226 | KIZAIS] 323 JH el N N L 70,000 XSRS

306| 20210302 | XICiAlE| EA2= oMol N Blax 10,000 |HIXIEE=Z 54CMS
307| 20210302 | XICiAtE 222 = oMol N N 2wk 5000 |HIXNEEAZ S4CMS
308| 20210302 | XICiAlE| 22 = ool N N Thex 5000 |HIXNESAZ 54CMS
309| 20210302 | XICiAtE E22= oMol N N OF 4 10,000 | XNE=2A2 S4CMS
310] 20210302 | KIZAIS] =323 Hel N N E|xx 10,000 HXEZ2Z S4CMS
311| 20210302 | XICiAlE 22 = oMol N Qo 10,000 |HIXIEEZ

312| 20210302 | KIZAIS] =323 Hel N ER 10,000 HIXEZ=RZ S48CMS
313| 20210302 | XICiAlE| S22 = oMol N N CI 10,000 |HIXIEEAZ 54CMS
314| 20210302 | X2 AlE| SR2=E oMol N 0l % 10,000 |HIXIEE2 S4CMS
315| 20210302 | XISiAlE| EA2E= oMol N 0] % 10,000 |HIXIEEAZ

316| 20210302 | XISiAIE 22 = oMol N 2xx 10,000 |HIXIEE22

317] 20210302 | KIZAIS] 323 JH el N N L rx 20,000 HXE=Z

318| 20210302 | XICiAlS E22= oMol N L wx 20,000 |HIXNEEAZ

319 20210302 | KIZAIS] =323 el N O #* 10,000 HXE=AZ2
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
320| 20210302 | KIZAIS] =323 Jpel N &l w* 10,000 HXE=AZ2

321| 20210302 | XICiAtE ER2= oMol N N Dxx 5000 |HIXEEAZ E4CMS
322| 20210302 | XISiAlE E2A2E oMol N Tk 5,000 NEELE S4CMS
323| 20210302 | XICiAlE 22 = oMol N N CI 10,000 |HIXIEEZ 54CMS
324 20210302 | KIZAIS] =323 JH el N N Alxx 10,000 XSRS S48CMS
325| 20210302 | KICiAlE| EA2= oMol N N 0] % 10,000 |HIXIEE=Z 54CMS
326| 20210302 | XICiAtE 22 = oMol N N CI 10,000 |HIXI=EEZ S4CMS
327| 20210302 | XISiAlE 22 = pIRel N | x 10,000 |HIX=EE2

328| 20210302 | XICiAlS 222 = oMol N N M wx 10,000 |HIXIEE22 S4CMS
329| 20210302 | KIZAIS] =323 Hel N N r* 10,000 HXEZ2Z S4CMS
330| 20210302 | XICiAlE| 22 = oMol N N Hax 50,000 |HIXIEEAZ S4CMS
331] 20210302 | KIZAIS] =323 Hel N N Elg 10,000 HIXEZ=RZ S48CMS
332| 20210302 | XISiAlE| EA2E oMol N N 2wk 10,000 |HIXE=22 54CMS
333[ 20210302 | X2 AIE| SR2=E oMol N N 2k 10,000 |HIXIEE2 S4CMS
334| 20210302 | KICiAlE EA2E= oMol N N 2wk 10,000 |HIXES=2 54CMS
335| 20210302 | XISiAlE| EA2E oMol N N T xx 20,000 |HIXEEAZ S4CMS
336| 20210302 | KIZAIS] EJ32Z Hel N N Hxx 30,000 HXE=Z S48CMS
337| 20210302 | XICiAlE 222 = oMol N N 2wk 20,000 |HINEEAZ E4CMS
338| 20210302 | KIZAIS] =323 el N N A *x 10,000 HXE=AZ2 S48CMS
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
339| 20210302 | KIZAIS] 323 Jpel N N L rx 10,000 HXE=AZ2 S48CMS
340| 20210302 | XICiAtE 222 = oMol N 2wk 10,000 |HIXES2

341| 20210302 | XISiAlE| E2A2E oMol N 0l #* 10,000 | X==22

342| 20210302 | XICiAlE 22 = oMol N N CII 10,000 |HIXIEEZ 54CMS
343]| 20210302 | KIZAIS] 323 JH el N N Hwex 10,000 XSRS S48CMS
344| 20210302 | XICiAIE EA2= oMol N N Blxx 20,000 |HINEEAZ

345| 20210302 | XICiAlE 22 = oMol N N 0l %+ 20,000 |HIXNEEZ

346| 20210302 | XISiAlE 22 = ool N 2wk 10,000 |HIXIEEAZ 54CMS
347| 20210302 | XICiAtE 222 = oMol N 2k 10,000 |HIXIEE22 S4CMS
348| 20210302 | KIZAIS] 323 JH el N L 10,000 HXEZ2Z S4CMS
349| 20210302 | XICiAtE 22 = pIxel N 2wk 20,000 |HINEEAZ S4CMS
350]| 20210302 | KIZAIS] =323 Hel N L rx 5,000 NE=3= S48CMS
351| 20210302 | KIHAIE| E2A2E | QI2HCH| N Y (e 100,000 | HIXIHE22 54CMS
352| 20210302 | X2 AIE| SR2 = ool N 2k 10,000 | XF=22 S4CMS
353| 20210302 | XISiAlE| 22 = oMol N Ol xx 10,000 |HIXES=2 54CMS
354| 20210302 | KISHAIE| ZERA2E |  QI2HCHY| N N (e 100,000 | HIXIHE22 S4CMS
355| 20210302 | KIZAIS] 323 JH el N L rx 10,000 HXE=Z S48CMS
356| 20210302 | XICiAlS 222 = pILel N e 20,000 |HINEEAZ E4CMS
357 20210302 | KIZAIS] 323 el N L rx 10,000 HXE=AZ2 S48CMS
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = iy b=

358| 20210302 | KIZAIS] 323 Jpel N &l w* 10,000 HXE=AZ2

359| 20210302 | XICiAlE ER2= oMol N 2wk 10,000 | HIXIH

360| 20210302 | XISiAlE| E2A2E oMol N Lbxs 10,000 |HIXIEES

361| 20210302 | XICiAlE S22 = oMol N Lxx 10,000 | HIXIH =
362| 20210302 | KIZAIS] 323 JH el N Shrx 10,000 HIXI & =2
363| 20210302 | XICiAlE EA2E= oMol N Fwx 10,000 | HIXIH =
364| 20210302 | XICiAlE 222 = oMol N Shix 10,000 | HIXIH =
365| 20210302 | XISiAlE 22 = ool N 2wk 5,000 | HIXIE =
366| 20210302 | XICiAlS 222 = oMol N 0l %+ 20,000 | HIXIE =
367| 20210302 | KIZAIS] S22 JH el N L 10,000 HIXI & =2
368| 20210302 | XICiAlE 22 = oMol N Blax 10,000 | X== =
369| 20210302 | KIZAIS] =323 Hel N Sl 10,000 NE= =2
370| 20210302 | XISiAlE| EA2E el N Fwk 10,000 | K== =
371| 20210302 | X2 AlE| SR2=E oMol N 0l % 10,000 | xIE=Z =
372| 20210302 | XISiAlE| 22 = oMol N N 2wk 20,000 |HIXEZEAZ =
373| 20210302 | XISiAIE| EA2E oMol N N T xx 30,000 | HIXIE =
374 20210302 | KIZAIS] 323 JH el N N Trk 10,000 HI X &= k=1
375| 20210302 | XICiAlE 222 = oMol N Blax 5,000 |HIXIZE =
376| 20210302 | KIZAIS] =323 el N Sl 100,000 HIXI & (=]
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
377] 20210302 | KIZAIS] EJ323 Hel N N O #* 5,000 HXE=AZ2

378| 20210302 | XICiAlE| 222 = oMol N 0] % 10,000 |HIXIEE=2

379| 20210303 | XISiAlE| E2A2E oMol N Fwx 50,000 | HINZERAZ

380| 20210304 | XICiAIE| EA2= oMol N = 10,000 |HIXIEEZ 54CMS
381] 20210304 | KIZAlIS] =323 Hel N e 20,000 XSRS S48CMS
382| 20210304 | XICiAlE EA2= oMol N 0] % 5,000 NEsaA2 54CMS
383| 20210304 | XICiAlE 22 = oMol N N Sxx 10,000 |HIXI=EEZ S4CMS
384| 20210304 | XISiAlE| EA2E ool N N CI 10,000 |HIX=EE2 54CMS
385| 20210304 | XICiAIS 222 = oMol N N 0] % 30,000 |HIXEEAZ S4CMS
386| 20210305 | KIZAIS] 323 JH el N Trk 10,000 HXEZ2Z

387| 20210305 | XICiAlE| 22 = oMol N Blax 10,000 |HIXIEEZ

388| 20210305 | KIZAIS] =323 Hel N N Brx 5,000 HIXEZ=RZ

389| 20210305 | KICiAlE| S22 = oMol N 2wk 5000 |HIX®EAZ

390| 20210308 |XIZAIE| SRI2= oMol N N 2k 5000 |HIXEEA2

391| 20210308 | XICiAlE| 22 = oMol N M xx 10,000 |HIXIEEAZ 54CMS
392| 20210308 | XI2iAIE| EA2E oMol N M 10,000 |HIXIEE22 S4CMS
393| 20210308 | KIZAIS] EJA2Z Hel N BN 50,000 HXE=Z S48CMS
394| 20210308 | XICiAlE E22= oMol N e 10,000 |HIXES2 E4CMS
395| 20210308 | KIZAIS] 323 el N Trk 10,000 HXE=AZ2 S48CMS
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396| 20210308 | KIZAIS] 323 Hel N I kx 30,000 NE=3=3 S48CMS
397| 20210308 | XICiAlE E22= oMol N N e 10,000 |HIXES2 E4CMS
398| 20210308 | XISiAlE| E2A2E oMol N N OFx 40,000 |HINEERAZ S4CMS
399| 20210308 | XICiAlE| 22 = oMol N N CI 10,000 |HIXIEEZ 54CMS
400| 20210308 | AIGAtE =322 JH el N Tk 10,000 XSRS S48CMS
401| 20210308 | XIS AlE| EARE oMol N N L xx 20,000 |HIXEEAZ

402| 20210308 | XIS ISl ERA2E oMol N =S 10,000 |HIXI=EEZ

403| 20210308 | XIZAlE| EARE ool N N 3P 30,000 | XEE2 54CMS
404| 20210308 | XIS AlS| ERA2E oMol N N Fxx 5000 |HIXEEA2 S4CMS
405| 20210308 | XIGALE =323 Hel N N Elg 20,000 HXEZ2Z S4CMS
408| 20210308 | XIS AlS| EARE oMol N N 2wk 50,000 |HINZEAZ S4CMS
407] 20210308 | AIGALE =22 Hel N N O #* 10,000 HIXEZ=RZ S48CMS
408| 20210308 | XIS ISl EARE oMol N N Fxx 5000 |HIXEEA2 54CMS
409| 20210308 | XIZAlE| 22 = oMol N N | xx 10,000 |HIXIEE2 S4CMS
410[ 20210309 | XIZAlE| EARE oMol N Ok 10,000 |HIXES=2

411] 20210309 | X2 AIEl E2RA2E oMol N e 10,000 |HIXEE2

412] 20210309 | KIEAIE 223 Hel N O #* 10,000 HXE=Z

413[ 20210310 | XIS AlE| EA2E oMol N Of # 10,000 |HIXIEEZ

414 20210310 | KIEAIE 223 el N N O #* 10,000 HXE=AZ2
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415] 20210310 | KIGEAIE =23 Hel N O #* 10,000 HXE=AZ2

416| 20210311 | XIS AIE EA2E oMol N CI 10,000 |HIXIEE=2

417] 20210311 | XIZAIEl EA2E oMol N = 20,000 |HINEEAZ

418[ 20210312 | XIS IS EARE oMol N Ol xx 30,000 |HINEEAZ

419| 20210312 | AIGALE =322 JH el N & *x 10,000 XSRS S48CMS
420| 20210312 | XIS AlE| EARE oMol N N Blax 5000 |HIXEEA2 54CMS
421| 20210315 | XIS AlS| EA2E oMol N Elwx 10,000 |HIXES2 S4CMS
422] 20210315 | X2 AIE| EARE pIRel N Dw 10,000 |HIX=EE2

423| 20210315 | XIS AlS| EA2E oMol N CI 10,000 |HIXIEE22

424 20210315 | XAIGALE =23 JH el N Tlxx 10,000 HXEZ2Z

425| 20210317 | XIS LS| EARE oMol N Sxx 10,000 |HIXIEEZ

426| 20210317 | XIGEAIE 223 Hel N Sl 20,000 HIXEZ=RZ

427| 20210317 | XIS AIE| EARE el N 0] % 10,000 |HIXIEEAZ

428] 20210317 | X AE] 22 = oMol N 2k 10,000 |HIXIEE2 S4CMS
429| 20210317 | XIS AIE| EARE oMol N Qo 10,000 |HIXIEEAZ 54CMS
430[ 20210317 | X2 AIEl E2A2E oMol N N | xx 10,000 |HIXIEE22 S4CMS
431] 20210317 | KIGEAIE 223 Hel N N Sk 10,000 HXE=Z S48CMS
432| 20210319 | XIS AlE| ERA2E oMol N N CII 5000 |HIXEEA2

433| 20210321 | XAIEAIE =23 el N L rx 20,000 HXE=AZ2
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434 20210322 | AIGEAIE =23 Hel N I kx 10,000 HXE=AZ2

435| 20210322 | XIS LS| ERA2E oMol N Rl #x 10,000 |HIXIEE=2

436| 20210322 | X2 AIE| EZRARE Mol N 2k 10,000 |HIXEE2

437| 20210322 | XISAIEl SRAZE | DI2tCHY N N CI 10,000 |HIXIEEZ

438| 20210322 | XAIGALE =322 JHel N N L 10,000 XSRS

439] 20210322 | XIS AlE| EARE oMol N N | xx 10,000 |HIXES22

440| 20210322 | XIS ALE| ERA2E oMol N N o wx 10,000 |HIXES2

441| 20210322 | X2 AIE| ERARE ool N N 0] %+ 10,000 |HIX=EE2

442| 20210322 | XIS ALE| ERA2E oMol N N 2k 30,000 |HIXEEAZ

443| 20210322 | XIGAIE =323 JH el N N L 10,000 HXEZ2Z

444) 20210322 | XIS LS| EARE oMol N 0] % 10,000 |HIXIEEZ S4CMS
445 20210324 | XIGAIE 223 Hel N N Ol *x 10,000 HIXEZ=RZ S48CMS
448| 20210324 | XIS LS| EARE oMol N CI 5000 |HIXEEA2 54CMS
447| 20210324 | XIS NG| 22 = oMol N [ 10,000 |HIXEE2 S4CMS
448) 20210325 | XIS ISl EARE oMol N 0] % 10,000 |HIXIEEAZ

449| 20210325 | XIS AIE| EA2E oMol N 2xx 10,000 |HIXIEE22

450| 20210325 | XAIGEALE 223 JH el N N & *x 10,000 HXE=Z

451| 20210325 | XIS ALS| EA2RE oMol N N Of 10,000 |HIXIEEZ

452] 20210325 | KIGEAIE 223 el N Ol** 10,000 HXE=AZ2
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453| 20210325 | XAIGEAIE 223 Hel N N Shxx 10,000 HXE=AZ2
454| 20210325 | XIS ALS| EARE oMol N N Ok 20,000 |HINEEAZ
455| 20210325 | XIGAle =225 Hel N B 10,000 HXNESRZ
456| 20210325 | XIS AlE| EARE oMol N N CI 10,000 |HIXIEEZ
457] 20210325 | XAIGALE =323 Hel N N O #* 10,000 XSRS
458| 20210325 | XIS AlS| EARE oMol N . 20,000 | XE=2
459| 20210325 | XAIGAtE =322 Hel N L 10,000 HAEZAZ
460| 20210325 | XIGAIS =25 JH el N Al 10,000 HXE=JZ2
461] 20210325 | XAIGAtE =322 JH el N Alwx 10,000 HXNEZEAZ
462| 20210325 | XAIGALE =323 JH el N xx 10,000 HXEZ2Z
463| 20210325 | XIS AlE| EARE oMol N Lxx 10,000 |HIXIEEZ
464 20210325 | XAIGAIE 223 Hel N O #* 10,000 HIXEZ=RZ
465| 20210325 | XIS AIE| EARE oMol N = 30,000 |HIXEEAZ
466| 20210325 | XAIGAtE =322 JH el N N 2Zhxx 30,000 HXNESAZ
467| 20210325 | XIS AlE| EARE oMol N = 20,000 |HIXEEAZ
468| 20210325 | XIGAtel =R25 JHel N N A 20,000 HXEZ2Z
469| 20210325 | XAIGEAIE 223 Hel N N Hxx 10,000 HXE=Z
470| 20210325 | XIS AlE| EARE oMol N 2wk 30,000 |HINEEAZ
471] 20210325 | XAIGEAIE 223 el N Tk 30,000 HIXE=&
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472] 20210325 | AIGEALE 223 el N Thox 10,000 HXE=AZ2
473] 20210325 | XIS AlE| EA2E oMol N | xx 10,000 |HIXIEE=2
474| 20210325 | XIGAte =225 Hel N N L 10,000 HXNESRZ
475| 20210325 | XIS ISl ERARE oMol N Fex 10,000 |HIXIEEZ
476| 20210325 | XAIGALE =23 Hel N O #* 10,000 XSRS
477| 20210325 | XIS ISl EARE oMol N ek 900,000 | XE=3
478| 20210325 | XAIGAtE =322 Hel N ESES 10,000 HAEZAZ
479| 20210325 | XIGAIS =25 JH el N Exx 10,000 HXE=JZ2
480| 20210325 | XIGAtE =322 JH el N Of** 10,000 HXNEZEAZ
481] 20210325 | XAIGALE =323 Hel N O #* 10,000 HXEZ2Z
482| 20210325 | XIS AlE| EARE oMol N 2wk 30,000 |HINEEAZ
483| 20210325 | XAIGALE 223 Hel N N Frk 10,000 HIXEZ=RZ
484| 20210325 | XIS AIE| EARE oMol N Of * 20,000 |HIXEEAZ
485| 20210325 | XAIGAtE =322 JH el N Bl x* 10,000 HXNESAZ
486| 20210325 | XIS AlE| EARE oMol N Pxx 30,000 |HIXNEEAZ
487| 20210325 | XIGAtel =225 JHel N N Of** 20,000 HXEZ2Z
488| 20210325 | XAIGEAIE 223 JH el N N Hxx 20,000 HXE=Z
489| 20210326 | XIS AlE| EA2RE oMol N 0l %+ 20,000 |HIXNEEAZ
490| 20210326 | XAIEAIE =23 el N O #* 20,000 HIXE=&
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491] 20210326 | AIGEAIS =223 Hel N O #* 10,000 HXE=AZ2

492| 20210326 | XIS AIE| EA2E oMol N N Dk 30,000 |HINEEAZ

493| 20210326 | X2 AIE| ZARE oMol N N Sxx 10,000 |HIXEE2

494| 20210326 | XIS AlE| EARE oMol N Fxx 10,000 |HIXIEEZ

495| 20210326 | XAIGEALE =322 JH el N N L 70,000 XSRS

496| 20210326 | XIS AlE| EARE oMol N Sxx 10,000 |HIXES22

497| 20210326 | XIS IS EA2E oMol N M 10,000 |HIXI=EEZ

498[ 20210329 | X2 AIE| EARE ool N B 10,000 |HIXIEEAZ 54CMS
499| 20210329 | XIS AlE| ERA2E oMol N = 10,000 |HIXIEE22 S4CMS
500 20210329 | KIZAlIS] 323 Hel N L 10,000 HXEZ2Z S4CMS
501| 20210329 | XICiAlE 22 = oMol N 2wk 10,000 |HIXES2 S4CMS
502| 20210329 | KIZAIS] 323 JH el N Tlxx 10,000 HIXEZ=RZ S48CMS
503| 20210329 | XICiAlE| EA2E oMol N Sxx 10,000 |HIXE=22 54CMS
504| 20210329 | X2 AlE| SR2= oMol N 2k 10,000 |HIXIEE2 S4CMS
505| 20210329 | XISiAlE| 22 = oMol N T xx 10,000 |HIXES=2 54CMS
506| 20210329 | XISiAlS| 22 = oMol N Shix 10,000 |HIXIEE22 S4CMS
507]| 20210329 | KIZAIS] 323 Hel N Sl 10,000 HXE=Z S48CMS
508| 20210329 | XICiAlS 222 = oMol N N 0l %+ 20,000 |HIXNEEAZ

509| 20210329 | KIZAIS] EJ32Z el N O #* 10,000 HXE=AZ2
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510] 20210329 | KIZAlIS] 323 Jpel N N Alxx 20,000 HXE=AZ2

511| 20210329 | XICiAlE 222 = oMol N 0] % 10,000 |HIXIEE=2

512| 20210329 | XISiAlE E2A2E oMol N 2k 10,000 |HIXEE2

513| 20210329 | XICiAlE| S22 = oMol N | xx 10,000 |HIXES=22

514 20210329 | XIZAlIS] S22 JHel N Ewx 20,000 XSRS S48CMS
515| 20210329 | XICiAlS S22 = oMol N 2wk 10,000 |HIXES22 54CMS
516| 20210329 | KIHAIE| ZERA2Z | QI2HCH| N N (e 100,000 | HIXIHE22 S4CMS
517| 20210329 | XISiAlE 22 = pIEel N N O xx 10,000 | XZ=22 54CMS
518| 20210329 | XICiAlS 222 = el N N Thwx 5000 |HIXNEEAZ S4CMS
519 20210329 | KIZAlIS] 323 JH el N N L 5,000 HXEZ2Z S4CMS
520| 20210329 | XICiAlE| S22 = oMol N N Dk 5000 |HIXNESAZ S4CMS
521] 20210329 | KIZAlIS] EJ323 JH el N xx 5,000 NE=3= S48CMS
522| 20210329 | XISiAIE| S22 = oMol N N O xx 10,000 |HIXE=22 54CMS
523| 20210329 | X2 AlE| SR2 = oMol N N CIT 10,000 |HIXIEE2 S4CMS
524| 20210329 | XICiAlE| EA2E oMol N N 2wk 10,000 |HIXES=2 54CMS
525| 20210329 | XISiAlE| 222 = oMol N N M 10,000 |HIXIEE22 S4CMS
526| 20210329 | KIZAIS] 323 JH el N N L rx 20,000 HXE=Z S48CMS
527| 20210329 | XICiAtS 22 = oMol N N Hax 30,000 |HIXEEAZ E4CMS
528| 20210329 | KIZAIS] 323 el N N Hxx 20,000 HXE=AZ2 S48CMS
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529| 20210329 | KIZAIS] EJ323 Jpel N N L rx 10,000 HXE=AZ2

530| 20210329 | XICiAlS| ER2= oMol N N 2wk 10,000 |HIXES2

531[ 20210329 | AIZAlS S323 Hel N N L 10,000 HXNESRZ

532| 20210329 | XICiAlE| 22 = oMol N N CI 10,000 |HIXIEEZ =
533]| 20210329 | KIZAlIS] 323 Hel N N Hxx 50,000 XSRS =2
534| 20210329 | XICiAlE S22 = oMol N N Tk 10,000 |HIXIEE=Z =
535| 20210329 | KIZAlS S22 Hel N N Al xx 10,000 HXNEEAZ =2
536| 20210329 | KIS AIS =322 JH el N N Bl 10,000 HXE=JZ2 k=1
537] 20210329 | KIZAlIS] S22 JH el N N Frx 10,000 HXNEZEAZ k=3
538| 20210329 | KIZAIS] 323 Hel N N O #* 10,000 HXEZ2Z =2
539| 20210329 | XICiAlE 22 = oMol N N Blxx 10,000 |HIXES2 =
540]| 20210329 | KIZAIS] 323 Hel N N Elg 10,000 HIXEZ=RZ =2
541] 20210329 | XIZAlS =323 JH el N N E|x* 10,000 HXNEZEAS k=1
542] 20210329 | KIZAIS] S22 JH el N L *x 10,000 HXNESAZ =
543| 20210329 | XICiAlE| EA2E oMol N 2wk 10,000 |HIXES=2 =
544( 20210329 | A€ Al S333 JHel N L *x 5,000 HXEZ2Z k=3
545| 20210329 | KIZAlIS] 323 JH el N L rx 20,000 HXE=Z k=1
546| 20210329 | XICiAlS 222 = oMol N 2wk 5,000 NEEaA2 =
547] 20210329 | KIZAIS] EJ32Z el N O #* 20,000 HXE=AZ2 =
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567| 20210331 | KIZAIS] 323 Hel N Sl 20,000 HXE=AZ2 S48CMS
568| 20210401 | XICiAIS 222 = oMol N N CI 10,000 |HIXIEE=2 E4CMS
569| 20210401 | XISiAIS| 222 = oMol N N 0l #* 30,000 |HINEEAZ S4CMS
570| 20210401 | XICiAlE S22 = oMol N = 10,000 |HIXIEEZ 54CMS
571] 20210401 | KIZAIS] 323 JH el N & *x 10,000 XSRS

572| 20210401 | XICiAIS S22 = oMol N 0] % 10,000 |HIXIEE=Z

573| 20210402 | XICiAIS 222 = oMol N CI 100,000 | HIXIHE22 S4CMS
574| 20210402 | XISiAIS 22 ool N N Sxx 10,000 |HIXIEEAZ 54CMS
575| 20210402 | XICiAIS ER2= oMol N N Fxx 30,000 |HIXEEAZ S4CMS
576| 20210402 | KIZAlIS 323 JH el N N L 20,000 HXEZ2Z S4CMS
577| 20210405 | XICiAlS S22 = oMol N N Lxx 5000 |HIXEEA2

578| 20210405 | KIZAIS] 323 Hel N Sl 10,000 HIXEZ=RZ

579| 20210405 | XISiAIS| S22 oMol N 2wk 5000 |HIX®EAZ

580| 20210405 | XIZAIE| S RI2= oMol N N 0l % 10,000 |HIXIEE2

581| 20210405 | XICiAIS| 22 oMol N Sk 10,000 |HIXES=2

582| 20210405 | XISiAIE| E2A2E oMol N Sxx 50,000 |HIXEEZ

583| 20210406 | KIZAIS] 323 Hel N Sxx 10,000 HXE=Z

584| 20210406 | XICiAIS 222 = oMol N N Sk 137,760 | HIXIZ=22

585| 20210407 | KIZAIS 323 el N N Exx 20,000 HXE=AZ2
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586| 20210407 | KIZAIS] 323 Hel N A *x 10,000 HXE=AZ2

587| 20210407 | XICiAlS E22= oMol N M xx 10,000 | HIXIH

588| 20210407 | XISiAIS| EA2E oMol N | xx 50,000 | HIXIES

589| 20210407 | XICiAIE 22 = oMol N Tk 10,000 | HIXIH =
590| 20210407 | KIZAIS] 323 JH el N Tk 10,000 HIXI&E= =2
591| 20210407 | XICiAlE S22 = oMol N e 30,000 | XE= =
592| 20210407 | XICiAlS 22 = oMol N N e 10,000 | HIXIH =
593| 20210407 | XISiAIE 22 = ool N N O xx 40,000 | HIXKIH =
594| 20210407 | XICiAlS 222 = oMol N N CI 10,000 | HIXIH =
595| 20210407 | KIZAIS] 323 JH el N N | x* 10,000 HIXI & =2
596| 20210407 | XICiAIS 22 = oMol N N Sxx 5,000 |HIXIZE =
597| 20210407 | KIZAIS] 323 Hel N N O #* 10,000 HIXI & =2
598| 20210407 | KICiAIE| EA2E oMol N N 2wk 50,000 | HIXIE =
599| 20210407 | XIS AIE| SR2=E oMol N N I 20,000 | HIXIE =
600| 20210407 | KISiAIE| EA2E oMol N N Sxx 5,000 |HIXIZE =
601| 20210407 | KISiAIE| EA2E oMol N N | xx 30,000 | X=E= =
602| 20210408 | KIZAIS] EJA2Z JH el N N L rx 5,000 HI X &=

603| 20210409 | XICiAIS 222 = oMol N Ok 10,000 | HIXIH

604| 20210409 | KIZAIS] 323 el N I Kk 10,000 HIXI &
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605| 20210409 | KIZAIS] EJ323 Hel N O #* 10,000 HXE=AZ2

606| 20210412 | XICiAIS| 222 = oMol N CI 10,000 |HIXIEE=2

607| 20210412 | XISiAIS| ERA2E oMol N Of # 10,000 |HIXEE2

608| 20210412 | XICiAIS EA2E oMol N N 0] % 10,000 |HIXIEEZ

609| 20210412 | KIZAIS] EJA23 Hel N O #* 10,000 XSRS

610| 20210412 | XICiAIE EA2E oMol N Ol xx 30,000 |HINEZEAZ

611| 20210412 | XICiAIS 22 = oMol N Lxx 20,000 |HIXNEEZ

612| 20210413 | XICiAIE EA2E ool N CI 10,000 |HIX=EE2

613| 20210414 | XICiAlS 222 = oMol N Hoa 10,000 |HIXIEE22 S4CMS
614| 20210414 | XIS AIS] SEJA23 Hel N O #* 10,000 HXEZ2Z S4CMS
615| 20210414 | XICiAIE S22 = oMol N Flwx 10,000 |HIXES2 S4CMS
616]| 20210414 | XIS AIS] EJA23 Hel N N ENE 10,000 HIXEZ=RZ S48CMS
617| 20210414 | XICiAIE EA2E oMol N N CI 5000 |HIXEEA2 54CMS
618| 20210415 | X2 IS SR2=E oMol N Dxx 10,000 |HIXEE2

619| 20210415 | XISiAIS| EA2E oMol N Elwx 10,000 |HIXES=2

620| 20210416 | KISiAIS| EA2E oMol N Qe 10,000 |HIXEE2 S4CMS
621| 20210418 | KIZAIS] EJA2Z Hel N Sl 20,000 HXE=Z

622| 20210419 | XICiAIS 222 = oMol N N S 10,000 |HIXIEEZ E4CMS
623| 20210419 | KIZAIS] 323 el N L rx 10,000 HXE=AZ2 S48CMS
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624| 20210419 | KIS AIS] 23 Hel N O #* 10,000 HXE=AZ2
625| 20210419 | KIZAIS S22 Hel N N ELES 5,000 HXNEZEAS
626| 20210419 | KIS AIS] SA23 Hel N Frx 10,000 HXNESRZ
627| 20210420 | XICiAIE| ERA2E= oMol N N 2wk 10,000 |HIXES=22
628| 20210420 | KIZAIS] EJA23 JH el N N L 10,000 XSRS
629| 20210421 | XIS AlS A2 JHel N Ik 10,000 HXNEZAS
630| 20210421 | KIZAIS] S22 Hel N N e 10,000 HAEZAZ
631| 20210421 | AISAIS S22 pliRedl N L*rx 10,000 HXE=JZ2
632| 20210421 | X2 AIS] S JA23 Hel N N ESES 10,000 HXNEZEAZ
633 20210421 | KIS AIS] 323 ol 2HCHR| N N Elg 10,000 HXEZ2Z
634| 20210421 | KIS AlS /A2 Hel N RH % 10,000 HIXNEZAS
635| 20210422 | KIZAIS] 323 Hel N N O #* 10,000 HIXEZ=RZ
636| 20210422 | KICiAIE| EA2E oMol N N 2wk 30,000 |HINEZEAZ
637| 20210422 | KIZAIS] S22 JH el N Lo 10,000 HXNESAZ
638| 20210423 | KIS AlS =323 JHel N Of** 10,000 HXNEZAZ
639| 20210423 | AIZ Al SA33 JHel N L *x 30,000 HXEZ2Z
640| 20210423 | KIS AIS] 323 JH el N N Hxx 20,000 HXE=Z
641| 20210423 | KIEAIS] S22 Hel N ESER 10,000 HXNEZ=EAS
642| 20210423 | KIZAIS] EJA23 el N N Ol *x 10,000 HIXE=&
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643| 20210424 | KIS AIS] 323 Hel N O #* 10,000 HXE=AZ2
644| 20210424 | XICiAIS ER2= oMol N 0] % 10,000 |HIXIEE=2
645( 20210424 | XIS AIS S22 Hel N O #* 10,000 HXNESRZ
646| 20210424 | XICIAIE| ERADE oMol N Lxx 10,000 |HIXIEEZ
647| 20210424 | XIS AIS] S22 JH el N xx 10,000 XSRS
648| 20210425 | XICiAlE| ERA2E oMol N Blxx 10,000 |HIXES22
649| 20210425 | K2 AIS] S22 Hel N Al 10,000 HAEZAZ
650( 20210425 | KIS AIS] S22 JH el N N Ol 20,000 HXE=JZ2
651| 20210425 | K2 AIS] S JA23 JH el N L *x 10,000 HXNEZEAZ
652| 20210426 | KIZAIS EJA23 JH el N N L 10,000 HXEZ2Z
653| 20210426 | XICiAIS| EA2= oMol N Fex 10,000 |HIXIEEZ
654| 20210426 | KIZAIS] /23 JH el N N Tk 30,000 HIXEZ=RZ
655| 20210426 | KIS AlS 23 JH el N N 1 *x 20,000 HXNEZEAS
656| 20210426 | KIZAIS S JA23 JH el N N 2Zhxx 30,000 HXNESAZ
657| 20210426 | KISiAIE| EA2E oMol N = 20,000 |HIXEEAZ
658| 20210426 | AIZAlS S3A33 JHel N N Howx 10,000 HXEZ2Z
659| 20210426 | KIZAIS] EJA2Z Hel N Sxx 30,000 HXE=Z
660| 20210426 | KIZAIS S22 Hel N Tr* 30,000 HXNEZ=EAS
661| 20210426 | KIS AIS] EJA2Z el N N Trk 10,000 HIXE=&
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662| 20210426 | KIS AIS] EJA23 Hel N | xx 10,000 HXE=AZ2
663| 20210426 | XICiAIS 222 = oMol N Frax 10,000 |HIXIEE=2
664| 20210426 | KIS AIS] SA23 Hel N L 30,000 HXNESRZ
665| 20210426 | XICiAIS S22 = oMol N N 0l %+ 20,000 |HIXEEAZ
666| 20210426 | KIZAIS /23 Hel N O #* 10,000 XSRS
667| 20210426 | XICiAIS| ERA2= oMol N 2wk 10,000 |HIXES22
668| 20210426 | KIZAIS S ]2 Hel N Of** 20,000 HAEZAZ
669| 20210426 | KIS AIS] S22 JH el N Of*x* 20,000 HXE=JZ2
670| 20210426 | KIZAIS] S ]33 JH el N N Shox 10,000 HXNEZEAZ
671] 20210426 | KIZAIS] SEJA23 Hel N Of#* 10,000 HXEZ2Z
672| 20210426 | XICiAIE| ERA2E oMol N N Ofxx 10,000 |HIXIEEZ
673| 20210426 | KIS AIS] 23 Hel N Prx 20,000 NE=3=
674| 20210426 | XICiAIS| EA2E el N 0] % 10,000 |HIXIEEAZ
675| 20210426 | KIZAIS S22 JH el N N Of** 10,000 HXNESAZ
676| 20210426 | KIS AIS 23 JHel N N Bl 10,000 HXNEZAZ
677| 20210426 | AIZAtS SA33 JHel N o 10,000 HXEZ2Z
678| 20210426 | KIZAIS] EJA23 Hel N Frx 10,000 HXE=Z
679| 20210426 | XICiAIS| 222 = oMol N Rxx 10,000 |HIXES2
680| 20210426 | KIZAIS] 23 el N Prx 30,000 HIXE=&
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681 20210426 | KIZAIS] EJA23 Hel N A *x 10,000 HXE=AZ2

682| 20210426 | XICiAIS| 222 = oMol N CI 10,000 |HIXIEE=2

683| 20210426 | XICiAIE| E2A2E oMol N N 2k 70,000 |HINEEAZ

684| 20210426 | XICiAIS| ERA2E oMol N N Fwx 10,000 |HIXES=22

685| 20210426 | KIZAIS] S22 Hel N N Fr* 10,000 XSRS

686| 20210426 | XICiAIS| ERA2E oMol N Of x 20,000 |HIXEEAZ

687| 20210426 | XICiAIS| 22 = oMol N =S 10,000 |HIXI=EEZ

688| 20210427 | KICiAIE| EA2E pIRel N 0] %+ 10,000 |HIX=EE2

689| 20210427 | XICiAlS| 222 = oMol N N 0l %+ 20,000 |HIXEEZ

690| 20210427 | NIZAIS] 323 JH el N N Alxx 20,000 HXEZ2Z

691| 20210427 | XICiAIS ERA2E oMol N 0] % 10,000 |HIXIEEZ

692| 20210427 | XIS AIS] /23 JH el N L rx 10,000 HIXEZ=RZ

693| 20210428 | KICiAIE| EA2E el N 0] % 10,000 | x==23 54CMS
694| 20210428 | XIZAIE| SRI2E oMol N 0l % 10,000 |HIXIEE2 S4CMS
695| 20210428 | XICiAIE| EA2E oMol N N M xx 10,000 |HIXIEEAZ 54CMS
696| 20210428 | KISiAIE| EA2E oMol N N 2xx 10,000 |HIXIEE22 S4CMS
697| 20210428 | KIZAIS] EJA2Z Hel N N Gk 10,000 HXE=Z S48CMS
698| 20210428 | XICiAlS 22 = oMol N Bhax 10,000 |HIXIEEZ E4CMS
699| 20210428 | KIZAIS] EJA2Z el N N | xx 10,000 HXE=AZ2 S48CMS
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700] 20210428 | KIZAIS] 323 Jpel N N L rx 10,000 HXE=AZ2

701| 20210428 | XICiAlS 222 = oMol N N 2wk 10,000 |HIXES2

702( 20210428 | XIS AlS S22 Hel N N Hwex 10,000 NE=3=

703| 20210428 | XICiAlE| 22 = oMol N N Thxx 5000 |HIXEEA2 =
704| 20210428 | KIZAIS] 323 Hel N N Hxx 20,000 XSRS =2
705| 20210428 | XICiAlS| SRR = oMol N N Dk 5000 |HIXNESAZ =
706| 20210428 | KIZAlS S22 Hel N N Ela 10,000 HXNEEAZ =2
707( 20210428 | XIS AIS =322 JH el N Hxx 5,000 NE=ES =
708| 20210428 | KIZAlS EJA23 JH el N N Hwex 10,000 HXNEZEAZ k=3
709| 20210428 | KIZAIS] 323 Hel N N LR 10,000 HXEZ2Z =2
710| 20210428 | XI2iAlS| 22 = oMol N N Hax 50,000 |HIXIEEAZ =
711] 20210428 | KIZAIS] 323 Hel N N Tk 10,000 HIXEZ=RZ =2
712] 20210428 | KIS AlS =23 JH el N N A x* 10,000 HXNEZEAS k=1
713] 20210428 | KIZAIS] S22 JH el N N Elg 10,000 HXNESAZ =
714] 20210428 | KIS AlS 23 JHel N N Tk 10,000 HXNEZAZ k=1
715( 20210428 | AIZ At S22 JHel N N Of** 10,000 HXEZ2Z k=3
716| 20210428 | KIZAIS] EJ323 JH el N N Alxx 10,000 HXE=Z k=1
717| 20210428 | XICiAlS 222 = oMol N N Blax 10,000 |HIXIEEZ =
718| 20210428 | KIZAIS] 323 el N N L rx 10,000 HXE=AZ2 =
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719 20210428 | KIZAIS] 323 Jpel N N L rx 5,000 HXE=AZ2

720| 20210428 | XI2iAlE 222 = oMol N e 10,000 | XE=2A2

721( 20210428 | XIS AlS S22 Hel N L 10,000 HXE=&

722| 20210428 | XICiAlE| S22 = oMol N 2wk 20,000 | HIXIZ=E =
723] 20210428 | KIZAIS] 323 Hel N L 5,000 NE=3 =2
704| 20210428 | KIHAIE| ERA2E | QI2HCH N Y (e 100,000 | HIXI®E =
725] 20210428 | KIZAlS S22 Hel N L 10,000 NE=3 k=3
726| 20210428 | KIZAIS 323 JH el N 2 x 10,000 HI X &= k=1
727] 20210428 | KIZAIS S22 ol 2-CHA| N N (** 100,000 HI X &= k=3
728| 20210428 | KIZAIS] 323 JHel N L *x 10,000 HI X &= =2
729| 20210428 | KIZAlS S22 Hel N S 10,000 HIXI&EZ =
730 20210428 | KIZAIS] 323 Hel N Lp*x 10,000 HI X &= =2
731] 20210428 | XIS AlS =23 JH el N Lrx 10,000 HIXI&EZ =
732] 20210428 | KIZAIS] S22 JH el N Llwex 10,000 HI X &= =
733]| 20210428 | KIS AlS =323 JHel N Tk 10,000 HIXI&EZ =
734( 20210428 | AIZAlS S3A33 JHel N L *x 10,000 HI X &= k=3
735| 20210428 | KIZAIS] EJ323 JH el N dexx 20,000 HI X &= k=1
736| 20210428 | KIZAlS] S22 Hel N L 10,000 HIXI&E= k=3
737] 20210428 | KIZAIS] 323 el N L rx 10,000 HI X &= (=]
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738| 20210428 | KIZAIS] 323 Jpel N Sk 10,000 HXE=AZ2

739| 20210428 | XICiAlE 22 = oMol N 2wk 5000 |HIXEEAZ

740( 20210428 | XIS AIS S22 Hel N owx 10,000 HXNESRZ

741| 20210428 | XICiAlS| 22 E oMol N Shex 10,000 |HIXIEEZ =
742 20210428 | KIZAIS] 323 Hel N e 10,000 XSRS =2
743| 20210428 | XI2iAlE| SRR = oMol N N 2wk 20,000 |HINEEAZ =
744 20210428 | KIZAIS S22 Hel N N Howx 30,000 HXNEEAZ =2
745( 20210428 | XIS AIS =322 JH el N Bl 10,000 NE=ES =
746| 20210428 | KIZAIS S22 JH el N Of** 20,000 HXEZ=& k=3
747] 20210428 | KIZAIS] 323 Hel N el 10,000 NE=3=

748| 20210428 | XI2iAlE| ERA2E oMol N 2wk 10,000 |HIXES2

749| 20210429 | KIZAIS] 323 Hel N | x* 10,000 HIXNE=&

750| 20210429 | XISiAlE| EA2E oMol N ST 20,000 |HIXEEAZ

751] 20210430 | KIZAIS] 323 JH el N N Of** 5,000 HXNE=&

752| 20210430 | XICiAlE| S22 = oMol N = 20,000 |HIXEEAZ

753[ 20210430 | A€ AlS S3A33 JHel N L *x 10,000 HXNE=&

754 20210430 | KIZAIS] 323 Hel N O #* 10,000 NE=3=3

755| 20210430 | XICiAIS 22 = oMol N Qxx 10,000 |HIXES2

756| 20210430 | KIZAIS] 323 el N N L rx 20,000 HXE=AZ2
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757] 20210501 | KIZAIS] 323 Jpel N Lk 20,000 HXE=AZ2

758| 20210503 | XICiAlS| S22 = oMol N Sxx 50,000 |HIXEEAZ

759| 20210503 | XISiAlS| E2A2E oMol N ST 100,000 |HIXIHE2A2 S4CMS
760| 20210503 | XICiAIS| EA2= oMol N N CI 10,000 |HIXIEEZ 54CMS
761] 20210503 | KIZAIS] 323 Hel N N O #* 30,000 XSRS S48CMS
762| 20210503 | XICiAlS| S22 = oMol N N 2wk 20,000 |HINEEAZ 54CMS
763| 20210503 | XICiAtS 22 = oMol N N Fwx 30,000 |HINEEAZ S4CMS
764| 20210503 | XISiAIE 22 = ool N N Sxx 10,000 |HIXIEEAZ 54CMS
765| 20210503 | XICiAIS 222 = oMol N 0] % 5,000 N S4CMS
766| 20210503 | KIZAIS] S22 JH el N & *x 10,000 HXEZ2Z

767| 20210503 | XICiAIE| 22 = oMol N 0] % 10,000 |HIXIEEZ

768| 20210506 | KIZAIS] 323 Hel N Txx 10,000 HIXEZ=RZ S48CMS
769| 20210506 | XISiAIE| S22 = oMol N CI 10,000 |HIXIEEAZ

770] 20210506 | X2 AlE| S RI2= oMol N N Lxx 5000 |HIXEEA2

771| 20210506 | XISiAlE| 222 = oMol N 2wk 5000 |HIXN®EAZ

772| 20210506 | XI2iAlE| 222 = oMol N Dk 10,000 |HIXIEE22

773| 20210507 | KIZAIS] 323 Hel N N Exx 20,000 HXE=Z

774| 20210510 | KICiAlS 222 = oMol N e 10,000 |HIXES2

775| 20210510 | KIZAIS] 323 el N O #* 10,000 HXE=AZ2
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776| 20210510 | KIZAIS] 323 Hel N O #* 10,000 HXE=AZ2

777| 20210510 | XI2iAlS 222 = oMol N N 2wk 5000 |HIXEEAZ

778| 20210510 | KI2iAlS| EA2E oMol N Of # 10,000 |HIXEE2

779| 20210510 | XI2iAlS| S22 = oMol N N 0] % 10,000 |HIXIEEZ

780 20210510 | KIZAIS] =323 JH el N Olsx 10,000 XSRS

781| 20210510 | XICiAlS 222 = oMol N M 10,000 |HIXIEE=Z 54CMS
782| 20210510 | XICiAlS 22 = oMol N N Rxx 5000 |HIXNEEAZ S4CMS
783| 20210510 | KICiAlE| 22 = ool N N ST 20,000 |HINESAZ 54CMS
784| 20210510 | XICiAIS 222 = oMol N N 2k 50,000 |HIXEEZ S4CMS
785| 20210510 | KIZAIS] =323 Hel N N Frk 5,000 HXEZ2Z S4CMS
786| 20210510 | XICiAlS| 22 = oMol N N 0] % 10,000 |HIXIEEZ S4CMS
787] 20210510 | KIZAIS] 323 Hel N N ENE 30,000 NE=3= S48CMS
788| 20210510 | KICiAlS| S22 = oMol N N £ x 10,000 |HIXIEEAZ 54CMS
789] 20210510 | X2 AIE| SR2E oMol N N I 10,000 |HIXIEE2 S4CMS
790| 20210510 | KISiAlS| S22 = oMol N N O xx 40,000 |HINZEAZ 54CMS
791| 20210510 | KISiAIS| 22 = oMol N M 10,000 |HIXIEE22 S4CMS
792| 20210510 | KIZAIS] =323 JH el N N I kx 10,000 HXE=Z S48CMS
793| 20210510 | XICiAlS 22 = oMol N | xx 50,000 |HIXESZ E4CMS
794 20210510 | KIZAIS] =323 el N I Kk 10,000 HXE=AZ2 S48CMS
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795| 20210510 | KIZAIS] 323 Jpel N Tk 10,000 HXE=AZ2 S48CMS
796| 20210510 | XICiAlS| 222 = oMol N e 30,000 | XNZ=2 E4CMS
797| 20210511 | XI2iAlE 222 = oMol N ST 10,000 |HIXEE2

798| 20210511 | XICiAlSl S22 = oMol N = 20,000 |HIXEEAZ

799| 20210512 | KIZAIS] =323 Hel N N Sl 5,000 XSRS S48CMS
800| 20210512 | XICiAlE| S22 = oMol N 0] % 10,000 |HIXIEE=Z 54CMS
801| 20210512 | XICiAtS 22 = oMol N Hxx 10,000 |HIXES2 S4CMS
802| 20210512 | XISiAlE 22 ool N Ol xx 30,000 |HIXNEEAZ

803| 20210513 | XICiAtE| 222 = oMol N CI 10,000 |HIXIEE22

804| 20210513 | KIZAIS] 23 JH el N Tlxx 10,000 HXEZ2Z S4CMS
805| 20210513 | XICiAlE 22 = oMol N N | xx 10,000 |HIXIEEZ S4CMS
806| 20210517 | KIZAIS] 323 Hel N Frx 10,000 HIXEZ=RZ

807| 20210517 | XISiAlE S22 = oMol N Flwx 10,000 |HIXE=22

808| 20210517 | XIZAIE| SR2=E oMol N I 20,000 |HIXEEAZ

809| 20210517 | XISiAlE| EA2E oMol N 0] % 10,000 |HIXIEEAZ

810| 20210517 | KISiAlE| 22 = oMol N Qe 10,000 |HIXEE2 S4CMS
811] 20210517 | KIZAIS] EJ3A2Z Hel N 1 *x 10,000 HXE=Z

812| 20210520 | XICiAtS 222 = pILel N N 2wk 10,000 |HIXES2

813]| 20210520 | KIZAIS] =323 Ol 2-CHR| N N Gk 10,000 HXE=AZ2
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814| 20210520 | KIZAIS] 323 Jpel N Lk 10,000 HXE=AZ2

815| 20210520 | XI2iAlS| 22 = oMol N N 2wk 10,000 |HIXES2

816[ 20210520 | AIEAlS =323 Hel N L 10,000 HXNESRZ 2 48CMS
817| 20210520 | XICiAlE| 222 = oMol N N S 10,000 |HIXIEEZ E4CMS
818| 20210521 | KIZAlIS EJA23 JH el N N | x* 10,000 XSRS

819| 20210521 | XICiAlE EA2= oMol N N o wx 10,000 |HIXES22

820 20210521 | K€ AlS S22 Hel N Axk 10,000 HAEZAZ

821( 20210521 | KIS AIS =322 JH el N R 10,000 HXE=JZ2

822| 20210522 | KIZGAIS 323 JH el N L 20,000 HXNEZEAZ

823 20210524 | XIZAIS] 323 Hel N O #* 10,000 HXEZ2Z

824| 20210524 | XI2iAlE| ERA2E oMol N Lxx 10,000 |HIXIEEZ

825| 20210524 | XIZAIS] 323 Hel N O #* 10,000 HIXEZ=RZ

826| 20210524 | XISiAlE| EA2E oMol N T wx 10,000 |HIXE=22

827 20210524 | XIZAIS 323 JH el N Of** 10,000 HXNESAZ

828| 20210524 | XIS AlS =323 JHel N Eoxx 10,000 HXNEZAZ

829| 20210524 | XIZ Al E333 JHel N N Of** 10,000 HXEZ2Z

830| 20210524 | KIZAIS] 323 JH el N N L rx 30,000 HXE=Z

831| 20210525 | XICiAlE 22 = oMol N O xx 10,000 |HIXES2

832| 20210525 | KIZAlIS] =323 el N | xx 10,000 HIXE=&
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833]| 20210525 | KIZAIS] 323 el N Thox 10,000 HXE=AZ2
834| 20210525 | XICiAlE| 22 = oMol N Dk 30,000 |HINEEAZ
835[ 20210525 | KAIZAlS =323 Hel N L 30,000 HXNESRZ
836| 20210525 | XICiAlE| S22 = oMol N N Dk 30,000 |HIXEEAZ
837 20210525 | KIZAIS] =323 JH el N Hwex 10,000 XSRS
838| 20210525 | XICiAlE| ERA2E oMol N = 30,000 |HIXNEEAZ
839| 20210525 | K€ AIS] S22 Hel N N L 10,000 HAEZAZ
840( 20210525 | KIS AIS =322 JH el N N owx 10,000 HXE=JZ2
841] 20210525 | K2 AIS S22 JH el N SHx 20,000 HXNEZEAZ
842| 20210525 | KIZAIS 323 JH el N N 1 *x 20,000 HXEZ2Z
843| 20210525 | XI2iAlE| S22 = oMol N . 20,000 | XEE22
844| 20210525 | KIZAIS] S22 JH el N N L rx 10,000 HIXEZ=RZ
845| 20210525 | XICiAlS| EA2E oMol N Fex 10,000 |HIXIEEAZ
846| 20210525 | KIZAIS S22 JH el N Of** 10,000 HXNESAZ
847| 20210525 | XISiAlE| EA2E oMol N P 10,000 |HIXES=2
848| 20210525 | KAIZ At E3A33 JHel N L *x 10,000 HXEZ2Z
849| 20210525 | KIZAIS] 323 JH el N N Olx 20,000 HXE=Z
850| 20210525 | K€ AlS] S22 Hel N N Showx 10,000 HXNEZ=EAS
851| 20210525 | KIZAIS] 323 el N Ol** 10,000 HIXE=&
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852| 20210525 | KIZAIS =323 Hel N N Qkx 10,000 HXE=AZ2
853| 20210525 | XICiAlS 222 = oMol N Pk 10,000 |HIXES2
854( 20210525 | AIZAlS S323 Hel N L 30,000 HXNESRZ
855| 20210525 | XICiAlS| S22 = oMol N N 0l %+ 20,000 |HIXEEAZ
856| 20210525 | KIZAIS S22 Hel N Prx 30,000 XSRS
857| 20210525 | XICiAlE| EA2E oMol N Of x 20,000 |HIXEEAZ
858| 20210525 | KIZAlS 323 Hel N N Frx 10,000 HAEZAZ
859( 20210525 | KIS AIS =322 JH el N Bl 10,000 HXE=JZ2
860| 20210525 | KIZAlS S22 JH el N N T xx 20,000 HXNEZEAZ
861| 20210525 | KIZAIS] 323 Hel N S*x 10,000 HXEZ2Z
862| 20210525 | XICiAlE| S22 = oMol N N Blax 10,000 |HIXIEEZ
863| 20210526 | KIZAIS] EJ23 JH el N N Trk 10,000 HIXEZ=RZ
864| 20210526 | XICiAlS S22 = oMol N CI 5000 |HIXEEA2
865| 20210526 | KIZAIS] S22 JH el N Frx 10,000 HXNESAZ
866| 20210526 | XICiAlE| EA2E oMol N M xx 10,000 |HIXIEEAZ
867| 20210526 | AIZAlS S3A33 JHel N Tk 10,000 HXEZ2Z
868| 20210526 | KIZAIS EJA2Z JH el N N Trk 30,000 HXE=Z
869| 20210526 | XICiAlS| 22 = oMol N 0l %+ 20,000 |HIXNEEAZ
870| 20210526 | KIZAIS] EJ3A2Z el N O #* 20,000 HIXE=&
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871] 20210526 | KIZAIS] EJ3A2Z Hel N O #* 10,000 HXE=AZ2

872| 20210527 | XI2iAtE 222 = oMol N Flwx 10,000 |HIXES2 E4CMS
873| 20210527 | XISiAlE| E2A2E oMol N N Blxx 10,000 |HIXEE2 S4CMS
874| 20210527 | XICiAlE| 222 = oMol N N 0] % 10,000 |HIXIEEZ 54CMS
875| 20210527 | NIZAIS ]33 Hel N N Sl 10,000 XSRS S48CMS
876| 20210527 | XICiAlE| S22 = oMol N N M 10,000 |HIXIEE=Z 54CMS
877| 20210527 | XI2iAtE 22 = oMol N N . 10,000 |HIXI=EEZ S4CMS
878| 20210527 | XISiAlE| 22 = pIRel N 0] %+ 10,000 |HIX=EE2

879| 20210527 | XICiAtS 22 = oMol N N 0l %+ 20,000 |HIXEEZ

880| 20210527 | NIZAIS] 323 JH el N N Alxx 20,000 HXEZ2Z

881| 20210527 | XICiAlE| 22 = oMol N 2wk 10,000 |HIXES2

882| 20210527 | NIZAIS EJ323 Hel N O #* 10,000 HIXEZ=RZ

883| 20210527 | XICiAlE| EA2E oMol N N Dk 5000 |HIXNESAZ 54CMS
884| 20210527 | X2 AIE| SRI2=E oMol N Fxx 5,000 NEEELE S4CMS
885| 20210527 | XICiAlE| EA2E oMol N N O xx 10,000 |HIXES=2 54CMS
886| 20210527 | XISiAlE| 22 = oMol N N CIT 10,000 |HIXIEE22 S4CMS
887| 20210527 | NIZAIS] EJ32Z JH el N N Hxx 50,000 HXE=Z S48CMS
888| 20210527 | XICiAlE 22 = oMol N N M 10,000 |HIXIEEZ E4CMS
889| 20210527 | NIZAIS EJ3A2Z el N N Fxx 10,000 HXE=AZ2 S48CMS
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890| 20210527 | NIZAIS 323 Jpel N N L rx 20,000 HXE=AZ2

891| 20210527 | NIZAIS S22 Hel N N & wx 30,000 HXNEZEAS

892( 20210527 | AIEAIS =323 Hel N N Howx 20,000 HXNESRZ

893| 20210527 | XICiAlE| 22 = oMol N N 2wk 10,000 |HIXES=22 =
894| 20210527 | NIZAIS] ]33 JH el N N L 10,000 XSRS =2
895| 20210527 | XICiAlE| EA2= oMol N N 2wk 10,000 |HIXES22 =
896| 20210527 | NIZAIS S22 Hel N N Ela 10,000 HXNEEAZ =2
897| 20210527 | NIZAIS 323 pliRedl N N L*rx 10,000 HXE=JZ2 k=1
898| 20210527 | NIZAIS S22 Hel N N L *x 5,000 HXNEZEAZ k=3
899| 20210527 | NIZAlIS] EJA23 ol 2HCHR| N Y (xx 100,000 HXEZ2Z =2
900| 20210527 | XICiAtE| 22 = pIxel N 2wk 10,000 | X==2A2 =
901| 20210527 | KIZAIS] =323 JH el N U *x 10,000 HIXEZ=RZ =2
902| 20210527 | KIHAIE| ERA2E | QI2HCH| N N (e 100,000 | HIXIHE22 =
903| 20210527 | NIZAIS] =323 JHel N L *x 10,000 HXNESAZ =
904| 20210527 | XISiAlE| EA2E oMol N o xx 20,000 |HIXEZEAZ =
905( 20210527 | KAIZ Al S3A33 JHel N L *x 10,000 HXEZ2Z k=3
906| 20210527 | NIZAIS 323 JH el N Trk 10,000 HXE=Z k=1
907| 20210527 | XICiAtE ER2= oMol N Blax 10,000 |HIXIEEZ =
908| 20210527 | NIZAIS =323 el N Shxx 10,000 HIXE=& =
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909| 20210527 | KIZAIS =323 Jpel N & wx 10,000 HXE=AZ2

910| 20210527 | XICiAtE 22 = oMol N Sk 10,000 |HIXES2

911| 20210527 | NS AIS S22 Hel N SHx 10,000 HXNESRZ

912| 20210527 | XICiAlE 22 = oMol N Lbxs 10,000 |HIXIEEZ =
913]| 20210527 | NIZAIS] ]33 JH el N L 10,000 XSRS =2
914| 20210527 | XICiAlE EA2E= oMol N 0] % 5,000 NEsaA2 =
915| 20210527 | KIZAlS S22 Hel N L 5,000 NE=3= =2
916| 20210527 | KIZAIS] 323 JH el N L*rx 20,000 HXE=JZ2 k=1
917] 20210527 | NIZAIS S22 JH el N N Shox 5,000 HXNEZEAZ k=3
918| 20210527 | NIZAIS 323 Hel N N Hxex 10,000 NE=3= =2
919| 20210527 | KI€AlS =23 Hel N N ESER 10,000 HIXNEZAS =2
920| 20210527 | KIZAIS] =323 Hel N ER 10,000 HIXEZ=RZ =2
921]| 20210527 | KIS AlS =323 JH el N N Bl 10,000 HXNEZEAS k=1
922]| 20210527 | KNIZAIS =323 JH el N Of** 10,000 HXNESAZ =
923]| 20210527 | KIS AlS =323 JHel N Of** 10,000 NE=ES =
924( 20210527 | AIZAtS S3A33 JHel N Axk 10,000 NE=3= k=3
925| 20210527 | KIZAIS 323 Hel N Sl 10,000 NE=3=3 k=1
926| 20210527 | XICiAlS 22 = oMol N Blax 10,000 | xI==22 =
927| 20210527 | KIZAIS] 323 el N L rx 10,000 HXE=AZ2 =
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928| 20210527 | NIZAIS 323 Jpel N Lk 5,000 HXE=AZ2 S48CMS
929 20210527 | XICiAtE 22 = oMol N 2wk 10,000 |HIXES2 E4CMS
930| 20210527 | XISiAlE| ERA2E oMol N 2k 10,000 |HIXEE2 S4CMS
931| 20210527 | XICiAlE 22 oMol N 2wk 10,000 |HIXES=22 54CMS
932| 20210531 | K2 AIS] =323 JH el N L 10,000 XSRS

933| 20210531 | XICiAlE| EA2= oMol N Blxx 10,000 |HIXES22

934| 20210531 | XICiAlS 22 = oMol N N 2wk 20,000 |HINEEAZ

935| 20210531 | KICiAlE EA2E ool N Blxx 10,000 |HIXIEEAZ

936| 20210531 | XICiAlS 22 = oMol N Lxx 20,000 |HIXEEZ

937| 20210531 | KIZAIS] =323 Hel N N Elg 10,000 HXEZ2Z S4CMS
938| 20210531 | XICiAlE 22 = oMol N N 51 % 10,000 |HIXIEEZ S4CMS
939| 20210531 | KNIZAIS] 323 Hel N Sl 20,000 HIXEZ=RZ S48CMS
940| 20210531 | XICiAlE| S22 = el N 0] % 10,000 | x==23

941| 20210531 |XIZAIE| SR2=E oMol N N 0l % 5000 |HIXEEA2

942| 20210531 | XISiAlE| EA2E oMol N Qo 10,000 |HIXIEEAZ

943| 20210531 | KISiAlE| 22 = oMol N | xx 10,000 |HIXIEE22

944| 20210531 | KIZAIS] 323 JH el N L rx 10,000 HXE=Z

945| 20210601 | XICiAIS 222 = oMol N 0] % 10,000 |HIXIEEZ

946| 20210601 | KIZAIS] 323 el N =2 900,000 NE=33
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947]| 20210601 | KIZAIS] EJA23 Jpel N &l w* 10,000 HXE=AZ2

948| 20210602 | XICiAlS 222 = oMol N N CI 10,000 |HIXIEE=2 E4CMS
949| 20210602 | XISiAIS| E2A2E oMol N T 10,000 |HIXIES=Z S4CMS
950| 20210602 | XISiAIE| ERA2E= oMol N CI 100,000 | HIXIHE22 54CMS
951]| 20210602 | KIZAIS] 323 JH el N N Tk 10,000 XSRS S48CMS
952| 20210602 | XICiAIE ERA2= oMol N N Fwx 30,000 |HINEZEAZ 54CMS
953| 20210602 | XICiAlE ER2= oMol N N 2wk 20,000 |HINEEAZ S4CMS
954| 20210602 | XISiAIE 22 = ool N N 0] %+ 30,000 |HINEEAZ 54CMS
955| 20210603 | XICiAIS 222 = oMol N Sxx 50,000 |HIXEEZ

956| 20210605 | KIZAIS] 323 Hel N N O #* 10,000 HXEZ2Z

957| 20210607 | XICiAIE ERA2= oMol N Blax 10,000 |HIXIEEZ

958| 20210607 | KIZAIS] 23 Hel N N Brx 20,000 HIXEZ=RZ

959| 20210607 | XISiAIE| EA2E oMol N N = 5000 |HIXEEA2

960| 20210607 | XIZAIE| ERI2= oMol N 2k 5000 |HIXEEA2

961| 20210607 | XISiAIE EA2E oMol N Sk 10,000 |HIXES=2

962| 20210608 | XISiAIE| EA2E oMol N N 2xx 5000 |HIXEEA2

963| 20210609 | KIZAIS] EJA2Z JH el N Olx 10,000 HXE=Z

964| 20210609 | XICiAlE 222 = oMol N e 10,000 |HIXES2

965| 20210609 | KIZAIS EJA23 el N O #* 10,000 HXE=AZ2
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No.| oigy sAza58 sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l S2%} LH = EZEEY HID
966| 20210609 | KIZAIS] EJA2Z Hel N QW 10,000 HXE=AZ2

967| 20210609 | XICiAlS ER2= oMol N M xx 10,000 |HIXIEE=2 E4CMS
968| 20210609 | XISiAIS| E2A2E oMol N M xx 10,000 |HIXEE2 S4CMS
969| 20210609 | XISiAIE| ERA2= oMol N | xx 50,000 |HIXIEEAZ 54CMS
970]| 20210609 | KIZAlIS] =23 Hel N I Hx 10,000 XSRS S48CMS
971| 20210609 | XICiAlE| EA2= oMol N Sxx 10,000 |HIXES22 54CMS
972| 20210609 | XICiAtE ER2= oMol N e 30,000 | XEE2 S4CMS
973| 20210609 | XISiAlE| 22 = ool N N 0] %+ 10,000 |HIX=EE2 54CMS
974| 20210609 | XICiAIS 222 = oMol N N 2k 50,000 |HIXEEZ S4CMS
975| 20210609 | KIZAIS] =323 Hel N N Elg 20,000 HXEZ2Z S4CMS
976| 20210609 | XICiAIE| ERA2= oMol N N Rxx 5000 |HIXNEEAZ S4CMS
977 20210609 | KIZAIS] 323 Hel N N ENE 30,000 NE=3= S48CMS
978| 20210609 | XISiAIE| EA2E= oMol N N Ot 40,000 |HIXEEAZ 54CMS
979| 20210609 | X2 AlE| SR2= oMol N N e 10,000 |HIXEE2 S4CMS
980| 20210609 | XISiAIE| EA2E= oMol N N Blax 10,000 |HIXIEEAZ 54CMS
981| 20210609 | XISiAIE| EA2= oMol N N | xx 10,000 |HIXEE2 S4CMS
982| 20210609 | KIZAIS] EJ3A2Z Hel N N Fxk 5,000 HXE=Z S48CMS
983| 20210610 | XICiAlS 222 = oMol N Of # 10,000 |HIXIEEZ

984| 20210610 | KIZAIS] EJA2Z el N O #* 10,000 HXE=AZ2
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
985| 20210610 | XI2iALE] S22 S Hel N N Olxx 10,000 |HIXNESA

986| 20210611 | XI2iAtel sRI2S JHol N S 10,000 |HINE=A

987| 20210614 | X2 AL =R2E Hel N N 2ok 10,000 |HINE=AZ S4CMS
988| 20210614 | XI2iAtsl sR2S JHol N N S 5000 |HIXIm=a= S45CMS
989 20210614 | XI2iAlE] =R2E JHol N Olxx 10,000 |HIXNESA S45CMS
990| 20210614 | XI2iAtsl sR2= JHol N R 10,000 |HINE=AZ S4CMS
991| 20210614 | XI2iAtsl =22S ol N Of ke 30,000 | HIXIZER=

992| 20210614 | XI2iAtEl sR2= Jhe! N . 10,000 |HIXIZ=22

993| 20210614 | XI2iAtsl S2I2E JHol N sk 10,000 |HINESA S4CMS
994| 20210615 | XI2iALE] =22 S JHol N Dk 10,000 |HINE=AZ

995| 20210615 | XI2iAtsl sR2S JHol N Rl 10,000 |HINE=AZ

996| 20210617 | XI2iAlEl S22 = JHol N . 10,000 |HIXNESAR

997| 20210617 | XI2iAtEl sR2= JHol N Olxx 10,000 |HINE=AZ

998| 20210617 | XI2iAtsl =RI2E JHol N N Sk 10,000 |HINESA 545CMS
999 20210617 | XI2iAtsl =22 = JHol N bk 20,000 |HIXIZ=AZ

1001 20210618 | 11 MEl 2228 ol N 0l 10,000 |HINESA

1901 20210618 | X1 MEl 22128 Hol N 0l 10,000 |HIN==22

1901 20210618 | Tt MEl 228 JHol N T 10,000 |HIX=EAZ

190 20210618 | XIoAtSl 2R2E ol N 0l »x 10,000 |HIXIZ=2=
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No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY

1901 20210618 | IoiAtel 2228 ol N Qe 10,000 |HIXIZ=2=

1201 20210618 | T MEl 2228 Hol N L 10,000 |HIXIZ=R=

1201 20210620 | TIotAIEl 2R2S | Sl2rE N N Btix 10,000 |HIXIZ=R=

1901 20210620 | 12t MEl 2128 JHol N =1 10,000 |HIX=EAZ

1901 20210621 | T M3l 2R2E Hol N T 10,000 |HX==2A2

190 20210621 | Xt MEl 228 Hol N e 10,000 |HXZ=2A2

101 20210621 | T MEl 22128 JHol N N =1 10,000 |HIXN=EAZ

101 20210621 | XIoiAtel 2228 Jhe! N N =1 10,000 |HINESAZ

101 20210621 | T MEl 22128 JHol N N 2| xx 10,000 |HIXIZE2Z

101 20210621 | TIoAtel 2128 Hol N N - 10,000 |HIXNZEAZ

101 20210622 | K12t MEl 2128 JHol N N =1 30,000 |HINESAZ

101 20210622 | TIoiAtEl 2128 JHol N N 0l x 10,000 |HX==22

101 20210623 | 12 Mal 22128 JHol N N 5w 10,000 |HIXIZER= SHCMS
101 20210623 | 11 M3l 22128 JHol N [ 10,000 |HINESAZ 54CMS
1ol 20210625 | xIetMEl 2128 JHol N N T owx 10,000 |HIXXEAZ

191 20210625 | T MEl 2228 ol N N P 20,000 |BIXXS2AZ

192 20210625 | X1 MEl 2128 Hol N S 30,000 |HIXIES22

192] 20210625 | T MEl 2228 Hol N Sk 10,000 |HIXIZ=R=

192] 20210625 | T M3l 2R2E ol N N Sy 10,000 |HIXIZES
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NO. @%% S22 = —
SRASERF SJAXNAE D2T0 |2 | J1E=2CHA
102] 5001062 —— 02 ole S2I% Ly o
182 5| XEAS S22 Jpel N HS =N OZ=H
5 —_ Prx
132 0210625 | KI2iAtSl S22 = Jhol N 20,000 | K==
— O **
182 20210625 |XIG9ALS] SRS ol N 20,000 | HIXIH
5 — Bhxx
132 0210625 | KI2iAISl 2= Jhol N 10,000 |HIXIZS
2 S =2 le**
182 0210625 | KIS AlS| A2 E Shol N 30,000 | HIXIE
2 S o= Ol
02/ 20210625 | N1 Ael $22E o 10,000 | HIXI®
192] 20210625 | KIetAtEl = " e
9 5| XoAE B2 Mol N 10,000 | HIXIE
103) 20010625 | X1t AlE| = N ke
0 5 |xeAE =RaE|  Jfol 10,000 | HIXZ
103| 90010625 | I AlE| = h N Ol x
1 5 |neias zaaE|  JHe N 20,000 | HIXIE
193 20210625 | X124 At3) 2 S
2 5 |XeiAEl 2R3E| Ko N 30,000 | HIXA
5 — Kbk
183 0210625 | KI2iAISl A2 = Jhol N 10,000 | BIXI=
5 ——_ Sxx*
%8 20210625 | Ko Atel 2RBE Jhol N 30,000 | HIXI=
1031 20210625 | X2t ALSl = B
183 AR E el N N 30,000 | BIXIE
5 —__ *x
— O xx
03[ 20210625 | T A2 SR E " 10,000 | HIXIE
193 20210625 | X121 AtS] = - h =
bl 5 |XciAel SRBE| Kl N 10,000 | HIXIS
5 —_ Oh**
03] 20210625 | XIoiALE) 2RDE Jiol N 10,000 | BIXI=
104) 20210625 | KI2tAtEl = " I
0 5| XoAE 2R2E Mol N 10,000 | HINIE
1041 20210625 | K12t ALEl = " o
1 5|XItAs 223E | Kl N 20,000 | HIXIE
Exx
20,000 | HIXIA
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NO. @%% = 2 = —
— e AL E%‘mxgl% P E=T=S]
— - (0:)= SRX
5| 20210625 | X AIE 2R23E Sl N = * = So EENFY
104] 001062 O N ek =
3 5 X% Atel S =5 Kol N 30,000 HXE=A=
104 50010625 | X1t AlSl = " S —
134 NENSELES Sl N 10,000 |BIU==Z
o E— Hxx
5 | 20210625 | XIHAtSl SRS S ol N 10,000 L
104 50210625 | K1t AlSl = A S —
6 NENWEREE el N 10,000 |HIXNZ=RAZ
108 2010000 | 118 ) = TP -
1C7)4 5| XS Atel S3 =5 Kol N 10,000 HXE=AZ
o — 2 xx
134 0210625 | XIAIS| 222= S0l N 10,000 |BIU==Z
o . Exx
g | 20210628 |XIHAt2l SASE ol N 10,000 | HIXIXRS22
105 50010628 | X1t AHE| = N s —
0 KSAS SR2E ol N 10,000 BIXEZAZ
105] 50210628 | Kt AlSl = A Gl —
1(1)5 XIAIS S22= Mol N - 20.000 |HIXIE=a2
2 2 == Ol
5°| 20210628 | X2 Ar2l RIS JMol 20.000 |HIXIE=a2
105] 50210628 | Kt AlSl = h Ol —
185 XIHALE S2= I N 10,000 |BIU==2
o = O] **
0°| 20210628 | XAl 2RSS JMol N 10,000 |Hxmsa2
105 50010628 | X1t AlSl = A = —
5 NENCEEEE Mol N 30,000 |HIXEEa2
105 2021 062 o _ _ -,Qr** 2o
185 8 |XIAs 222= Juol Xy 10,000 |HIx==212
20 Sl S22 "S"**
155 210628 | X2 AlE| So2= JHol N 10,000 | BIU===
20 = Se /\—1**
g°| 20210628 | XItAEl 2 RSB JHol N 10,000 |HIx==212
105 50010628 | X1t AHE| = i —
9 NSAe S R=S Kol N 10,000 HXE=A=
106 50010628 | K1 ALS = Ol —
0 |GALE] ER]ZE ol N 10,000 HXE=&Z3
O] **
20,000 | HIXESS
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NO. @%% S22 = —
— SR3ER AR RE E%‘mxgl% IR SEH
— = SAX
1 20210628 | XIGAtsl = 3= JHel — o } L= =% HEANEH
1061 20210628 | Xl AbE] = " Ol . =
1& 8 | KGAIS =RAZ2E QI2HERA| N N 20,000 HXE=AAZ
2 Sl S22 8‘_}**
186 0210628 | KIGAtsl 225 JHol N 3,000,000 | XN&EE2=
o R Bhxx
4 0210628 | XNIG Atz S 33E Kol 10,000 HXES22 =
106] 202106 - N S cTe= SHCMS
£6 28 | KIGAte 23S el N 10,000 HAE=EZ SAHCMS
o I Bhxx -
186 0210628 | KNI At S 33E Kol N N 10,000 HXE=AZ SACMS
2 S =S —JTE'** -
156 0210628 | XIGAIS| S A2E JHol N N 10,000 | HIXE=2=2 S ACMS
— Hxx -
8 20210628 | XIGAtsl = 3= Jp ol 10,000 NEZRZ =
106 T — N N - TS S HCMS
9 8 |XIAG 222E PRl 5000 |HIXNEZAZ 5
107 021000 —— N N . o5 = 4CMS
0 8 | XIcAlE Bo2= Mol 10,000 HXXH=2 =
07 T — N N S TS S HCMS
1& 8 | NIAte =223 ol N N 10,000 | HIXXSAZ SA4CMS
2 Sl S }‘Ll** -
187 0210628 | KIGAtsl 2)=5 JHol N N 10,000 HAESEZ SACMS
o I O] ** -
187 0210628 | XIGAIE] 2RSS el N N 10,000 | HIXZs22 SHCMS
o . S*x* =
137 0210628 | KIGAts| 22 =5 JHol N N 10,000 HAE=EZ SAHCMS
o R Bhyx -
5 0210628 | XIS Atz S 33E Kol 10,000 HXES22 = A
107 T —— N N . TS S HCMS
1& 8 | KNG At E]2E el N N 10,000 HAE=EZ SMHCMS
o . 2 x* =
187 0210628 | XIGAtsl 2)=5 JHol N N 5,000 HXE=AZ3 S4CMS
o . Dxx <
127 0210628 | XIGAt2 S33E Kol N 5,000 HXE=AZ SMCMS
— & x* -
9 20210628 | XIGAtsl = 3= Jhel N 5,000 eSS =
N O %% - SSCMS
10,000 |HIXIZ=E= S4CMS
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No.| olgg 352 sAXNTE Eé‘mxgl% 7|$01€.‘$E*i1l A e =1L =

198 20210628 | XIoiAtSl 2R2E Hel N N b ax 10,000 | HIXIH

198 20210628 | 11 MEl 2228 JHol N N =1 10,000 |HIXIE

198 20210628 | 11 M3l 2R2E JHe! N N jap 10,000 | HIKE=

198 20210628 | TIoMEl 22128 JHol N N =1 20,000 | HIXIH =
198 20210628 | 11 M3l 2R2E JHol N N <P 30,000 | HIXIE =
128 20210628 | X1t MEl 228 JHol N N P 20,000 | HIXIH =
198 20210628 | 11 MEl 2R2E JHol N N =1 10,000 |HIXI= =
108 20210628 | T2 Atel 2R2E ool N N =1 10,000 | HIXKIH =
198 20210628 | 11 MEl 2R2E Jpel N N =1 10,000 |HIXI= =
198 20210628 | T2 AtEl 228 JHol N N S 10,000 | HIXIH =
199 20210628 | X1t MEl 2228 JHol N N xx 50,000 | HIXIH =
199 20210628 | 11 MEl 2R2E JHol N N S 10,000 | HIXIH =
199 20210628 | TIoiMEl RS E JHel N 0l 10,000 |HIXIE =
199 20210628 | T2 AtEl 228 JHol N =1 10,000 | HIXIH =
1% 20210628 | T2 MEl 228 JHel N =1 10,000 |HIXIE =
199 20210628 | 11 MEl 2R2E JHe! N Sx 10,000 | HIXIH =
129 20210628 | XIotMEl 2RI2E | B2t N N (x 100,000 | HIXI= =
199 20210628 | 11 MEl 2128 JHel N ST 10,000 |HIXI= =
199 20210628 | IoAtSl 2R2E Jhe! N =1 10,000 | X== 5
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No.| olmig sazs saxze 2L |5 RS sa7 Lol 2o x|
T T

189 20210628 | XICiAlS] 2122 |  oI2oH N Y (e 100,000 | HIXIH

18)0 20210628 | KICIAtS] E212= Mol N 0] # 5,000 NE=E

1}0 20210628 | XI2AIS| B2 = Hel N Ela 10,000 |HIxXI=S

”20 20210628 | XICiAIE] B2 el N 21wk 10,000 | HIXI & &
1;)0 20210628 | XAl B2 = Hel N Lpxs 10,000 | HIXI= =
‘jlo 20210628 | KICiAIS] 22 Mol N 2wk 5,000 NE-E &
‘})0 20210628 | XICiAtS] 2212 el N 2wk 20.000 | HIKI® 5
1230 20210628 | XAt B2 = ol N 2wk 10,000 | BIXI= &
“70 20210628 | KICiAtS] 2212 Mol N 2wk 10,000 | HIXI® s
1330 20210628 | XI2iAIE B2 Mol N 2wk 10,000 | HIXI® =
1390 20210628 | KICiAlS] E22= Mol N 0l *+ 20.000 | HIXI® &
1(1)1 20210628 | XI2tAIS| B2 = Hel N S, 10,000 | HIXI= 5
‘}‘ 20210628 | XICiAIE B2 Mol N ek 10,000 | HIXI& 5
‘;1 20210628 | KICiAlS] E212= Mol N Har 10,000 | HIXI= =
1;)1 20210628 | KICIAIE] 22 Mol N 21k 10,000 | HIXI& 5
‘lﬂ 20210628 | XICiAtS] E212= el N Bhax 10,000 | K== =
1})1 20210628 | XI2IAIE B2 Mol N ST 10,000 | xI== =
‘y 20210628 | KICiAIS] E212= Mol N e 10,000 | x== 5
”71 20210628 | XAl B2 = ol N 0l *+ 10,000 | xi==s =
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NO. @%% S22 = —
e SAIER saxne |2RWIE | ITQEA Z
20210628 | NI ALS] B¢ - 0% iy L
8 |AALE ER2E = oM s
11| 5001 — e N 2k 2EAES dlL
9 0629 | K% AlS| 1oz Jhol 00.000 |HINmEa= _
12 50210630 | X1 A3 " & xx — 2O
1?2 0 |XIciAtEl 22122 Shol N 10.000 | Hx==a
o I Q**
12] 20210630 | XI<iAlE] 2223 Jhol y 10,000 |Hixi==saz
12) 50010630 | It Ar3l = i —
2 0 |XIciAE SEIE| M 10,000 |HIXIZEAZ
112 ooa 10000 | 7ot al = N 0] M
1?2 0 |XIciAtsl s22= JMol N 10,000 | nEs22
2 = S /‘Ll**
17| 20210630 | I MEl 2R2E Jhol N 10,000 |Hx==az
T12] 20910800 | 1l = ST -
1?2 0 [XIZAE 23S Mol N 10,000 |HIXZS=AZ
2 = S M**
17| 20210630 | NI M3l 2228 Jhol N 10,000 |Hixim=zaz
112] 50210630 | K1t AlS] = A = —
7 XHAS 2A2E Hel 20,000 | BIXd=ES
112 5021063 o lm = N 2=k i
8 0 |XNIFAtE] 2RSS Jpol N 20,000 |HIXIZ=22
112] 50210630 | K1t AlSl = A Ol —
9 [N S /2SS Mol N 5,000 MNEERE
T3 2oa1070r | ma = o -
0 NSAe S2A=S JHol 20,000 HXEZ=Z =
13| 202107 " Ol — 2B
] s S<
113 01 |KIZAIEl SA2E Mol N 10,000 |HIXEERS
o E— & %%
2% 20210702 | RS ArEl 2R2E Juol 10,000 |Hixim=saz
113] 20210702 | X1t Al| & h = —
3 XYAAS] 2RSS ol 10,000 | HIAE=E= 54
g —— N o 523 S4CMS
4 o | XI¢AIE 2= Mol 100,000 | HIXIEZRAZ = x
113[ 502107 N N . FoS S4CMS
[ez] s =S< I =
1153 02 | NIGAtel 2RSS JHol N N 10,000 HXE=AZ SACMS
00210702 | NI AFS| =2 = -
6 |2ALE] SRS E 20 s2
S el N N oier 000 1 HINE=ES SH4CMS
10,000 | HIXIR== 540MS
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NO @%% == = —
— SAZERF saxne |2RWIE | ITQEA
— g SRAX
77| 20210702 | NiGiAtEl 2RSS JHel NT o= J e =L EENEY
1131 20010702 | X1 AtE| 2 N Ol -
8 N<SGAlel 23223 ol 30,000 HXEEL2 =M
113 20210702 . - - N N g!_** T oo (=AY S
9 X AE) E2= Mol 10,000 BIXE=E= =
0 5| XIAE ER2E ol 30,000 |HIXINSAZ =
114 2021070 . — N —E** oT o _9_/51
114 5| XISAS 2222 JHol N 10,000 | HINE=22
o I Sxx
5| 20210705 | XIS Atel SR SS ol N 50,000 |HIXIEEA2
T4 0a10708 | el = T -
3 XAIE ERA2E JHel N 5000 |HIXZ=22
14l 5001070 S N L —
4 5| XIGAtE 2225 el N 5000 |HIXZZES3
7 vy prpopp Sk -
1154 KNSAtel =333 ol N 10,000 | HIXBE22
o . Exx
5] 20210707 | N AIEl 2R3 E ool N 10,000 |HIXE=22
T14] 5001070 S— N Bk -
7 7 | XIYAS 2225 Kol N 20,000 |HIXEE=22
4 00210707 | It AE| 2 A S —
8 7 | XIGiAlS) 3212= Mol N 20.000 |HIXIZ=22
114] 5021070 — N Of wx -
9 7 | XA 2225 JHol N 40,000 | HIXIEE22
1151 00210707 | Kt ASl = A s —
0 XIAIE ERA2E JHel N 50.000 | HIXIR=22
18] 20210707 | K Al = A Ol —
1 |[SALe S RZ2S Kol N 10,000 HXEES22
1150 20010707 | X1 A3l 2 A e —
) 7 | KNI2AtE S22 JHel N 5000 |HIX®=22 =
1151 20210707 | It AVl = A B — -
3 APENEEEEE Jhol N 10,000 |HIXE=22 s
115 2021070 o — N I1||-** — o k=3
4 7 | NSA2 233E Kol N 10,000 HXE=A= =
115 20210707 o _ B /\** [ e =3
5 NS SR=SE ol N 10,000 HXNEZE:Z =
N E** [ldny =] k=3
10,000 | HINEES s
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NO. @0% == =

— 2 SABER saxne |2RWIE | ITQEA
- o S2%

&°| 20210707 | ISt AEl 2222 Mol - Sk } L= =% OZEHRY

115 50010707 | X AE| = " A = . =

1175 7 | NEA2 =33 S JHol N 5,000 HXE=AAZ SAHCMS
— Koxk -

g°| 20210707 | XIS 2RSE Mol 30,000 WESE L= _

15[ 00210 - N o 223 S4CMS
1?6 707 | NISAS SRASE JHol N 10,000 |HIXES22Z S 5CMS
o . Koxx -

0’| 20210707 [N AEl =2 E Hol 10,000 |HIX=E=22 = i
116[ 20210 N _ TES E4CMS
(o] = =o j— -

1}6 707 | XIAIE £33 ol N 50,000 | HIXES22 S ACMS
B — A x* <
1$6 0210708 | KIKAIS| S/A2E ol N N 10,000 |HIX=E=22 S H0MS
B . 2 x* -

1?6 0210709 |XISAtE] 2SS ol N 5,000 M EELE
5 . O] **
4| 20210709 | XIoiAIE) 2R3 E Mol N 10,000 |HIXE=22
16| 50210709 | Kt Al3] = B —
15136 XISALE SR = ol N 10,000 | HIX=E=22
5 —__ Olbxx
&l 20210712 | It AtEl =E2E JHol 10,000 | HIX=E=22
116 00210712 | KItAlSl = h S —
7 2 | XA 2= Mol 30,000 |HIX==2
T8 20010712 | 1ol = N Of -
8 KNEA2 2J33 JHol N 10,000 HXEZ=Z
116) 00010712 | X AlSl = A Ol —
9 ENCELE Mol N 10,000 |HINZEZAS
171 0210712 | K12t AE] = Ol —
ﬁ7 9N SRSS ol N 10,000 |HIXZ=22
20 Sl S22 ‘1!-**
1% 210713 | XIYAle 2225 ol N 10,000 | HIXE=2=2
20 = S g!-**
1127 210714 | XIZAIE ER2E Hol N 10,000 | HIX=E=2=2
5 . & %%
1?7 0210714 | KI€AIS| S/A2E JHol N N 10,000 | HIX=E=222 S HOMS
20210714 | NI AlE| B2 e —
4 | AlS| B 5,0 =
il B N Kl 000 | BINE=AS | S80MS
10,000 |HIXI==2=2 S 4CMS
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NO. @%% S22 = =
— e AL E%‘mxgl% P E=T=S]
— & S2%
5’| 20210715 | XItArE) 2RBE Mol - o } L= =% OZEHRY
171 00210715 | X AlE| = h e . =
1?7 5| XIciAG s22 Mol N 10,000 | HIX=E=22=
o . LTS
1177 0210716 | X2 AlS| B22= Mol N 10,000 |HIX=E=22
5 I Q**
1?7 0210716 | KIS Al SA2E ol N N 10,000 |HIXE=22 = HOMS
2 S S —J‘—E'** -
1?8 0210719 [XISGAte] 233 ol N 10,000 |HIXX=2=2 S4CMS
5 R 2xx -
1?8 0210719 | XA S/A2E ol N N 10.000 |HIXE=22 = HOMS
5 . = <
118 0210719 | KA S/A2E JHol N 10,000 |HIX=E=22 S H0MS
5 —__ Bhx -
1128 0210719 | KIS A S/A2E el N 20.000 | HINE=Z
5 —__ O] **
1?8 0210719 | K2 AIS| Sei=2= Mol N 10,000 | HIX=EE22=
5 —__ Sxx
4| 20210720 | XIS 2B E ol N 10,000 | HIX=E=22
IE S— N 2wk -
5 0 | KIGAtsl =3=3 ol N 10,000 HXE=A=
18] 50210720 | KItAlS] = A s —
6 NIV Y- BT N 10,000 | BINES2S
T18] 50910720 | K12t Ara] = N Sxx -
7 KNEA2 2J33 O] 2FCHR| N 92,500 HXEEAZ
1181 50210720 | X1 AlE| & A i —
8 XoiAs A2 Hel N 10,000 | BINESHAS
T8 2001070 (510021 = S -
1?9 1 | XI2Ate B22= ol N N 10,000 | HIX=E=2=2
20 Sl S22 _JTE**
0 210721 | KNIYGAts 2238 ol N 10,000 |HIXX==Z
119 00210721 | XItALSl = A = —
N NoAE 223E | Jhel N 10,000 | HINE22AS
5 . Toxk
1$9 0210721 | XIAIS| ER2= JHol N 10,000 | HIX=E=222
5 —__ TH**
37| 20210722 | XIS 2B E Mol N 10,000 | HIX=EE2
N [ L )
O] **
10,000 |HIXI==2=2
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No.| olmig sazs saxqe |22 | JISSEH sa7 Lol 2o oEHR
e o
1219 20210722 | XAl BRI2= Hel N [ 10,000 |HIx=saz =
‘}39 20210722 | KICiAtS] E212= Mol N N 2wk 30,000 | HIXES=
1259 20210722 | XI2AIS] B2 = Hel N Bhax 5000 |HXESA2 S4CMS
”79 20210723 | KICiAlE] B2 el N N 51 % 10,000 |HIx=s2= S4CMS
1339 20210723 | XI2AIS] B2 = Hel N 2le 30,000 |HIXEsa=
159 20210723 | KICiAtE] B2 Mol N 0] # 10,000 |Hx=s2=
130 20210723 | KICiAtS] 22122 el N 0] # 10,000 |HIx=s2=
1$O 20210723 | XI2tAtS] B2 = el N 0l %+ 10,000 |HIx=saz
130 20210723 | KICiAtS] 22122 Mol N E—— 10,000 |HIx=s2=2
150 20210723 | KICiAtS] E212= el N Fxx 10,000 |HIx=s2=2
120 20210725 | KICiAtS] B2 Mol N N Obs 20,000 |HIXN=E=Z
%O 20210726 | XICiAlS] E212= el N N 2k 10,000 |HIx=sa=2
120 20210726 | KI2iAIE] B22= Mol N Ol wx 10,000 |HIN=ESg=
1§0 20210726 | XIZAIS| B2 = Mol N 0]+ 10,000 | BIXIREZ
‘go 20210726 | KICiAIE] B2 Mol N Lk 10,000 |Hx=sa=z
‘SO 20210726 | KICiAtS] E212= el N S 10,000 |Hix=aaz
131 20210726 | KI2IAIE B2 Mol N N 0l %+ 20.000 |HIXNE=Z
‘121 20210726 | KICIAIS] E212= Mol N Swx 10,000 |HIx=s2=
1%‘ 20210726 | XIZAIS| B2 = el N N Dk 30,000 |HIXESS
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NO. @%% S22 = —
— SR3ER AR RE E%‘mxgl% IR SEH
— L sax
1; 20210726 | XIS AlEl 222 E Jyel NT 01NT F LH S EEARY
o . T x*
21 20210726 | NIAIEl 2R2E Sl N 0.000 |HITIZ=212
1211 00010726 | X1 AE| = B —
5 X AIS SRADE Jhel N 30.000 | HIX==a=2
2T 20m 10706 | o3 = Of xx -
6 KNEA2 2 A3E Kol 10,000 HXEEA2
1211 00010726 | X1 AE| 2 h S —
z 6 |XAts s Sl N 10000 |HiTm=s=
121[ 5021072 — N ik -
8 6 | KNSAtsl SR =5 Kol 30,000 HAXEZ=|Z
] vy prpopp N S B
5 6 |XAtE sR=E el N 30,000 | HIX==a=2
122 50010726 | LI A S| = N B —
0 6 |NAE SRZE| Kol 10,000 | BINZE2RS
1221 50210726 | K12t ALEl = h = —
1 6| XA sRIRE el N 00.000 | HIXE=a2
122] 50210726 | It Al3] = A e —
D NSAE 225 ol 10,000 |HIXIZE22
122 20310720 | ol = N Of B
122 6 |XAtE SRR Jhol y 0.000 |HITZ=212
o . PL**
22| 20210726 | XIMEl 2RSZ S0l N 30.000 | HIX==a=2
122 50010726 | X AtSl = K —
5 oAlEl SRZE| K N 10,000 | BINZE=2R3
122 50010726 | X1 AE| = A e —
122 NG CES el N 10000 |HITm=s=
o R Hxx
22| 20210726 | NIAIEl 22 E Tl N 10,000 | Bixmsa=
122 50010726 | X AlSl = Ol —
8 ENCECEE ol N 10000 |HiTm=s=
1221 20010726 | X121 AF3] = A o —
123 KNSAte =323 Jyol N 10,000 HIXE=E=
B — Of**
23] 20210726 | NIAIBl 22 E Sl N 10,000 | BiRms=
123| 50210726 | KIt Al3] = A S —
1 6 |XAts s ol N 10000 |HiTm=s=
O] **
20.000 | HIXHE=
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NO @%% == = —
— SR3ER AR RE E%‘mxgl% IR SEH
— L sax
23 20210726 | K ALS) 2RIDE Jhol - o } L= 2o IZHEY
123] 00010726 | X1 AtE| = h Ol . =
3 6 | KNG Atel SRS Kol N 20,000 HXE=A=
123] 00010726 | X1 AtE| = B —
a ENEECEE: Jhel N 10000 |BIXm=s=
723 20m 10706 | o2 = N T xx -
15233 NN CEE ol N 10,000 |Himz=a=
2 = S -_rl‘_-l**
23 20210726 | K ALS) 2RIDE Syl 10000 |BIXm==
2] 0310720 | 1ol = N S, i
1;3 6| XIciAE 2= Mol N N 30,000 | HIXE=sa=
o . S**
23 20210726 | M MEl 2RSE Jhol N 10000 |BIXm==
123) 50010726 | LI AE| = S —
9 6 |NAE SRZE| Kol 10,000 | BINZE2RS
124 20210726 ol ALE| = N P AQ|AA =
0 NN S22 E Hol N S0+ 20,000 | NESA3
124 50010707 | LI A S| = i —
i 7| neas saE|  oje 10,000 | BIXIZ=2AZ
2] 505 0727 | Mo ial = N 0% -
2 7 | KNGA2 SAS3 ol 10,000 HXE=A=
124 00210727 | KItAlS] = " A G —
5 NENEECEE: JHel N 00.000 | HNE=sa=
28 oa10707 | o a = e -
4 7| xiens szE| oo N 10,000 | HIXNZ=AZ
1241 50010727 | X1 AE| 2 A = —
5 ENEECEE: ol N 77810 | Hiumsa=
1241 50010727 | KISt AE] = A Ol —
é4 9N SRSS ol N 20,000 |HIXIZ=2=
20 Sl S22 O|**
7 210728 | KIYAts 2238 ol N 10,000 |HIXX==Z
124 50210728 | X1t AlSl = A S —
8 XAt SRBE Mol 10,000 |HIXIZ=&Z 54
oA N N " S22 SHCMS
9 AN Sl 10,000 |HIXIZ=22 = A
1 N N " 223 SHCMS
0 PN — 10 =2
£ opel N N o 000 |HIXIES|3 S4CMS
10,000 |HIXIZ=E= S4CMS
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— SR3ER AR RE E%‘mxgl% IR SEH
— 5 s2x
25 00210728 | NeiAE 2REE| b v — } 45 2% | mEAgy
125 50010728 | X1 Al = A Ol
155 INE-PNSCE= = pel N N 10,000 | HIXIAZ
— 2 oxx
1251 50210728 | 1= A3l = h A o -
11215 8 | KIFAIS =323 Kol N N 10,000 HIXES
— INELS
25 20210728 | X% AIEl SBE Jhol 10,000 | HIx==
125 20210728 | X2t Abel = h 2
6 8 | NISAtel =2 =3 ol 10,000 | HIXIAZ
1251 50210728 | X1 A3l = h A =
7 AR ENCEEEE Jhol N 20,000 |HIXIZE=
125 20210728 | KI2Ab3] = h S
125 8 | KIZAE 2233 ol N N 20,000 |HIXIZ=
o . Hxx
126 0210728 | Xt AtS) =212= Mol N 30000 |HIKN==S =
o . 2 xx
1(2)6 0210728 | I AtSl 2122 Jhol N 10,000 |HIx== =
o . O] **
26| 20210728 | M2AEl SR S0l 00.000 |HBIX== =
126 50210728 | KIt AlS] = h = -
2 8 |XIcinE SAIE| M 10,000 | HIXIES 5
28] 20210728 |10t ] = N ST, _ =
3 8 | NG Atel SRAZ3 JHol 10,000 NEs22 =
126| 50010728 | K| Al = h e — -
4 8 |xoiAE 2= Mol N 10,000 | x==2= _
126 2021072 o — — O|** — o k=3
126 8 |XoiAtel =2 E ol N 10,000 | XNF=E3 5
20 Sl S22 O|**
5 210728 | KIYAts 2238 ol N 10,000 |HIXX==Z =
126 50210728 | XItAlSl = A S - -
7 8 [KIFAE SRS Jyol N 10,000 HIXIE= =1
26 30310708 |70 13l = 5 =
8 NSAe S R=S JHol N 10,000 HIXIE= =
126 50210728 | Kt Al3l = A Elrr -
9 8 | KIGAtsl = 3= ol N 10,000 HIXI&E= =
N O %% - =
10,000 | xE=az Z
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NO. @%% S22 = —
— SASER sANTE Eé‘mxglrs IS S Z
o7l 20010728 | Netvel 5 - = o EE el Son —
127 - N N ES —
’ —_ Kb x*
1 0210728 | XIZ Al S22= JHol N 5,000 HIXIE
127] 00210728 | Kt Al = " =
> NoAs 2832 | e N 5000 | HIX=Z
127} 20210728 | T2 AtEl 2 " =
ol 8 |xeias so2E | el N 5,000 | BINZ=
—— & x*
27) 20210728 | KIMEl 2RSE Syl N 5000 | Mm= —
127 5021072 o ilm = N Hxx =
5 8 | KNG Ae =322 Kol 10,000 HIXI&E= =
127} 20210728 | X1 A3l = " h o -
6 8 |xeiats 2rzE| o N 10,000 | BINZ s
1271 50010728 | K1t AtEl = " s -
7 8| XM =azE | jol 10,000 | HIXIZ =
127\ 20010728 | X1t Al = h " M -
127 N Ats 222Z| ol N 10,000 | BIXIE &
— 2 xx
128 2021072 o = = N TRk =
128 8 |XNIGAlE SR2E ol N 10,000 | HIXIH s
— & x*
28 20210726 | KIoAiE 2S5 e 10,000 | BIXI —
128| 20010728 | It Al = h B -
2 8 | NG Atel SRAZ3 JHol 10,000 HI XA =
128| 20010728 | X1 Al 2 " il -
3 8 |xieAs saazE el N 10,000 | HIXI= -
128] 90210728 | X2t Abel = L .
138 8 |XNSEAS =R/2E ol N 10,000 | HIXIA =
2 S =2 D:Jl**
128 0210728 | KI2iAtel B2 E Jhol N 10,000 | BIXIS s
— &l x*
28| 20210728 | NtAIEl 2R2E S0l N 10,000 | HIXI= "
128| 20010728 | X1t Al = o -
7 NEINEC LT BT y 10,000 | HIXZ 5
128] 00210728 | X1 Al & s -
5 8 |x2AE =RaE | Jjol 10,000 | HIXZ =
N A xex - =
20,000 | HIXIA =
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EEE

128 20210728 | KIS AtEl 2R2E ol N 2k 10,000 |HIXIZ=

129 20210728 | T MEl 2R2E | o2 N N (x 100,000 | HIXI®E

129 20210728 | K2 AtE) 228 Hel N Ol 10,000 |HIXIN=

129] 20210728 | TIiMEl 2R2E JHol N =1 10,000 | XNZs2AZ =
129 20210728 | T MEl 2R2E | ol2re N v (s 100,000 | HIXIN=E =
129 20210728 | X1t MEl 2228 JHol N N =1 10,000 |HIX=ES =
129 20210728 | T MEl 2228 Hol N N =1 10,000 |HIXEE =
129 20210728 | KIS AtSl 2R2E Jhe! N N . 10,000 | HIKNE= s
129 20210728 | T MEl 2228 Hol N N P 50,000 |HIXES =
129 20210728 | KIS AtSl 2R2E JHol N N - 10,000 |HIXIZ= s
129 20210728 | X1 MEl 2228 Hol N Ol 5000 | XNZs2=2 =
1301 20210728 | T M3l 2R2E JHol N 2k 5000 | XNZs2= s
1301 20210728 | 12 Mal 22128 JHol N =1 20,000 |HIXHS

1301 20210728 | T MEl 2R2E JHol N Shex 10,000 | HIKE=

120 20210729 | TIetMEl 2128 JHol N S 20,000 |HIXHS

1201 20210730 | T M3l 2R2E ol N L 20,000 |HIX==S

1201 20210730 | Kot MEl 2RI2E Hol N N =1 20,000 |HIXES

1201 20210730 | T MEl 2228 Hol N Ol 10,000 | NF=aA=

130 20210730 | KI%iAtel 2R2E ol N 2k 10,000 |HIXIZES
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NO. @%% sSQAA=E=2 _
730] , aazs | sanze [T |NREA .
8 0210730 | XIS9Ate =]22 R - VE] SAX e
130 el N - S DEHE
5| 20210802 | XIiAIE) =2 E o =AHBE b2
= =5 Jhol N 10,000 NE=3=3 =
5’| 20210802 | X AIE) ER2Z " Qo 23 S4CMS
131 RSl N 10,000 XS
1 20210802 | K¢ Alg &E=2= o O »= d=ds
131 - ! 10,000 sq
311 20210802 | X1t ArSl ERDE N N olon e
Fooo JH el 5,0 =
131 N ,000 EEERE]
4| 20210802 | XISiAIS) RSB E JHol i e S4CMS
= = N 100,000 | HIXE== _
731] 5 et N N 10,000 | BIXIZEA3 _
2'| 20210802 | XI2Ar2l =RIZE ol B wx ce S4CMS
131 - N 30,000 |HIXIEEL _
21 20210802 | NI AEl 2HBE o N 1P EEE = HOMS
73], He! N N 00.000 |HIXmEaZ _
51| 20210802 | XIiMEl 2R E e Ol — =ECMS
137 o0 el N N 30,000 |HIXNHEAZ ;
o'| 20210802 | X ArEl =RIZE o o - = EOMS
132] He! N - 10,000 |HIXIZ=R2 Z
o¢| 20210803 | XIS AtEl =RIZE|  JHe e — =E0M
=5 Hol N 10,000 | HIXE=22
27| 20210805 | X ALE FEI2E R -
= == ol N 50,000 M EELE
2 20210805 | K| Alg &S22= Jho Sxx I
132 - : 10,000 =2
52| 20210805 | X% Arel 2122 " N 0% X323
= == ol N 10,000 HA RS2
132 i ¢ 5,000 =2
32| 20210805 | XIiALSl BRBE ! N - Biissds
25 == JHol N 5,000 NEERE
5] 20210806 | N AIE| 2RSE Bhex eREa
T o oS
Mol N — 10,000 | HIXNEEA2
Loxk ==
10,000 |HINESAZ
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No. o 2lal =9o|a= _
— SA3ER sANRE E%‘mxgl% JIEZEHA
- & EEPY
27| 20210809 | KiGiAtEl 2RSS JHel NT e J e 3 EENZY
132| 20210809 | XI AlE| = e - =
122 9 |NIGAtE S22 ol N Ny 30,000 NE=R3 SA4CMS
P . — o Fr* =
123 0210809 | XISiAlS| B2 = Mol N N 5000 |HIXXsw= = HOMS
o . Bhxx <
5°| 20210809 | X%t AtEl =22 Mol 20,000 |HIXIZ=a= =
733 202108 - N 0% TEe 24CMS
1;3 09 | XA 22 JHol N 10,000 | HINE=22
o R Rxx
5°| 20210809 | NI AIEl =23 E Mol 10.000 |HIXE=22
133| 20210809 | XI2t Al = " A = —
123 NAAS SRS S Jhol N 5000 |HIXZEZA23
o - Obxx
2| 20210809 | XIotArE) 2B E JHol 10,000 | HIX=E=2=2
183| 20210809 | XI2t Al = " A S —
5 XIAIS ERA2E JHol N 20,000 |HIX=R=2
1381 20210809 | X1 AtEl = A i —
1% NSAS 2SS ol N . 50,000 |HIXASA2 SA4CMS
o . O] ** =
2°[ 20210809 | X% AtEl =3B Mol 10,000 |HIXE=22 = A
s e — N N o 23 54CMS
123 09 |NIGAtel =S8 ol N 5,000 HXNE=R= SAHCMS
o L S r* =
124 0210809 | XISAIS| ZRA2 = Mol N 10,000 |HIXE=22 = HOMS
P - Kokx =
5| 20210809 | XISt AlEl 2222 Mol 10,000 |HIXE=22 = A
1341 202108 " . TES | SOOW
ol il=s =0 =
1;4 09 | XISAtE S2E ol N 50,000 |HIXNIZEAZ = HOMS
2 Sl S22 }\—I** -
5 20210809 | I AIE| 2222 Mol 10,000 |HINZEAZ — A
I Pv—— —— N o S22 54CMS
124 9 [XIYALS =22E ol N . 10,000 |HIXEE=22 S A4CMS
P o — o Rxx =
134 0210809 | XIAIS| ZRA2 = Mol N N 10,000 |HIXE=22 S HOMS
00210809 | KISiAIS] =2 e ~
5 |HALS SR/2E 40,000 s9
= Mol N y o SIPNESESESE E4CMS
10,000 |HINZEAZ S H0MS
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No. o 2lal == = =
= SHU3ER saxne |2RWIE | ITQEA
— o =X
24 20210809 | I AIEl 22BE Mol - o } L= S EZEAEY
1341 50210809 | X1 Al = s h G . —
1;4 9 | NIY9AlE S/IZ2E Kol N N 10,000 HXNEZ=JA= SA4CMS
— x| x* -
184] 502108 _ N O« — SECW
5 10 [Xotasl 223% |  JHol 10,000 | HIXE==S
1350 50010810 | K1t AtEl = - o p—
0 NENWEREE el N 10,000 |HIXNZ=RAZ
135| 5021081 — N 0] * —
1 1| XAs 2R3E| N N 10,000 | BINE=#=
135) 20210812 | X1 Al = o e
1:235 XAt 2/A2E ol N 10,000 |HIXXS22
’ — & **
125 0210812 | KIGALSl 2R3 ol N 10,000 | HIX®EE=22 SACMS
5 — Hxx -
1350 50010813 | K1t AtEl = " o e
125 KGNS SRSE Mol N N 5000 |HIXIBZRAZ S4CMS
5 —— | ** -
135 0210813 | NIAIS 2212 = Jhol N 10.000 |HN==s2 5 HCMS
” — Kl x* -
1;5 0210813 | I AIS| =212 = I y 10,000 |Hixm=a= & HOMS
5 ——— Bhxx -
125 0210817 | RIAISl 2212 = Jhol N 10.000 |HN==22
” — 0| *=
126 0210817 | NS A3l 2R s N 10,000 |HX==2A2
’ — LTS
3 20210817 | NSt AE 2REE e 10,000 |HIXZ=a2
136| 20010817 | X2 AlE| 2 h ™ .
1;6 AVEVCECES ol N 10,000 | BINE@===
20 5 = g
30| 20210817 | NI M3l 2R2E I y 10.000 |HN===
136] 20210819 | X1 Atal = o e
3 NEWCET= =3 B 1] N 20,000 | 8IXE=#=
136] 20210819 | X1 At8l B2 = -
HAlS| EHDE 10, =) =
= JH el N N - 000 HXNEZ=EAS SACMS
10,000 |HX==22 5H0MS
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NO. @%% S22 = —
— SR3ER AR RE E%‘mxgl% IR SEH
_ - (0:)= S2AX
126 20210820 | XIS ALS| 22 = ol - < Lyt = TENRY
o . Exx
126 0210820 | KISiAlE| 212z Sl N 10,000 | Bims=
20 Sl S22 O|**
126 010820 | XIS AE B2I2= el N 10000 |HiTm=s=
o o Ol xx
g | 20210820 | XIHAtEl SRS S ol N 10,000 L
136] 00210820 | X1 AtSl = Ol —
9 ENCELES ol N 10000 |HiTm=s=
137[ 2021082 — N 2wk -
0 0 [KI¥ALS S22E Kol N 10,000 |HIX®EE=22
137} 00010820 | X1 AHE| = N = —
1 KSAAS =322 ol N 10,000 BIXIEZAZ
7 20m10800 | 1o rral = 2 -
2 0 |Xicirs 2aEE| w2e N 10,000 |HIXIZY=RAZ
1371 00010820 | X1 AHE| = N e —
3 XAlE B2DE el N 10000 |HiTm=s=
137) 20210823 | KItAlB] = e —
137 NeAE 2238 Hol N 10,000 |HINESRA3
o . Toxk
127 0210823 | XI2i A S 212= ol N 10,000 | BiRmss=
o — K **
371 20210823 | NtArEl £R2E Sl 10000 |HiTm=s=
7] 20210523 | 0ot a1 = N N O -
127 3| XA EoaE Mol N N 10,000 | BiRms=
2 S S _JTC"**
371 20210823 | Kt Atsl 2222 Jhol N 10000 |HITm=s=
137[ 0021082 — N 2%k -
9 3| oA SRZE| K N 30,000 |HINE=LI
138] 00010823 | K| Al = A = —
0 NG CES JHol N 10000 |HiTm=s=
138| 20210825 | X143l & = —
1 5| XoAls B2 Mol N 10,000 | Bixmsa=
138] 00010825 | K|t AtE| = N Bl —
> ETCE e ol N 10,000 | BiRms=
138| 50010825 | Xt AF3] = i —
3 5 | XIGAtsl =333 ol N 10,000 HAEZAZ
10,000 |HIXIEES
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NO. @%% = 2 = —
— e AL E%‘mxgl% P E=T=S]
— & sax
2| 20210825 | XISiAtel =35 JHel NT e J e 3 EENZY
138[ 5021082 O N O xx =
128 5 X% Atel S =5 Kol N 10,000 HXE=AAZ
o . Ob*=*
5 | 20210825 | XI%iALS] 2233 Mol 10,000 |HIXEZAZ
EC: wopwwen prpoppn N N e -
7 5| xioiAE 2 Mol N 10,000 |Himz=a=
138 50010825 | K|t AlSl = A o —
128 XA SRS Sl N 00,000 | HNE=a=
o — Hxx
38| 20210825 | ItAIEl 22 E Sl 10,000 |Bimm=a=
T 20010005 | ol = N N Bt xx -
1g9 5| XQAS SRUSE hel N N 10,000 | HIXZE2Z2
o . Sxx
1;9 0210825 | I AS] 22 = ol N 10,000 | Bimsa=
o _ Hxx
391 20210825 | NAIEl 2R2E ol N 10000 |HiTm=s=
139 90210825 | Kt AlSl = = —
129 NENEECEE: Mol N - 30,000 | HIX==a=
2 o NEE 2
29| 20210825 | NAIEl 2R E Jiol £0.000 | HIXE=a=
139) 50010825 | X1t L3I = h S —
5 5| XAte s Sl 30.000 | BRE=sa=
790 20910808 | 1o pral = N Lxx -
6 5 | XA 2225 JHol N 20,000 |HIXEE22
139 50010825 | K|t AlSl = A = —
7 NG CES Mol N 30,000 | HRE=a=
139 0021082 — N X xx -
8 5|XoAE SRZE| K N 10,000 | BINE2RAS
139 50010825 | K1t AlSl = A B —
9 NG CES Hol N 10000 |HIXmE=
140 50210825 | X1t AlSl = = —
0 X =AIS SADE Mol N 30,000 | HIXE=a=
40| 20910005 | 1ol = N o -
1 5| XS Atel SRS Kol N 10,000 HXE=A=
1401 54010805 | X1t AF3] = S —
5 5| XAte s ol N 10000 |BIXm=s=
Exx
10,000 |HIXIEES
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No.| SEg =g o=
o 2 2A3EE SAxRE Egmxglf'd IS S
— o sax
5 | 20210825 | XISiAts] = R3S JHol NT e J i< =Yl P
1401 20010825 | It Al = S
4 5 KNG Atz 2333 JHol 10,000 HIXI &=
140| 00010825 | XIt ASl = " T —
120 5 XA S/2E Jpel N 20,000 NE=E
2 ) = o — Of *x
a°| 20210825 | M AIE| £R2E Mol 20,000 | HIXIES
1401 20010825 | 12t A3l = " N Oxx
7 5 | XNIGAS 22232 ol 20,000 HIXES
140 5021082 o ilm = N =Xy il
8 5 [Nz 222 Kol 10,000 BIX&E=
140 5021082 o1 a2 N PLoxx Bl
9 5 XGAS 223 JHol 30,000 HIXI &S
141 2021082 e = N 2xx il
121 5 XGAtel 233 ol N 30,000 HI X &=
2 =- Epex
1:11 0210826 | XI%AIS| S22 JHol N 10,000 | HIXI®S
- = INERS
5| 20210826 | XAl 2R2E Mol 10.000 | HIXIZ=S
141 2021082 o o N TTk*k Bl
121 6 | KIEAS =323 JHol N 10,000 HIX &S
o o — S**
4| 20210826 | XIHAIE| 2R2E JHol 10,000 | HIXI®=
141] 50210826 | K12 AF3| = h N =
121 6 [N 2RSS JHol N 30,000 HIXIE=
o o S**
5| 20210826 | K% AISl 23S Mol N 900.000 | X==a=
141 2021082 e = N Sxx —7
14711 6 |[KGAtel S S ol N 10,000 |HIXIEZ
2 2 =o Of**
121 0210826 | XIFAIE] SR SS JHol N 10,000 | HIXIAEZ
2 = =o O x*
132 0210826 | XIGAIS| SRS E Jhol N 20,000 |HIXI¥=
2 - 0%
5| 20210827 | KX AlEl 22 E Mol N 20,000 |HIXI®ES
192 00210827 | K AtEl = Ol
1 |[FAE 2 RAZSS ol N 10,000 HI X &=
Dok
20,000 |HIXIXS
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
122] 20210827 | NI M3l 2R2E Hol N 2k 10,000 |HIXIZ=2= S5CMS
132] 20210827 | T MEl 2228 JHol N S 10,000 |HIXZEAZ SHCMS
192 20210827 | I Atel 228 Hol N Rl 10,000 |HIXIZ=R= & 4CMS
132 20210827 | M1 MEl 2228 JHol N =1 10,000 |HIX=EAZ S5CMS
1921 20210827 | NI M3l 2R2E JHol N Lbis 10,000 |HIXIZ=R= S45CMS
192 20210827 | X1t MEl 2228 JHol N Lwx 10,000 |HIXIZERZ S5CMS
192] 20210827 | T M3l 2228 JHol N Bt 10,000 |HIXN=EAZ SHCMS
192 20210827 | KIS Atel 2R2E Jhe! N ok 10,000 |HINESAZ S4CMS
199 20210827 | T MEl 2228 ol N =1 10,000 |HIXIZER=

149 20210827 | TIoiAtel 228 Hol N 0l 10,000 |HIN==2A2

133 20210827 | Xt MEl 228 JHol N N 0l 20,000 |HIXZEAZ

133 20210827 | XIS AtEl 2R2E Hol N N Al 20,000 |HIXZSAZ

179 20210827 | 1o MEl 22128 Hol N =1 10,000 |HIXXEAZ S5CMS
133 20210827 | ToiAtEl 2R2E |  oed N N (xx 100,000 | HINESAR 545CMS
193 20210827 | XIeMEl 2228 Hol N N B 5000 |HIXNES2Z S5CMS
129 20210827 | T M3l 2R2E Hol N N =P 5000 |HIXNmsaz S4CMS
193 20210827 | X1t MEl 22128 Hol N Rk 5000 | N™=A2 SHCMS
199 20210827 | T MEl 228 JHol N N O 10,000 |HIX=EAZ S4CMS
194 20210827 | KIS AtSl 2R2E Jhe! N N . 10,000 |HIXIZ=2= S5CMS
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No. o 2lal == = =
= SA3ER s E%‘mxgl% IEEEY]
— ik S2AX

[ 20210827 | XX Atsl 23S JHel NT e J e 3 EENZY

1441 50210827 | X1 Al = h =" .

> 7| xeAE 2R3 Kol N 10,000 | BINE=#=

144) 50010827 | K2 ALE| = h e =

3 [S9ALS S R2SE ol 10,000 | HIXARZ22

T4 pop 10807 | Hotnie = N N 2w —

) APEVEECEE- 1 BT 20,000 | HINE==S

144) 50210827 | Kt AS] = h " il .

T4 oar0m07 | ol = N N & w — -

6 APEVEECEE- 1 BT 20000 | 8INE=ES | =

1441 50210827 | X1 A3l = - h = e =

7 7| eimE =R2E| Ohe N 10,000 | BINS=#= =

144 50010827 | XISt ASl & " = - .

8 NENEETEET BT N 10000 |BINFSAS | B

1441 50210827 | X1 Al = " = e .

9 7 |XeiAE 2R2E| Mol N 10,000 | v @==3 =

1451 20210827 | It Al = " o e .

5 7 | Keinsl s2a= Mol 10,000 | HINE=ES 5

45| 0310807 | 1ol = N N = w — -

1 AREVEECEE- 1 BT 50.000 |8INE=ES | =

145 20210827 | XISt Al & - " ;1** . .

5 7 | Ketnsl s22= ol 10,000 | BINE=2= 5

145] 20210827 | I Al = h h M e .

5 AP EVCECEE ol N 10,000 |HIN=SAZ —

145] 50010827 | KIt ASl = " o e =

4 7| NeAE =3B e N 10,000 | BINE=HS &

T45[ 0001082 — N Sk — -

1% 7 | NSAe S =3 Kol N N 10,000 BIXE=R= a

0 — O] *=

%l 20210827 | KoAEl RSE | JHol N 10000 |BINE=AZ | =

145| 20210827 | X1t AVSl = " ll e .

7 ULy T N 10000 |BINZ=RES | B

1451 20210827 | X1 Al = h o e =

8 7| eine sa2E | Jpe N 10,000 | wiNE==3 =

145 2021 082 " — N X|** = o =2

S 7| xene szE| e N 10,000 | HIXE=HI 5
%** Z o k=3

10,000 |HIXNE= =
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T saAx 7L Eemxgl% JIE S ==
16| 20210827 | I MEl 2R2E = o EE e
e jHol = 2 0H
146 = N S% | BEASS
1 20210827 | KI®AlS] S=2Z O ** S
= = e Kol 20,00 =
146 5 N 000 |HIXZZAZ
2| 20210827 | KIiArEl BREE| Ko =
5 Hol N 10,000 |HIXIZSZ
30| 20210827 | xIGt Azl RSB S
18] N - , NEELE
20| 20210827 TGt ArEl 22 ki
146 N : NEELE —
20| 20210827 | Xt AtEl 22 o -
146| 5 N : NEE22 =
9| 20010827 |HIiMEl 2R2E Ol =
Fo oo jHO| 10,00 =
146] N 000 | XEZAZ =
78] , N N , NEELE! —
46| 20210827 | M MEl 2RSE - Bt s
TP Hol N 10,000 |HIXIRSZ —
0| 20210827 | XMl 2RIZE | fel = -
2 ! N 10,000 |HIXIZSZ —
471 20210827 | NSNSl 2R2E o 2 -
[P Hol N 10,000 |HIXIZERZ =
171 20210827 | XI%AtE) 2RBE | Ko = -
L 1ol y 10,000 |HIXIZSZ "
A7) 20210827 |XIMEl 2RSE ol 2 -
e 1ol N - 20,000 | HIX==a2 —
3 0210827 | XIY9AlS /2= _ & =
147 = N Y ’ NEZ=3= -
77| 20210827 | xIciAre) SRBE (% 2 =
7 =3 Kol N 100,000 | HIXIA=LZ —
5 | 20210827 | XNIAALSl 2SS o 2k =]
e qol N 10,000 | NH=A2 -
271 20210830 | XISiALS) 2RDE Shol = -
147, H N N 10000 |uINS=ES | =
471 20210830 | XA BRIBE|  JHO =" -
147[ 5 e N N 20.000 | HIAS=E=
&/ 20210830 | XItArEl SRBE | Hel il
! N 20,000 | HIXE=22
Hhxx -7
10,000 |HIXIZEAZ —
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NO. @%% sSQAA=E=2 _
i, eesw saxze 2L |5 RS _
9 0210830 | XIS9Ats =]22 R - VE] SAX e
48], el N - 3 | EZFENNY
0 20210830 | XISiALEl 2 ESE S ST, S HID
48] g el N £0.000 | HIXE=a= _
148 5 N N ,000 NEsA2 _
5| 20210830 | KISiALEl 23S 5 2 k= S4CMS
T8 JHel N 5,000 M EELE _
5] 20210830 | KISiAtel =2 3S 0l %+ e 2ECMS
HEH== JHel 10 —
148[ , N ,000 =z
4| 20210831 | N AIS| 2223 & -
148 —c= Hel N 10,000 N EELE]
20| 20210831 | M AIE| ZRA2E " N 0% Hsel
148 oo [e]] 5’000 —o
5| 20210901 | XISiALEl 2SS " N o I EELE
148 —~ ! 10,000 so
771 20210901 | XI%ALEl 2 RSE " N e M EELE
148 cc= el 10,000 =o
5| 20210901 |XIHAEl 22 3E _ N olen EELE
148 7 ! 10,000 =9
§°| 20210001 | XItAEl 22 - N N B Biig=as
5 A2 3 ol N 10,000 HXRSS _
9 20210001 |TIZMEl BRBE|  JHe " o — SO
749] 5 el N 30,000 | HIX==a= —
1 210901 | KNIYAlE &s22= Gk =5 2 8CMS
T oo jHOl
149 500 N 5000 |HX=E=EaZ —
2 10902 | KIYAlS S2= Coxx ] S4dCMS
sH=s el 10 _
1391 202 N Z 000 |HIXIES®2 _
4| 20210002 | XIHAE| 2R 3E o O wx sTeES S4CMS
149 - N 10,000 |HIXIZES -
£ | 20210902 | XISiAS] 222 e N 2wk INE=23 S4CMS
149 N 20,000 HX RS2 _
5 o122 Jhel N N 30,000 |HIXIZE2Z _
7°1 20210002 | W AIE) 2RSE S °Tee S4CMS
Fooo ]HOl 10.0 _
N 000 | HIX&ES2Z _
Bl TeEe S48CMS
100,000 so
HIXIES22 S4CMS
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
199 20210003 | % AtEl 2R2E Hol N S 50,000 |BIXX=22

199 20210006 | T MEl 228 JHol N S 10,000 |HIXZEAZ

190 20210006 | X2 AtSl 228 Hel N L 10,000 |HIXIZ=R=

1901 20210006 | TI2 M3l 22128 JHol N =1 5000 |HINZS2Z

1301 20210906 | T M3l 2R2E JHol N N Lk 5000 |HIX=S2Z

1201 20210906 | X1t MEl 228 JHol N S 10,000 |HIXIZERZ

1201 20210007 | W1 M3l 228 JHol N N L 20,000 |HIXZEAZ

120 20210008 | XIoiAtel 2R2E Jhe! N N =1 5000 |HIXNm=a=

1201 20210908 | 11 MEl 2228 Hol N P 10,000 |HIXIZER= 54CMS
1901 20210008 | XI%AtEl 2R2E Hol N P 10,000 |HIN==2A2 SHCMS
1201 20210908 | X1 MEl 228 Hol N e 10,000 |HIXIZ=R2 S5CMS
130 20210008 | XI%iAtEl 2R2E JHol N Sk 10,000 |HIXIZ=R= &4CMS
1311 20210008 | TI2MEl 22128 Hol N e 30,000 | NH=22 S5CMS
121 20210008 | T MEl 22128 JHol N N g 10,000 |HIXIZ=R= S4CMS
151 20210008 | Mot Arel 2228 JHol N N Of s 40,000 |HINESAZ S5CMS
121 20210008 | 11 M3l 2228 ol N N S 10,000 |BIXIZ=22 S4CMS
o1 20210908 | X1t MEl 22128 Hol N N | 10,000 |HIXZEAZ SHCMS
1211 20210008 | T MEl 22128 JHol N N S 5000 |HiXmsa= S4CMS
121 20210008 | XIoiAtel 2228 Jhe! N N Olxx 10,000 |HIXIZ=2= S5CMS
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NO. @%% S22 = —
e 35 SAX AL E%‘mxgl% PIEEES
— o SR
2’| 20210908 | KeiAtEl 2RSS JHel NT e J e 3 EENZY
151] 2021090 S— N 2wk =
8 8 |XIZAE 222= Mol 50,000 | HIXZZRAZ 5
151 20210908 . - - N N g!_** T oo (=AY S
9 NEASE S/ASE Jpel 20,000 |HIXAS2A2 =
152 2021090 o = - N N Sxx - &4 5
0 9 | KA AtE BRI2= el 5000 |HIXNESAZ _
152 2021090 . — N ZS** oT o _9_/51
] 9 |KIAlEl ZR2= JHol N 10,000 | HIX=E=22
1521 20210909 | X1 A3 & o —
2 NEA2 2 J3E Kol 10,000 HAXEZ=|Z
1521 50210910 | X1 A| & " Ol —
1;532 XISAIE SADE JHol N 10,000 |HIX=E=22
o —__ 0| **
ég 0210910 | KIGiAtEl 222 E Jhel N 10,000 | BINE=E=
o . O *=
2 20210910 | XIfAIE) 2222 | Q1A N 10,000 |Hix==s=2
192] 50210910 | Kt Al3] = A = —
6 NENEIECEE BT N 377,000 | HINE=RZ
152 50210913 | K12t AE] = A Ol —
7 DA S]3E Kol N 10,000 HAXEZ=|Z
192| 50010913 | XIt Al3] = S —
8 3| XAlE 222 Mol N 10,000 | HIX=E=2=2
52| 20m 10013 | o e = O -
123 3 | XIGAtel = 3= JHol N 30,000 BHXE=A=
o . & xx
37| 20210913 | NiAls) 222 JHol N 10,000 | HIX=E== —
153 2021091 o N BFxx Zo = S
1;3 3 [ NAE =3SE ol N 5,000 HIXEZAZ SA4CMS
20 Sl S22 ‘1!-** -
1; 210915 |XIYAle 2225 ol N 10,000 | HIXE=2=2
20 = Se a**
2°] 20210915 | K AIS] Z2R2Z Hol N 10,000 |Hix=aaz
193] 00210915 | K| Al & A Bl —
1;13 XIGALE SRASE Mol N 10,000 |HIXZ=ES = HOMS
2021091 R e -
5 5| XIAlE 222 ol N 10,000 | HIX=EE2 = 40MS
xx
10,000 | HIXIZES
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NO. @%% = 2 = —
- SAZERF saxne |2RWIE | ITQEA
— o S2%
123 20210916 | XIZALE] SRS E JHel NT 012 F LK< =oH D=
o — Qr*

2°( 20210917 | XIS AlEl =& 2E Mol N 10,000 | HIX=E=22=
193] 50210917 | Kt AlBl = N T —
123 7 | KA S22 Mol N 10,000 |HIX=E=22

o E— O] **
124 0210917 | KA S/A2E Mol N 10,000 | HIX=E=22
o . S**
3] 20210917 | N AEl =23 E Mol N 10,000 |HIX=E=22
1541 50010922 | K|t Al = S —
1;4 NSAe SR=E Kol N 20,000 HXE=AZ
o — & x*

124 0210922 | KIS AIS| SRA2E JHol N 10,000 |HIX=E=22
o . Exx

124 0210922 | XISAIS| SR/A2E el N 10,000 | HIX=E=2=2
o . O] **

4 0210922 | KISAte 2322 Kol N 10,000 HXEESAZ2
194 50210922 | K1t AlEl = Ol —
5 |SAIE] SRA2E Mol 10,000 | HIX=E=22
154 9021092 ol = N O ** -

6 3 [ XA S/2E Kol N 10,000 |HIXEE=22
194 50210923 | Kt Al3l = A = —

7 NENWEREE el N 10,000 |HIXNZ=RAZ
752 20910023 | 1 ] = N TP -
8 3 [ XA S22E JHol N 10,000 |HIXEE22
154 50210923 | K1t AlBl = A B —

9 XZALE SR = ol N 30,000 |HIXE==
155 9021092 S N X|x* -
125 3| XA sR2E ol N N 10,000 | HIX=E=2=2

20 Sl S22 O|**

1 210923 | XIYAts 2238 ol N 10,000 |HIXX==Z
155 50210923 | X1t A3l = A zr —
15235 X AtE B2 = JHol N 10,000 | HIX=E=2=2

o . T **

2°| 20210923 | KI24AE) RS E Mol N 10,000 | HIX=E=222
1951 50210924 | Kt ALE) = B —
4 KNGAS 223 ol N 10,000 HAEZAZ

30,000 |HIXEEH
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No. gl Sa=x= =
e SR3ER AR RE Eé‘mxgl% IR SEH Z
20| 20210925 | XIHALSl 2RSS Jhol NT S S s =om o=
155 - N of —
5 —_ Olxx
125 0210927 | TS A5 Boin= e - 20,000 | HIXIA
5 — 2 x*
“735 0210927 | XI¥AIE] E22E ol N N 10,000 | HIXI=
’ ——— Sxx
57| 20210927 | XIHALSl S 2SS ol 10,000 |dix=s
195/ 20210927 | XI2tALE = " T ~
126 ARENEE = JHol N 20,000 | X¥=
’ I O] **
126 0210927 | XIYAIE] S22 = ol N 10,000 | HIXIH
” — E**
1156 0210927 | Tl A5 Boio= o - 900,000 | XXz
— Hoxx
126 20210927 | KNI ALS] EASE JHol N N 10,000 | HIXI=
’ — Hhxx
156] 00210927 | X1t Al = h &
£ 7| nens srzE| o N 10,000 | BIXIE
” — Ofx*
2| 20210027 [WIotMizl =REE o 10,000 | HIXIA
156] 00210927 | X1t Al = h h =
& 7 |xeAE 2R3 Hel N 10,000 | HIXIS
) — Exx
126 0210927 | XIYAIE] S22 = el N 10,000 | HIXIA
5 — 2 x*
” — Hxx
127 0210927 | XISAIE] S22 = el N N 10,000 | HIXI=
5 — & x*
127 0210927 | KISiAIE] 2212 S0l N 10.000 | HINE
— 0| **
1;7 20210927 | X ALS EASE el N 20,000 | HIXI=
” — O] **
“257 0210927 | XA 8| 22io= o - 20,000 | HIXIA
5 — 0| **
3’| 20210927 | XIHALSl 23S JHol N 10,000 | HIXIA
S**
10,000 | HIXIA
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NO. @%% S22 = =
- SABER saxne |2RWIE | ITQEA
— o saAX
2| 20210027 | XISiAtel =233 JHel NT e J e 3 EENZY
157 2021092 o1 Lo = N S*xx =
127 7 | N2Ae 222 JHol N 30000 |HINm=a2
5 —__ Loxx
i 0210927 | XISiAtS] 2RZE|  JHel N \ 10,000 | BINE=HS
5 ——— of **
21| 20210927 | NG At2l S &SE ol N 10,000 L
157) 00210927 | Kt AlBl = i —
127 XIoAE ZARE JHol N 10,000 | Hx=Ea
5 R N **
128 0210927 | NI ALS) 9122 ol N 10.000 |HN==22
5 . Fr*
128 0210927 | NI AtS| Siz= S0l N 10,000 |Hix==22
5 —__ PL**
251 20210027 | XI%iAtS) SRBB Jhol 30000 |HIN==a2
58 209 0097 | 11 el = N S -
2 AV ENCELE= Mol N 10,000 |HIXIZZ&Z
198 50210927 | Kt AlSl = " s —
128 XAE Sa2= Mol N 10,000 |HX==a2
5 R Exx
29| 20210027 | KIiMEl 2R E ol N 00.000 |HIXNmEaZ
198 50210927 | Kt AlSl = I —
5 NEWCIETTEE-3 BT 10,000 |HIXE=AZ
58] 2010027 | 0ot 121 = N e -
6 7 | XA 2225 JHol N 30,000 |HIXEE=22
1581 50210927 | X1t S| & s —
7 XAE sa2= Mol N 30000 |BIX==a2
1581 50210927 | Kt AE| = A e —
o NSl BRBE| K N N 20,000 | BINERAZ
20 Sl S22 O|**
129 210927 | NIt AlS 2= S0l N 00000 |HBIXIE=a2
20 = S O'_:‘**
29| 20210027 | R ArEl =RIZE Mol N 10,000 |HX==a2
159] 5021092 S N PP i
1 7 | NSA2 233E Kol N 10,000 HXE=A=
199 50210927 | KItAlEl = Ol —
2 |fAS] BRBE| Kl N 10,000 | BIXIZ=2AZ
N Dcll** Z o
10,000 |BIX=E=g
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
129 20210027 | TS AtEl 2R2E Hol N N 0l 20,000 |HIXNESA

129 20210027 | T MEl 228 Hol N Ol 10,000 |HIXIZ=R=

129 20210027 | TS AtEl 228 Hol N Ofux 10,000 |HIXIZ=R=

129 20210027 | I MEl 22128 JHol N N =T 30,000 |HIXZEAZ

199 20210027 | T MEl 2R2E JHol N Of 20,000 |HIXZEAZ

1291 20210027 | X1t MEl 228 JHol N Lwx 30,000 |HIXZEAZ

199 20210027 | T M3l 2228 JHol N N Al 20,000 |HIXESAZ

1801 20210029 | X% Atel 2R2E el N =1 10,000 | NF=aA= S4CMS
1801 20210029 | 11 MEl 22128 JHol N ST 10,000 |HIXIZER= 54CMS
1901 20210020 | M MEl 2RZE | ol2te N N (4 100,000 |HIXIZ=2= & 4CMS
1801 20210929 | K1t MEl 228 Hol N =1 10,000 |HIX=EAZ S5CMS
1801 20210029 | M1 M3l 2R2E Hol N e 20,000 |HIXZSAZ &4CMS
1801 20210029 | T2 MEl 22128 JHol N =1 10,000 |HIXXEAZ S5CMS
1001 20210020 | XIS AtEl 2128 JHol N Sk 10,000 |BIXIZ=2= S4CMS
1901 20210929 | Tt MEl 22128 JHol N S 20,000 |HIXZEAZ S5CMS
1901 20210029 | 11 M3l 2R2E ol N Rl 10,000 |BIXIZ=22 S4CMS
1801 20210929 | Xt MEl 2RI2E Hol N =1 10,000 |HIXZEAZ SHCMS
1011 20210029 | T MEl 22128 Hol N Lpss 10,000 |HIXIZ=R= S4CMS
1811 20210020 | T2 Atel 2228 Jhe! N L 10,000 |HIXIZ=2= S5CMS
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No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY

181 20210029 | T M3l 2R2E Hol N Bk 10,000 |HIXIZ=2=

181 20210029 | T MEl 22128 JHol N T 10,000 |HIXZEAZ

101 20210020 | T2 Atel 22128 JHol N Shex 10,000 |HIXIZ=R=

1811 20210029 | 1o MEl 22128 JHol N S 10,000 |HIXIZ=R= =
1011 20210020 | T MEl 2R2E | ol2te N % (xx 100,000 |HIXIZ=R2 =
101 20210029 | Tt MEl 22128 JHol N =1 5000 | NmsAU2 =
1811 20210029 | T MEl 22128 Hol N T 5000 | NmEA2 a
1811 20210020 | T2 Atel 2228 Jhe! N N Ot 10,000 |HINESAZ =
1821 20210029 | T M3l 2228 Hol N N T 10,000 |HIXIZER= =
182 20210020 | X% AtEl 2R2E JHol N N 2k 10,000 |HIXIZ=2= =
182 20210929 | X1t MEl 228 JHol N N P 10,000 |HIXIZ=R2 =
182 20210020 | X% AtE) 2R2E JHol N N 2k 20,000 |HIXZSAZ =
1821 20210029 | I MEl 22128 JHol N N P 30,000 |HIXZEAZ =
182 20210020 | T2 AtEl 2128 JHol N N =P 20,000 |BIXX=2AZ =
182 20210929 | X2t MEl 22128 JHol N N =1 10,000 |HIXXEAZ s
182 20210029 | WIS M3l 2R2E ol N N 2k 10,000 |BIXIZ=22 =
182 20210929 | XIS MEl 22128 Hol N N =1 10,000 |HIXZEAZ =)
1821 20210029 | T M3l 228 JHol N N S 10,000 |HIXIZ=R= a
183 20210020 | X% AtEl 2R2E ol N N <P 50,000 | HIXESS =
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T A3TE saxze 2L |5 RS _
1 0210929 | XIS9Ats =]22 Jhol - VE] SAX e
163| o e N N = == R
09 20210029 |RioiAtEl 2RZE| W m 0 -
163 N 000 |HIXZEZ=AZ
o 20210929 (X2 ALEl 2R2E | OHol k e 10 o
S sooro000 [ mal 293 N N o~ HIXEES2
3 == kel N N 10,000 | HIXIBE2Z2
5 20210929 | (| S AlE === Jho Sk oFdo
63 e [ 10,000 s9
5| 20210929 | XIGiAtsl = A2 S » N N 0] #x HiAs=== El
163 il el 10,000 =o
83| 20210029 |T2iA1El 2B " N N Alxx Hns==s =
163 e el 10,000 —o
o Py P N N o~ S -ELE! =
=3 = e Jyel N 10,000 HXESA2
g | 20210929 X ALS Dz N (=] S*ds =
SH=S JHol 5,0 =
164 N 000 |HIXI®ZRS _
& =23 Jyol N 10,000 HXEEAD _
0% 20210929 | XISl 2 RBE Ol % - =
i =h= JHol N 20,000 HIX RS _
= == ol N 10,000 HX&EE _
5] 20210929 | XIGiAts =22 e — =
= ==} el N 10,000 =< _
e d == Jpel N 10,000 B _
= =22 ol N 10,000 eSS _
6] Jpel N 10,000 N _
77| 20210929 | XI%ALEl 2RSS o Ol *% = =
A 10,000 =
o] 20210929 | NI Ats] 2R3 E " N S e =
6 =h=] JHol N 10,000 HI X &S _
9 20210929 | KNI€ AL ES=2E Shax o S
28| e N N - 10,000 | HIXIZZ —
X ** =
10,000 |HIXIZ=E =
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NO. @%% S22 = —
— SR3ES AT Eé‘mxglrs IR S EHA _
8| 20210029 | XIoiALEl BRBE| Mol NT 0= =ax L Sou —
165 _ N o —
5 — O %%
0| 20210020 | W2AtEl HZE|  OHo 10,000 | xF=
185] 20210029 | KIetAtEl = " A S
2 9 |menz szl ol N N 5,000 | HINZ
5 — 2 x*x
L 0210929 |XIiAtS] 2222 | JHel N 5,000 |HIX=S
Dl %%
165] 20210929 | X2t Abel = h 2
5 9 |KHAE ER2E Jhol 10,000 | HINE
185) 20210930 | X2 AtEl = " s
o 0 |xoirE 2R3E|  H N 10,000 | BIXIE
— Qr*
8| 20210030 | WiAIEl 2R2E| W 10,000 | BIANIS
1850 20210930 | X121 AtEl = " s
8 0 |XAE SRBE| Kl N 10,000 | HIXIZ
— Q| **
L 20210930 | XI%AIS] ZRABE|  JHel N - 10,000 | W=E=
5 — 2 x*x
L 0210930 |XI%AIS] 2222 |  JHel N 20,000 |HIXES
5 ——_ Exx
i 0210930 |XIiAlS] 2R2E | JHel N - 20,000 | HIXIZ
— O] **
00| 20211001 | et ArEl 2R2E 1o 5,000 BIXI&
196| 20211001 | It ALEl 2 " e
3 1| xetas 2REE | el y 10,000 | HINA
1661 20211001 | xI2iArE) = h o
4 | AIE B2I2E ol 10,000 | BIXIE
166| 20011001 | xI AlE| 2 A Olxx
£ AP EREETEE BT ¥ 100,000 | BINA
5 —_ 0| **
8| 20211005 | KIotArEl 2RBE | Hel N 10,000 | HIXIZ
186| 20211005 | 12 AtSl = =
T 5 |xcirs za3E|  He N 10,000 | BIXIZ
5 —_ S**
8| 20211005 | xIetArs) 2R | JHel N 50,000 | HIXIZ
N Exx
5000 | HIXIH
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NO. @%% S22 = =
- SHU3ER saxne |2RWIE | ITQEA
— = 22X
g | 20211005 | KIGiAtel 2RSS JHel NT e J e 3 EENZY
167 2021100 o1 — Bl = HIJ_,_
0 5 X% Atel S =5 Kol N 10,000 HXE=A=
167] 20211005 | K12 AFE| = = —
i NETVCEL =T BT N N 5,000 | HIXE=E3
5 ——— & xx
5’| 20211005 | NGNSl 2R3 3 ol 30,000 |HIXNES22 =
127 05 | XI2ALE 2R3 E ol N 10,000 | HIX==2=2 = HCMS
5 R Bhxx -
127 0211005 | XIAIE ER2E ol N 5.000 |HIXNES2A2 SHCMS
20 Sl S ‘1!-** -
127 211005 | XISAtE] 2= ol N 100,000 | HIX&S=2 = HOMS
B . Coxx -
127 0211005 | XA ER2E JHol N N 10,000 |HIXIz=2=2 =HCMS
5 . Ol xx <
127 0211005 | XIYAtsl £ 228 ol N N 10,000 | HIXE=2=2 SA5CMS
5 —__ O] ** -
g'| 20211005 | XIHAtS] SRSS ol 30,000 |HIXNES2=2 = i
67 a1 — N N oo =23 SHCMS
9 05 | XIGALE 2 ASE JHol 10,000 | HIXIEZ3 = i
T2 w— —— N N e =23 SHCMS
12 7 [ NYAE 2328 plel N N 20,000 |HIXAS=2A2 S ACMS
98| 20211007 | K< At8l 2222 Ol -
. NS ZRSE el N N 10,000 |HIXXESAS &4CMS
5 — ESELS <
5 | 20211007 | XIHAS 2RSS Mol 30,000 NEs22 = x
68 037 100 — N N e 23 S4CMS
128 7 | XAte s22= Mol N y 20,000 |HIXNES2=2 = HOMS
5 — 2 x* <
128 0211007 | XA E22E JHol N N 50,000 | HIXN=ES2=2 = HCMS
20 = S _'S'—** -
128 211007 | XI2AtE] 2= el N N 5.000 |HXERS2A2 SHCMS
5 —__ Exx -
A 20211007 | XISiALEl 22 SE ol N 20,000 |HIXNES22
1681 20211007 | X AtEl = M —
7 | AIE B2I2E Jhol N 10,000 |HIXIZ=RAZ =4
I S &8CMS
10,000 | HIXZE22 S4CMS
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No.| ol sA2E2 = Eé‘mxgl% 7|$01€.‘$E*i1l SAX} Ly < =Ll OZ=HH
128 20211007 | XAl BRI2= Hel N e 10,000 |HIx=saz
‘88 20211007 | KICiAtS] E212= Mol N Sk 10,000 | HIXI®
189 20211007 | XIZAIS] B2 = Hel N N E 10,000 |HIxXI=S
‘?9 20211007 | KICiAlE] B2 el N N Ol wx 40.000 | HIXI®
129 20211007 | XIZAIS] B2 = Hel N N Bhax 10,000 | HIXI=
‘g9 20211007 | KICiAtE] E22= Mol N N I 10,000 | HIXI®
‘29 20211007 | KICiAtS] 22122 Hel N N Sk 5.000 | HIX=
129 20211008 | XICiAtsl E212= |  oI2icH N N e 10,000 | BIXI®
129 20211008 | KICiAtS] E212= Ml N 2wk 10,000 | HIXI®
199 20211008 | XAl B2 = el N N 2wk 5000 | HIXZ
129 20211011 | KICiAtS 222 Mol N 0] # 10,000 | HIXI®
189 20211011 | XI2tALS] B2 = Hel N S, 10,000 | HIXI=
180 20211011 | KICIAlE] B2 Mol N Hwx 10,000 | HIXI&
‘170 20211011 | KICiAtS] 22122 Mol N Bhax 10,000 | HIXI=
‘;0 20211011 | XI2IAIE] B2 Mol N Lk 10,000 | HIXI&
1;0 20211012 | KICiAtS] E212= Ml N E 30,000 | x==
14710 20211012 | XI2IAIE B2 Mol N Obxx 10,000 | HIXI==
120 20211012 | KICiAtS] E212= Mol N e 10,000 | HIXI®
120 20211012 | XI2tALS] B2 = ol N 0l *+ 10,000 | HIX=
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— SR3ER AR RE E%‘mxgl% IR SEH
— o S2%
77| 20211012 | NGiArel 2RSS JHel NT e J e 3 EENZY
1701 20211012 | X1 ALE| 2 Ol . =
130 XA SA2E Mol N 10,000 |HIXAEZAZ
o . O **
5 20211012 | NI AlEl 2222 Mol N 10,000 |HIX=E=22
1711 20211012 | KI2tAbal 2 e —
0 KNEA2 2 A3E Kol 30,000 HXEEA2
1711 20211012 | X1t AE| & h e —
1 2 | KIS 22122 JHol N 10,000 |HIX=E=22
7T 20211073 | Mo el = N Ol % —
2 3 [ XA S22E Kol 10,000 |HIX®EE=22
7T 2oa11074 ol = N ST —Z
3 NP S = JHol N 10,000 HXNEZ:Z
1711 00211014 | X1 A3l 2 A e —
11711 4 [ XIGAS SRSE Jyel N N 10,000 | HIXBE22 SAHCMS
20 S S El-** -
1% 211014 | XIYAle 2225 ol N 5,000 HIXIEZAZ S4CMS
2 s S Xl_l** —
131 0211014 | XIGiAlS| B2 = Hol N 10,000 | HIX=E=22 S 4CMS
o . & %% <
1;1 0211015 | XIAIS| ZRA2E JHol N 10,000 | HIX=E=22 = HOMS
2 = S X‘_l** -
131 0211015 | XISAIS| SR2= Mol N 10,000 |HIX=E=22
o = x*
5'[ 20211018 | XIiAlEl =222 JHol N 10,000 |Hix==a=2
172 20011018 | X1 AlE| = = —
0 | ALE BRAZE JHol 10,000 HXE=22 =
72 0510 : N N = BRI E4CMS
1 18 [ NG A2 23 =3 Kol 10,000 HXRSAZ2 =
172 N 0 — = SCMS
521 20211018 | KIiALSl 3RS E [
172 2021101 o _ — -,Qr** "o
3 8 | KA 222 el N 10,000 | HIX=E=2=2
72 a1 1000 |02 = Sk -
4 0 | NIGAtel 3 =5 Kol N 20,000 HXE=A=
172 90211020 | X1 AE| & A B —
5 KA S22E ol N 10,000 |HIX=E=22
10,000 |HIXEE22
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NO. @%% S22 = —
— e AL E%‘mxgl% P E=T=S]
- o S2%
132 20211021 | XISALE] SRS E JHol NT 012 F LK< =oH D=
o . GRS
fel 20211021 | R AIE 2R2B JHol N 10,000 | HIX=E=22=
172 00011021 | X1 AE| = A Bl —
72 poa11001 | ot nial = N N - -
9 1| XNSAtsl S 3 =5 Kol 10,000 HXNESRZ
173| 50011022 | Kt AF3] 2 A B —
0 XSALE SR = JHol N 10,000 |HIX=E=22
173] 00211022 | K1t AE| = A Ol —
1 NEA2 2 J3E Kol N 10,000 HAXEZ=|Z
173 00211025 | K1 Atal = N = —
o) NP S = JHol N 30,000 HXNEZ:Z
T73] 2021 1025 | K12 A1) = N Obsx -
3 KNGAe SR23 ol 20,000 HXES2A2
173[ 2021 102 S N N Of xk -
4 5 | XIGAtsl =333 ol N 10,000 HXESRZ
173] 20211025 | K1t Al3] = B —
15733 XNSAs 23S Mol N 30,000 |HIXZ=@Z
o . Ofx*
133 0211025 | XIKAIS| SR2E JHol N 10,000 | HIN=EZ
o I 2 xx
£°] 20211025 | N ALEl /3= Hol N 10,000 | HIX=E=2=2
173[ 2021102 — N Kfwk -
8 5 | XA 2225 JHol N 10,000 |HIXEE22
173] 00211025 | X1 A3l = A e —
9 XA SA2E ol N 10,000 |HIXE=22
174 2021102 ot o = N o ** .
0 ARENEELEE Hol 10,000 |HIXIZ=RAZ
174 00011025 | K| AE| = h . —
1174 5| XIciAE ER2E ol N 20,000 NHEA2
20 = S DDl**
134 211025 | K ALE] E22= Mol N 10,000 |Hix=aaz
B — Hxx
571 20211025 | K Ats) 2223 JHol N 10,000 | HIX=E=222
174 20211025 | K1t Al3] = A A —
4 KNGAS 223 ol N 10,000 HAEZAZ
10,000 | HIXIZES
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NO. @%% = 2 = —
— SAIER saxne |2RWIE | ITQEA
— o sax
5| 20211025 | XISiAtel =35 JHel NT e J e 3 EENZY
72 o008 | o hial = 2 =
6 5 X% Atel S =5 Kol N 30,000 HXE=A=
174 20211025 | K1t Al3] = " = —
7 ENEECEE: Jhel N 30.000 | HR==sa=
72 o008 | Mo el = Lxx -
8 5| XAl SDE Mol N 30,000 | HIXE=sa=
174 20211025 | K1t Al3] = A S —
9 NS 2222| el 10,000 |HIXIZEAZ
75 20211005 | 11 = N S, i
125 5 NG At=l =333 Kol N 20,000 HAXEZ=|Z
o — Hxx
15| 20211025 | NI ALSl 222 Jhol N 10000 |BIXm==
1750 2021102 — N N -
> 5|XoAE SRZE| Kol N 20,000 |HINE=DI
1750 50211025 | X1t Atal = S —
3 KSAS SR2E ol N 10,000 BIXEZAZ
175] 00211025 | K1t AlS] = = —
4 NeAtsl 2eaE | oje 30,000 | BINERAZ
75 20011005 | 11l = N S. -
5 5 [ XIY¥ALS S/2E Kol N 10,000 |HIXEE=22
175] 00211025 | KItAlS] = Of —
135 NENEECEE: Sl N 00.000 | HNE=sa=
o = ST
78] 20211025 | X MEl 2RBE S0l N 10,000 | BiRms=
175] 00211025 | K1t AlS] = A B —
8 ENEECEE: Mol N 10000 |BIXm==
1750 00211025 | K1t AE] = A Ol —
136 ENCELES ol N 00.000 | HIXE=a=
20 Sl S22 O|**
126 211025 | XIYAle 2225 ol N \ 10,000 | HIXE=2=2
20 = S ?__l**
76| 20211025 | Kot ArEl 2R E S0l N 00,000 | HIXE=a=
176| 20211025 | X121 Atsl = = —
136 A ENCET = S0l N 10000 |Himm=s=
20 s S _C'>_**
78| 20211025 | K MEl 2R2E Jhol N 30.000 | HR==a=
N 7C—>r** [
10,000 |BIXEEH
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
170 20211026 | I Atel 2R2E Hol N S 10,000 |HX==2A2

176 20211026 | T MEl 2228 Hol N Ol 10,000 |HIXIZ=R=

170 20211026 | I AtS) 2128 Hel N Olxx 20,000 |HIXZSAZ

178] 20211026 | T MEl 22128 Hol N 0l 20,000 |HIXZEAZ

1761 20211026 | NI M3l 2228 JHol N N Sk 30,000 |HIXZsAZ

170 20211026 | K12t MEl 2228 JHol N N S 10,000 |HIX=EAZ

1771 20211026 | T MEl 2228 Hol N Kl 10,000 |HIXN=EAZ

1171 20211026 | KI%AtS) 2R2E Jhe! N Sk 10,000 |HINESAZ

177] 20211027 | W MEl 2228 Hol N N o 50,000 |HIXESAZ &HCMS
1271 20211027 | W12 MEl 22128 Hol N N = 10,000 |HIN==2A2 SHCMS
117 20211027 | It MEl 2228 JHol N N P 10,000 |HIXIZ=R2 S5CMS
1171 20211027 | KISiAtS) 2228 Hol N N =1 10,000 |HIXN=EAZ SHCMS
107] 20211027 | T Mel 22128 Hol N Ol 10,000 |HIXIZER=

177] 20211027 | NI M3l 2228 JHol N =1 10,000 |HIXIZ=R=

127 20211027 | XIetMEl 22128 Hol N Ol 10,000 |HIXIZ=R=

177] 20211027 | T M3l 2228 Hol N N Al 20,000 |HIXN==AAZ

118 20211027 | K1 MEl 22128 Hol N N 0l 20,000 |HIXIES22

118 20211027 | T MEl 22128 JHol N N S 10,000 |HIXIZ=R= S4CMS
178] 20211027 | NI M3l 2R2E ol N N Al 10,000 |HIXIZ=2= S5CMS
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NO. @%% sSQAA=E=2 _
o AZER SANRE Eé‘mxgl% IS SEH _
3 0211027 | XIS9Ate =]22 o - VE] SAX e
178 el N - S DEHE
4 20211027 | NG Atz SR=3 M N Bhxx = 3
178 il = N 10,000 =o
= SE3E JHel N 10,000 HXES2
6 20211027 | KNI AlS Bo2= N (=" SFdo
SHE=3 Kol 10,0 =
178 N N 000 | HIXIEE22
e == ol N 10,000 HA RS2 _
8 20211027 | NG Atel SR =S Lk 323 s
T T oS
78 JHel N N 10,000 M EECE _
50l 20211027 | NI AtE) =2 E 2w g2a3 5
SH=S JHol 5,0 =
179 N N ,000 HXEEA=2 =
0 20211027 | NISALE =333 Ehxx cTEe =1
oo JHol 500 =
179 N N ,000 M EELE _
17| 20211027 | XIGtAtEl 2 RSE Z|*x T =
=3 2= ol N 10,000 HA RS2 -
o | 20211027 KNEAE SRS E Shxx eTeEe a
T oS
179 el N N 10,000 | HIXINEKA2 =
3 20211027 | NG Atel SR =S Bl eTeEe k=)
73l =5 kel N 10,000 | HIXIE= s
4 | 20211027 KEALE S22 Mo 0] ** k=)
79[, He! N 10,000 |BIXI®Z Z
5 0211027 | XNIG A2 S 33E Ho 0] %% k=)
179 el N 10,000 NS _
=5 == Jpol N 10,000 B —
7 20211027 | X AI3 SR2= Hhaex T S
=5 =22 ol N 10,000 eSS _
£7| 20211027 | N AIE| 2223 Shxx i 2
=3 == Jpol N 10,000 B _
=5 = ol N 10,000 HIXI&S _
0 20211027 | NIGAIS 223 O] ** o7 =
180 el N 20,000 | BIXIEZ —
2= Mol N 10,000 HIXIEZ —
2xx B =2
10,000 HIXIE= =
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1801 20211027 | M MEl 2R2E Hol N 2k 10,000 |HIXIZ=2=

1801 20211027 | T MEl 2128 JHol N =1 20,000 |HIXESAZ

1801 20211027 | T Atel 2128 JHol N =1 5000 | Nm=s22

1801 20211027 | I Mal 2R2E | B2t N % (x 100,000 |HIXIZ=R2 =
1801 20211027 | T MEl 2R2E Hol N 2k 10,000 | NEsaA= &
1801 20211027 | Tt MEl 2128 JHol N ST 10,000 |HIX=EAZ =
1801 20211027 | T MEl 2R2E | ezt N N (x 100,000 |HIXIZER= a
1801 20211027 | Ko Atel 2R2E el N =1 10,000 |HINESAZ =
1811 20211027 | T MEl 22128 JHol N - 20,000 |HIXZEAZ =
1811 50011027 | X1 AlEl SRIZ= Hol N =1 10,000 |HIXNZEAZ =)
181 20211027 | T2t MEl 2128 JHol N S 10,000 |HIX=EAZ =
1811 20211027 | TIoiAtel 228 JHol N Rl 10,000 |HIXIZ=R= =
1811 20211027 | 1o Mal 22128 JHol N B 10,000 |HIXXEAZ =
1811 20211027 | Atel 22128 JHol N Bk 10,000 |HINESA =
181 20211027 | Tt MEl 22128 JHol N B 10,000 |HIXIZ=R= s
1811 20211027 | T MEl 22128 JHol N S 10,000 |HINESA =
181 20211027 | K1t MEl 22128 Hol N N = 5000 |HINES2Z =)
1811 20211027 | T MEl 22128 JHol N T 5000 | N™sA2 s
182 20211027 | KIS AtEl 2R2E ol N N 2k 10,000 |HIXIZ=2= =
20| & 9%/127
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182 20211027 | KISAtEl 2R2E Hol N N 2k 10,000 |HIXIZ=

182 20211027 | TIiMEl 2RBE JHol N N ek 20,000 |HIXES

182 20211027 | IS AtEl 228 Hel N N = 30,000 |HIX==S

18] 20211027 | T MEl 2128 JHol N N =1 20,000 |HIXHS =
182 20211027 | W MEl 2R2E JHol N N Jup 10,000 |HIXIZ= &
182 20211027 | X1t MEl 2228 JHol N N =1 10,000 |HIX=ES =
182 20211027 | T MEl 2228 JHol N N . 10,000 |HIXIZ= =
182 20211027 | KISAtEl 2R2E el N N Ot 10,000 |HIXIZE s
182 20211029 | T M3l 2228 JHol N S 20,000 |HIXES 5
183 20211020 |ToiAIEl 2R2E |  oizEd N N St 3,000,000 | HIXI®S

183 20211101 |TItMEl 228 Hol N N =1 20,000 |HIXHS

183 20211101 | W MEl 2R2E Hol N ok 10,000 |HIXIZ=

183 20211101 | TIeMEl 228 JHol N Swx 900,000 | XNZ=EZ

18 20211101 | W ME 2228 JHol N 0l 10,000 | HIKE=

183 20211101 | XIeMEl 22128 JHol N N Ol 5000 |HIXm=

18 20211101 | W ME 2R2E ol N Qo 10,000 |HIKNEES

1% 20211101 | KIeMEl 22128 Hol N N ST 10,000 |HIXEE

183 20211101 | T ME 2228 JHol N =1 10,000 |HIXES

183 20211101 |TIoAtel 2228 ol N 0l »x 10,000 | NEs2A=
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184 20211101 | XISl 2 N Y = il
1;34 i | x2Ars 22z Mol N N 0.000 |HITIZ=212 & HCMS
o . & x* =
84 20211101 |XIMEl 2223 Sl 30.000 | HIX==a=2 —

184 500111 _ A N s — iy
124 01 | XIAtel s2im= ol N 10,000 | Bixmss= = 5CMS
20 Sl S<2 ‘1!-** -
1;14 211101 | KAt 238 ol N 100,000 | HIX =22 S4CMS
o I Exx -

84 20211103 | NAIEl 2R2E Sl 0.000 |HITZ=a2
184 50011103 | It AlSl = " A e —

124 XA ERDE Mol N N 10000 |HITm=s= = HOMS
o —__ 0| ** <
1;4 0211103 | X1 AS 2122 Yol N 30.000 |HiXz=a= = HCMS
o . S*x* -

84 20211103 | NIAIEl 2RSS el N 50.000 |HITZ=212
184 50211104 | K1t AlB] = = —

1% XA 22325 ol N . 10,000 |HIX&H=22 5 ACMS
o . O %% <
125 0211105 | KIZAlsl 2222 ol N 10,000 INESE=S2E=, SAHCMS
20 = S le** -

850 20211105 | NIt ALSl 22135 Sl N 5000 |HX==a=2
T 20m1 1108 | o pral = N Lxx -
2 5 | NS Atel R332 JHel N 5,000 HX =2
185 00011105 | K| Al = = —
3 NG CES JHol N 10000 |HITm=s=
85| 20911108 |10 e = Bt -
4 8 |NotAE SRZE| Ko N 10,000 | BINE2RAS
185 50011108 | K| Al = A S —
5 XHALE SRADE JHol N 20,000 |HIXZ2AZ
1850 50211108 | X1t AlSl = A zr —
5 X =AIS SADE Mol N 5000 |HXEsa=
185 50011108 | It AlSl = A = —
7 XA SRRE ol 5000 |BIXX=22 =
o N N " =23 5 4CMS
8 PN — 20 =2
= il N N o 000 |HIXIHEAZ S4CMS
50,000 [|HIXIZ=&¥= S4CMS
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18l 20211108 | KIoAtEl 2R2E Hol N N 0l 10,000 |HX==2A2

18] 20211108 | T MEl 2228 JHol N N Qe 5000 |HIXNES2=

18| 20211108 | XIoAtEl 2228 Hel N N 2ok 10,000 |HINE=AZ

18] 20211108 | TIiMEl 2R2E JHol N N S 10,000 |HIXIZ=R= =

180 20211108 | T MEl 2R2E JHol N Jup 10,000 |HX==2A2 &

10l 20211108 | X1 MEl 2228 JHol N N O 40,000 |HINHSAZ =

180 20211108 | T MEl 2228 JHol N S 10,000 |HIXN=EAZ a

180 20211108 | KIoAtel 2R2E ool N e 30,000 | Nm=22

180 20211108 | T MEl 2228 JHol N N e 10,000 |HIXIZE2Z

180 20211108 | IoAtEl 2228 JHol N P 10,000 |HX==2A2

180l 20211109 | X1t MEl 2228 Hol N Ol 10,000 |HIXIZ=R2

1871 20211100 | NI MEl 2R2E JHol N e 10,000 |HIXIZ=R=

1871 20211110 | T MEl 2128 JHol N Of x 10,000 |HIXIZER=

1871 20211110 | T MEl 228 JHol N 0l 10,000 |HINESA

187 20211110 | Xt MEl 22128 JHol N N Ol 10,000 |HIXIZ=R=

187 20211111 | T MEl 2228 JHol N S 10,000 |HINESA

187 20211112 | It MEl 22128 Hol N f sk 30,000 |HIXEEAZ

1871 20211112 | T MEl 2228 JHol N N S 5000 |HIXNES2= S4CMS
187 20211115 | RioiAtel 2228 ol N N | xx 10,000 |HIXIZES SHCMS
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1871 20211115 | Ko Atel 2R2E Hol N Rl 10,000 |HIXIZ=2=
1871 20211115 | T MEl 2228 JHol N ok 10,000 |HIXZEAZ
188 20211115 | RIoAtel 2228 Hel N Rl 10,000 |HIXIZ=R=
18] 20211115 | 1o Mal 228 JHol N S 10,000 |HIXIZ=R=
188 20211115 | T MEl 2R2E JHol N Dk 10,000 |HIXIZ=R=
18 20211117 | It MEl 2228 Hol N Qe 10,000 |HXZ=2A2
18 20211117 | W MEl 228 Hol N Ol 10,000 |HIXIZ=R=
188 20211117 | MioiAtal 2228 Jhe! N . 20,000 |HIXIZEAZ
188 20211117 | W MEl 2228 ol N S 10,000 |HIXIZER=
188 20211117 | MioiAtel 2228 Hol N N . 10,000 |HX==2A2
18 20211118 | X1t MEl 2228 Hol N =1 10,000 |HIX=EAZ
1% 20211118 |ToiAtEl 2R2E |  oed N N S 10,000 |HX==22
189 20211119 | I MEl 228 Hol N N = 86,640 |HIXZEAZ
189 20211122 | W MEl 2B Hel N N e 10,000 |HINESA
189 20211122 | Mo Arel 2228 JHol N N =1 10,000 |HIXXEAZ
189 20211122 | W MEl 2R2E ol N N 0l 10,000 |HINESA
19l 20211122 | Kt MEl 2128 Hol N N | xx 10,000 |HIN==22
189 20211122 | W MEl 2R2E JHol N N =1 30,000 |HIXESAZ
189 20211122 | MioAtel 2028 ol N N 2k 10,000 |HIXIZES
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1;9 20211122 | NISALE] S RASE JHel NT 012 F LK< =oH D=
o . GRS
89 20211122 | NAIEl 2RSS Jhol 10000 |HiTm=s=
1891 00011104 | K|t ALE| = " e —
9 ENEECEE: Jhel N 10000 |BIXm=s=
1900 20a1 1100 |08 = 5 i
0 NSAe SR=S Jhel N 5,000 HAEZ=RZS
190] 00011124 | K| AE| 2 S —
1 NS 2222| el 10,000 |HIXIZEAZ
0] 011120 | 118 ] = N S, i
2 4 | NS Atel S 3 =5 Kol 10,000 HAXEZ=|Z
790 pop 11108 | ot Niml = N O+ o
3 NP S = JHol N 10,000 HXNEZ:Z
1900 20a1 1100 | o a = Lxx i
4 4| NN SRBE| K N 10,000 | BINZE2RS
1900 2011100 | o el = T -
5 NG CES ol N 10000 |HiTm=s=
190] 50211125 | Kt AlS] = A ol —
6 NeAtsl 2eaE | oje N 10,000 | BIXIZ=2AZ
10| 20m7 1108 | Mo el = 2w -
7 5 [ XIY¥ALS S/2E Kol N 30,000 |HIXEE=22
190 50211125 | Kt AlSl = A e —
8 XHAIE S22 JHol N 10,000 |HIXIZZ23
190] 00011125 | K|t AE| 2 A o —
9 KNEA2 2J33 JHol N 20,000 HXEZ=Z
1911 00011125 | K| AE| = A S —
181 KAAS A2 E JHol N 10,000 |HINZEEAZ
o R Ob**
9| 20211125 | XISl 2228 Tl N 10,000 | Bixmsa=
1911 00011125 | K| AE| = A S —
131 NI EE= Jhol y - 10000 |HIXmE=
20 = Se D**
31 20211125 | NtArEl 2R E S0l N 00,000 | HIXE=a=
9T 011108 | o hial = N o -
131 A ENCET = Jhol N 10,000 | BiRms=
20 s S ?_-l**
2!l 20211125 | NArEl 2R E Jio! N 10000 |HiTm=s=
Exx
20.000 | HIXHE=
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NO. @%% S22 = —
b FAIER AN Eé‘mxglrs JIESEH
5 s
E 20211125 | XI%ALS] 2RABE| Kl NT e T e sw | gz
1 Eny
” — Lk
7 oi1ioe | mone 2asz] e - 30,000 | BIXIZ
—— Hxx
1911 20211125 | X2t ALEl 2 " A S
3 5|xeiAel =RZE| Kol 10,000 | HIXIE=
192] 20211125 | K12 A3l = " = =
5 5 |MeAe sz e 30,000 | HINE
192] 0211125 | X2t Abel = h S
i 5| XAE ER2E Jhol 10,000 | HINE
192] 20211125 | Kt Atal = " Of =
D 5| XAls ER2E Mol N 20,000 | BIXIE
1920 50211125 | KItArE) = N Skl
182 AR ERCECEE: Jhol N 10,000 | BIXIZE
5 — Hxx
— Q| **
192 50011125 | X1t A S = " ESxx
182 5 |xcirs za3E| He N 10,000 | BIXIE
— — =13
192) 20211125 | Kot AtEl 2 h T
8 5| XIS%AE S22 ol N 30,000 | HIXIH
1920 50211125 | xIeiAtEl = " o
9 ENCECEE T N 20,000 | HIXIZ
193] 20211125 | Kot AbEl = h A
o R ENEETEE BT 10,000 | HIXIZ
193) 20211125 | X2t ALEl = " =
1;3 5 | N<EAS E])2E JHol N N 30.000 BIXIE =
5 — Hxx
%3 20211125 |XIZtMEl 2R2E| Mo N 20,000 | HIXIE
198) 00211125 | M=t Atal = P
183 5 | XN Atel EA323 JHol N 20,000 XEES
— 2 xx
23 20211126 | NArEl 2RSE | Jhel N 10,000 | HIXIZ
=
900,000 | XE=
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NO. @%% S22 = —
— e AL E%‘mxgl% P E=T=S]
— = S2X
50| 20211126 | XISiAtel =235 JHel NT e J e 3 EENZY
193 20211126 |12t Aral = Frx = ol
6 6 | KNG Atel SRS Kol N 10,000 HXE=A=
193] 00211126 | K12 AFEl = e —
1;3 KAt S22E Mol N 10,000 |HINH=22
o E— N **
5| 20211126 | XIS 2222 Mol 10,000 |HIXE=22
193] 20211126 | K2t AEl = " A = —
9 NS 2222| el 30,000 | HINZ=RZ
192 20211126 | 1o el = N N S -
0 6 | KNSAtsl SR =5 Kol 10,000 HAXEZ=|Z
194] 50011126 | Xt Al = h Ol —
1 NP S = JHol N 20,000 HXNEZ:Z
194 50211126 | KISt AtE] = Ol —
2 |FGAL] SRSS ol 10,000 HIXNE=E=
194] 50011129 | Xt Al = h Ol —
3 XIAIS SR2E JHol N 20.000 |HIXZ=22
1941 50211129 | Kt AtEl = A s —
4 NEWSELTEE ol 10,000 |HIXNZ=RAZ -

17 pyeepypme ey N N o 3 S4CMS
184 9 | XAt =223 ol N N 10,000 | HIXXSAZ SA4CMS
o . Hxx -
184 0211129 | XI%AlS) 2222 Mol N 10,000 | HINH=22 =4CMS
o I SELS -

7 0211129 | XNIGAtsl =3 =5 JHol 5,000 REA2 =
(o] = Se -
8 29 |XIGAIE SAZE JHol N 5000 |HIXE=AZ =M
1941 20211120 | Kot Al = N Ao 7o) =00
185 9 | KNSAtel =3=3 ol N N 5,000 BIXE=23 SA4CMS
— Hxx -
0’| 20211129 | XK AlEl 2222 JHol 10,000 | Nsa= =
195 N N - STES S4CMS
2| 20211129 | X AIEl 2 RBE i
ciple] sRDE -y 10,000 |HIXZSE22 —
198 oo21112 s e — o
[ez] s =S< I <
2 9 [XI=AE 222E el N 10,000 |HIXEHE3 5
195 20211129 | X2 N Bhax e =2 dCMS
3 ciNlE] BRa= 10,000 =9 -
= el N o HIAE=2= S4CMS
10,000 |HIXIZ=E= S4CMS
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No.| olgg 352 sAXNTE Eé‘mxgl% 7|$01€.‘$E*i1l A e =1L =

19l 20211129 |IoAtel 2228 Hel N Olxx 10,000 | N==

12 20211129 | T MEl 2228 JHol N = 10,000 | XF=

1950 20211129 | IS AtEl 2228 JHe! N S 10,000 | N==

199 20211129 | T MEl 22128 JHol N Shix 10,000 | K== =
1991 20211129 | T M3l 2R2E JHol N N 2k 10,000 | HIXIH =
190 20211129 | X1t MEl 2228 JHol N N P 10,000 |HIXIE =
196 20211129 | T MEl 2B JHol N N =1 20,000 | HIXIH =
190 20211129 | oAtel 2228 ool N N P 30,000 | HIXIH =
196 20211129 | W MEl 2R2E Jpel N N P 20,000 | HIXIE =
190 20211129 | X2 Atel 2R2E JHol N N S 10,000 | HIXIH =
1901 20211129 | X1t MEl 2228 JHol N N Al 10,000 |HIXIE =
190 20211120 |XIoAtel 2228 JHol N N Olxx 10,000 | HIXIH =
120 20211129 | I MEl 22128 JHol N N Sk 10,000 |HIXIE =
196 20211129 | T MEl 228 JHol N N S 10,000 | HIXIH =
190 20211129 | Kot MEl 22128 JHol N N Kl x 10,000 |HIXIE =
196 20211129 | W MEl 2R2E JHol N N Tk 10,000 | HIXIH =
137 20211129 | X1 MEl 22128 JHol N N ok 50,000 | HIXIH =
197] 20211129 | T MEl 228 JHol N N Shix 10,000 |HIXI= =
197] 20211129 | NI MEl 2R2E Jhe! N N =1 10,000 | HIXIH 5
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
1971 20211129 | XIS Atel 2R2E Hol N N 2k 10,000 |HIXIZ=2= S5CMS
197) 20211129 | T MEl 228 JHol N =1 10,000 |HIXZEAZ SHCMS
197 20211120 | IS AtEl 228 Hel N Olxx 20,000 |HIXZSAZ & 4CMS
197 20211129 | T MEl 22128 JHol N =1 10,000 |HIX=EAZ S5CMS
197] 20211129 | NI MEl 2R2E JHol N 0l »x 10,000 |HX==2A2

197 20211129 | Xt MEl 2228 JHol N =1 10,000 |HIX=EAZ

197 20211129 | W MEl 228 JHol N N Al 20,000 |HIXESAZ

198 20211129 |XIoAtel 2R2E Jhe! N N Olxx 20,000 |HIXIZEAZ

198 20211129 | W MEl 2R12E Hol N Ol 10,000 |HIXIZER=

198 20211129 | W M3l 2R2E JHol N S 10,000 |HX==2A2 & 4CMS
198 20211129 | Xt MEl 228 JHol N Shex 10,000 |HIXIZ=R2 S5CMS
198 20211129 | W MEl 2R2E JHol N Bk 10,000 |HIXIZ=R= &4CMS
128 20211129 | I MEl 22128 JHol N B 10,000 |HIXXEAZ S5CMS
128 20211120 | TIoAtEl 228 JHol N L 10,000 |BIXIZ=2= S4CMS
198 20211129 | XIetMEl 2128 JHol N e 10,000 |HIXXEAZ S5CMS
198 20211129 | W MEl 2R2E ol N Sk 10,000 |BIXIZ=22 S4CMS
198 20211129 | Xt MEl 2RI2E Hol N =1 10,000 |HIXZEAZ SHCMS
199 20211129 | T MEl 228 JHol N =1 10,000 |HIX=EAZ S4CMS
199 20211120 | ioAtel 2228 ol N =1 20,000 |HIXZEAZ S5CMS

Ctsol & 105/127




No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY
199 20211129 | Wi MEl 2R2E ol N 2k 5000 | XNZs==
129 20211129 | TIMEl 2R2E | oz N % (x 100,000 |HIXIZ=R=
199 20211120 |TIoAtel 228 JHol N =1 10,000 |HIXIZ=R=
129 20211129 | W MEl 22128 JHol N =1 10,000 | XNZs2AZ
199 20211129 | T MEl 2R2E Hol N ST 10,000 |HIXIZ=R=
199 20211129 | TIotMEl 2R2E | B2 N N (x 100,000 |HIXIZER=
199 20211129 | T MEl 2B Hol N =1 10,000 |HIXN=EAZ
199 20211120 | MoiAtel 2228 Jhe! N E—- 20,000 |HIXIZEAZ
2901 20211130 | M2t Atel 2R2E Hol N Ol 10,000 | xNZ=2=
20| 20211130 | XIojAtel 2R E JHol N Qe 10,000 |HIXIZ=2=
20l 20211130 | W2t Atal 2R2E JHol N L 20,000 |HIXZEAZ
20| 20211130 | xIojAtel 2R E JHol N N 0l x 5000 |HIXNES2Z
200 20211130 | T2t Atal 2R2E JHol N N =1 20,000 |HIXNHSAZ
20| 20211130 | KIojAtEl 2R E JHol N =1 10,000 |HINESA
29| 20211201 | XIejAtel ER2E JHol N bk 20,000 |HIXIZ=AZ
201 20211201 | T2 Atel 2R2E ol N 0l 10,000 |HINESA
20l 20211201 | T2t AEl 2R2E Hol N N =1 5000 |HINES2Z
20| 20211202 | xIeiAtEl ER2E JHel N N 2k 20,000 |HIXZEAZ
21| 20211202 | XIojAtEl 2R2E Jhe! N N Ol 30,000 |HIXZSAZ
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NO. @%% S22 >= _
%0 sazzs | sunce |2oE [ RREA] 4
D[ 20211202 | MGAIEl 23S e e S/AX e — —
201 2021120 o1 e = N Bl = Bl
26 cPENE EEes] N 10,000 |HINZEEZ |  =4CMS
2 - =o Coxx =)
281 0211202 | XIGAIE] SRI2E el N 10,000 |HINZEEZ 5 H0MS
2 S S T U_||-** S
% iR | NEME TESE] P N N 100,000 | HINE==2 SHCMS
2 = =o S*x S
281 0211202 | NI Al 2ESS el N N 10,000 | BIXIE== E4CMS
2 o = o 4 K *x =)
g | 20211202 | XAl 2H3E Hel 30,000 |HIXIEERA2 5k
201 2021120 o4 AL = N N Olxx Tee S4dCMS
7 6 | KIAIS SR/A2E JH ol 10,000 | HIXXs=22 =
201 202112 i A3 N L s S4CMS
8 06 |XIGAIS 2RIE|  JHe 10,000 |HIXEERZ
201 2021120 ez} = = N %** Tee
2 7| NS 2RSS Jhel N 10,000 BIXE=AZ
202 20211207 of ALS| = N Exx ==
0 NSNS SR=SE JHel N 20,000 HT RS
202 2021120 odils| = N Sy ==
1 7| NAE 2225 Mol N 5000 |aiuz=az
202| 50011007 | K12t AL = N 0 *x =
2 SAE 2SS opel N 10,000 | HIXI=E=2
202 2021120 ol LS| = 2 x* ==
3 7| XAt SA2E el N 5000 |HIXEEAZ
202 20211208 | X AL8l = Bl 22
2& NSAe 2SS Jpel N 10,000 | BIU==EZ
2 o = o — INERS
£ 20211208 | XIHAEl 2E3E Hel 10,000 |HINEEHZ 5k
2021 2021120 o N1 B| = N K+ TES 24CMS
6 8 | XIHAIE 2RUDE ol 10,000 |HIXIZ=22 54
202 202112 i A3 N S TEe S4CMS
282 08 |XI%AtEl A2 He! N 10,000 |HIXNIXHEAZ S HOMS
2 - = o Rxx =)
g7 20211208 | XIHAE| 2A3E Mol 30000 | NE=22 —
2921 20211208 | X1 N N e Tee S4HCMS
- SME =ESS 10 =<
=] hel N N — 000 | BIXIE=E3 5 M0MS
40,000 |HIXIZZR2 540MS
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NO. @%% S22 = —
— SR3ER AR RE E%‘mxgl% IR SEH
— L sax
0| 20211208 | KIGiAtel 2RSS JHel NT e J e 3 EENZY
203| 50011208 | il ALS] = N S -
1 8 | NG Atel SR =5 Kol N 10,000 HXE=A=
203| 90211208 | xI2iALS] = A e —
203 20311208 | oie = N N S i
3 8 | NIEAte ERAZE Il N 5,000 HXXH=2
2081 50011208 | X1 A E| & A Ol —
4 IGAte] 2RSS ol N 10,000 |HIXIXSA=Z
203| 2021120 — N 2wk -
5 8 [ KA S22E Kol 50,000 |HIXIEEA2
2031 50211208 | xiciALS] = A N S —
283 XA ERDE Mol N N 20.000 | HIX==a2
o —__ Fr*
77| 20211208 | XIHAt2l SRS E ol N 5,000 HXXMESAZ
2031 50211209 | xi2iALS] = N Bl —
8 NG CES JHol N 30,000 | Nm=2
208| 50011210 | X1 A Bl & A B —
9 NEPN LT3 B T] N 5,000 |BIXIZRAZ
204| 50211210 | xI2iAFSl = N Ol —
0 |[ALe S RZSE Kol 10,000 HXE=AZ
204 50211210 | X1 AEl = h Of —
1 NAs 2222 el 10,000 |HIXNZEAZ
204 0021121 o el = N O ** -
2 3 [ XA S22E JHol N 10,000 |HIXEE22
204! 00211213 | It ALS] = e —
3 NG CES JHol N 10000 |HITm=s=
207 0311213 | ote = O -
4 3| oA SRZE| K N 30,000 |HINE=LI
204 90211213 | I2iALS] = e —
284 NG CES JHol N 10000 |HiTm=s=
20 = S E**
04 20211213 | NtAIEl 2R2E Sl N 10,000 | Bixmsa=
2041 20011215 | X ALEl = A B —
7 5 | XIGAtsl =333 ol N 5,000 HXE=A=
204 50211215 | X1l AEl = ax —
8 KAt =3=S ol N 10,000 HXE=&Z3
xx
10,000 |HIXIEES
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No.| olmig sazs saxqe |22 | JISSEH sa7 Lol 2o oEHR B
e o

284 20211215 | XI2tALS] B2 = Mol N Klax 10,000 |HIx=saz

285 20211216 | KICIAlS] 2212 Mol N Qxx 10,000 |HINE=2= S4CMS
2?5 20211217 | XI2tAIS] B2 = Hel N N S 10,000 |HIx=s2= S 4C0MS
285 20211217 | XICiAtE] B212= el N N £ wx 10,000 |HIX=ES2= S4CMS
235 20211217 | XI2AIS] B2 = Hel N Sk 10,000 |HIx=s2=2

225 20211217 | XICiAtE] B2 Mol N Bl 20,000 |HIXEs2=

225 20211217 | KICiAtS] 22122 Hel N 0] # 10,000 |HIx=s2=

2g5 20211218 | XAl B2 = el N 2wk 10,000 | HIXIRE2

295 20211218 | KICiAtS] 22122 | oI2toH N N Bhax 10,000 |HIx=s2=2

285 20211220 | XICiAtS] E212= el N N 2wk 10,000 |HIx=s2=2

285 20211220 | XICiAtS| 2= JHel N N 2wk 10,000 |HIx=sa=

286 20211221 | XICiAtS] E212= el N N Lxx 10,000 |HIx=sa=2

2?6 20211221 | XICtAtS) BRI2= Hel N N £ wx 10,000 | HIXIRS2=

286 20211221 | XI2HAIE] B2 = Mol N T 10,000 | BIXIREZ

236 20211221 | XICtAtS) B2 = Mol N e 10,000 |HIx=saz

226 20211222 | XICiAte] E212= el N N 2wk 30,000 |HIX=E=Z

226 00211222 | XI2iAIE B2 Mol N N 0l %+ 10,000 | HIX==2=

286 20211223 | X|Ci At 2= JHel N N 51 % 10,000 | BIXIRE= S4CMS
296 20211223 | XI2tAlS| B2 = el N T xx 10,000 |HIx=sa2
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No. o 2lal == = =
= e AL E%‘mxgl% P E=T=S]
— L S
g | 20211223 | XISiAtel =33 JHol NT e J e 3 EENZY
206 90211223 | xI2iALS] = = ;
5 NEIEELEE= Mol N 10,000 | HIAS=23
207| 00211223 | K2 ALS = o -
207 2om1 1293 | o el = N Z. —
22)7 3 |xieArs saiaE ol y 10,000 | HIXNZ=RS
” — Ghxx
07 20211224 | X% AtEl 22BE Shol y 10,000 |HIXEE22
207| 2021120 — N 2w —
3 4| MM SRBE| Kl N 20.000 | BINS=HS
207| 90211225 | It ALS] = = e
4 NEPNSSIETE = S 1] N 80,000 | BINE=ES
207} 00211206 | K12 AEl = h o -
287 NENEEEE Jhol N 20,000 | HINE=ES
5 —— UERS
6 0211227 | X AlE) s212= Jhol N 50,000 HXE=AZ
207\ 00211227 | X1t ALEl = o -
7 [SAtel 2333 Jpel 20,000 | HINE=ES
207 20p 11007 | o112l = N Ol —
8 7| TeinE 2R2E| K N 10,000 | BINE=A=
207) 00211007 | K12 ALEl = h & e
288 NEPEEDEE= S0l N 10,000 |Hixm=a=
” — S*xx
08| 20211227 | KIoiAtEl 2RBE Jhol N 10,000 |HX=E=aA2
208| 90211227 | XI2iALS] = h w e
1 ENEECEE: Mol N 10,000 |HIXEE22
208| 501 120 — N S xx —
5 AV ENCEEES ol 10,000 | BIAIZ=2S
208| 90211227 | XI2iALS] = " = -
ki 7 |nens srzE| o N 10,000 | HINF=2S
20 - == M
%8| 20211227 | It AtE| BRBE Jiol y 10,000 |HIX==22
208| 50011007 | X1 ALEl = o e
288 ENCECES Jhol N 10,000 |HX=EEA2
’ — 2 x*
%8| 20211227 | KIoiALEl 2RDE ol N 10,000 |HIXE=22
o [ L )
PLxx
30,000 HIXES
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No. gl S9a= =
- SR3ER AR RE E%‘mxgl% IR SEH
— L =%
7| 20211227 | NeiAtel 2RSS JHol NT e J i< =Yl P
208 20211207 | Kl A1El = P
8 7 |xeiAE sRBE| Kol 20.000 | HE==
208| 90211227 | xI2iALS] = " " o ;
289 AP ENEET Sl N 10.000 | HIx==
’ — Hxx
289 0211227 | K2 AtS) 212= S0l N - 10,000 |HIx==
— Alxx
209| 90211227 | XI2iALE] = h o -
il 7 |neins zaaE|  Jhe N N 20,000 | HIXE®
” — & x*
B 20211227 | RieiAtsl SRBE|  Ho 10.000 | HIXIE=
2091 50011227 | X1t AEl & " = ’
4 7| TeinE 2R2E| Kl 900,000 | NE=#=
209| 90211227 | XI2iALS] = " = -
289 7 | XSAE 2223 ol N 10,000 |HIXIAEZ
” - Q| **
289 0211227 | KI2AtSl 2122 Jhol N 10,000 |HIx==
’ — S**x
09 20211227 | KioiAtel 2212 S0l N 10,000 |Hix==
2091 50011227 | X1t AEl & " =
5 ANENCELES ol 30000 |HIN==S
209| 90211227 | XI2iALE] = h " O
2190 7 | KIS Ate 2223 JHol N 20,000 HI X &=
” — Hxx
210 00211207 | KISt AL 3] 2 N ke
1 AVENCELEE JHol N 10,000 | BIxIE=
2101 90211227 | It ALS] = h s
2 7| NenE sRaE | e N 10,000 | BIAS=
— O **
100 20211227 | Mot el 2RaE e 20.000 | HIXIES
2101 90211227 | It ALS] = " = .
2?0 AN ENEE L Jhol N 20,000 |HIKES
” — 2 xx
10 20211227 | Wit AtEl BR2E Jiol N 10.000 | HIx==
N QfFxx
10,000 | BIXI=E=E
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
20l 20211227 | xieiarel sR2E Hol N e 10,000 |HX==2A2

210\ 20211227 | MieiAtEl SR E JHol N N Olx 20,000 | HIXIZERZ

20l 20211227 | xIeiarel 2R E Hel N Ofux 10,000 |HIXIZ=R=

200 20211227 | xiejarel sR2E JHol N N Dk 20,000 |BIXZEAZ

2l 20211227 | Mot Atel 2R3 E JHol N 2k 30,000 |HIXZsAZ

211l 20211227 | T2 Atel 2R2E JHol N S 30,000 |HINESAZ

21| 20211227 | KIeiAtel 52 JHol N 0l 10,000 |HINESA

2l 20211229 | XIojAtel sR2E Jho! N Ol 20,000 |HIXZEAZ S5CMS
211 20211229 | T2 Atel 2R2E ol N =1 10,000 |HIXIZER= 54CMS
2U| 20211229 | XIojAtel 2R3 E Hol N =1 10,000 |HIXNZEAZ SHCMS
il 20211229 | T2t Atel 2R2E JHol N =1 10,000 |HIX=EAZ S5CMS
211l 20211229 | M2 Ate) 2R3 Hol N 2k 20,000 |HIXZSAZ &4CMS
il 20211229 | T2t Atel 2R2E Hol N =1 5000 | NmsAU2 S5CMS
il 20211229 | TiotatEl 2REE | Bl N % (xx 100,000 | HINESAR 545CMS
2%l 20211229 | T2t AtE) 2R2E Hol N =1 10,000 | XNZsAZ S5CMS
212l 20211229 | M2 AtS) 2R ol N ST 10,000 |BIXIZ=22 S4CMS
2121 20211229 | TI%AIE) 2R2F | o12e N N (e 100,000 |HIX==A2 SHCMS
212 20211229 | T2 AtE) 2R2E Hol N =1 10,000 |HIX=EAZ S4CMS
212| 20211229 | XIojAtEl SRS ol N e 20,000 |HIXZEAZ S5CMS
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NO @%% == = —
— SR3ER AR RE E%‘mxgl% IR SEH
— L sax
5| 20211229 | XISiAtel 235 JHel NT e J e 3 EENZY
712 20371900 |71 1121 = B =
6 9 | NG Atel S3 =5 Kol N 10,000 HXE=A=
212| 20211229 | xI2iALS] = e —
7 X AIS SRADE el N 10000 |HiTm=s=
712 20371900 |71 1121 = 5 i
8 9 |xoAs 222 Mol N 0.000 |HIXZ=a2
212| 90211229 | xi2iALS] = s —
9 XALE 2= JHol 10,000 HXES2A2 =
213 2021122 " - - N g_** T 0 =
0 9 | NG Atel S 3 =5 Kol 10,000 HAXEZ=|Z =
2131 50211229 | xi2iALS] = A B — -
213 XA ERDE ol N 10000 |HITm=s= =
o —__ & x*
13 20211229 | XIMEl 2RDE Yol 10,000 | Bimsa= _
2131 20211229 | xi2iALS) = A B — -
3 X AS S2E Mol N 10,000 |HINZEZAS 5
218| 00211229 | X1 AEl = S — -
4 9 |NeAs sezE| Oy 10,000 | BIXIZ=2AZ 5
213 20911000 | 1o 121 = N TP - =
2% 9 | XA SE2E plel N 10,000 | HIXXSAZ =1
o . Bhxx
18] 20211229 | NetArEl 2R E Sl 10000 | Mmsa= -
2131 20211229 | xi2iALS] = h N Gler — -
7 NSAe S2A=S JHol 10,000 HXEZ=Z =
213| 20211229 | xI2iALS] = " A Ol — -
8 X AlE] B2D= JHol N 10000 |HITm=s= =
513 20911200 | oie = N S ux - =
9 9 |ToAE SRZE| K N 10,000 | BINE2RAS z
214 00211229 | xI2iALS] = A e — -
0 NG CES JHol N 10000 |HiTm=s= -
2141 00011229 | X121 Al = A K — -
1 X AlS] 2= Mol N 10,000 | Bixmsa= =
2141 50211229 | xi2iALS] = N T — -
;4 XIAlS BRI2Z Sl N - 10,000 | BiRms= =
20 s S xcj**
14 20211220 |t ArEl 2R E Yol N 50.000 | HIX==a=2 _
N Bk - =
10,000 |HIXIE=S 5
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No.| oS¢ =9 2=z == — o= _
4| 20211229 | XIS AS] 222 o = o= AL e
214 el N - S DEHE
24| 20211220 | XItMEl 2R2E " N s =3
214 == = 10,000 =o
o 20211229 | RiotAtEl 2RIZE | Of N N o IREELE
512 iU =—l==] Hol 10,000 =2
g 20211229 | X% Arel 22138 N N . Hixg=ds
214 kil I N N 20,000 |HIXZEAZ _
o'| 20211229 | Xt Arel =RI2E o B == &
215 il el 30,000 =q
19120211229 |xIotAtsl 2RBE| ) N N o Bruzsez | =
215 e el N 20,000 =
SRSE ol 10,0 =
215 N N 000 | HIXE=2Z _
57| 20211229 | X% ALEl A2 E 2wk cTTe Cl
5TE 2= ol N 10,000 HA RS2 -
5TE 2= ol N 10,000 =22 _
4 20211229 | KI9 Al /=23 Koxk oF o =
S1E ; == JHol N 10,000 NE=3= =
5 0211229 | XIS9Ate =]22 o O »= i I
51E Kol N 10,000 =22 _
&> 20211229 | Xt Arel =212 B Olx ELE =
215 e N N 10,000 |HIXIZS _
7 20211229 | KX AlS| S212= ST == =
5TE == ol N 10,000 H X &= _
515 == ol N N 10,000 H X &= _
T;DE
216 el N N 5000 | HIXE= —
(%] 20211229 | XA A3 FR2E 2k e s
5TE == Kol N N 5,000 HI X &S —
== Jpel N 5,000 HI X &S _
Hxx o =2
5,000 NE8=33 =
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No. o 2lal == = —
= SHU3ER saxne |2RWIE | ITQEA
— 2 s
16 20011200 | Wionisl zmzE|  He v — } i zo | mEumw
216| 20211229 | X2t A & " o ;
4 NSNS 2RAZE|  JHe N 10,000 |viNE=aA3
216 20211230 | xI2iALS] = h o -
5 XSAE =22 Mol 10,000 | HIXXs22
216 20911230 | 1ot 121 = N Ol % M—
6 0|XtArsl =RZE | Jhel 10,000 | Na=#=
216 20211230 | It ALS] = " " = -
7 JEEREETEE T N 20,000 |HINERAS
218 20p1 1290 | 1ot 121 = I —
& 0 |NeNE 2R3 Jfo 10,000 | BINE=HS
216| 20211230 | X2t AV S| & " o -
i) NEYCELEE Y BT N 5000 |HIX@=A=
’ — Exx
2?7 0211231 |KISiAlE] 212 ol N 20.000 | HiNm=a=
5 — Qx*
2171 20220103 | K12 A Bl & h o e
2 |H9AS 2RSE Jhol N 5000 |HIXNES=AZ
217\ 20220103 | X2 A3l = o e
3 EVNCETEE) BT N 10,000 | BIXI&=23
217\ 20220103 | X121 A3l = o -
i XotAsl A3% | JHol N 100,000 | HINE=AS
217\ 50200103 | KI2i A = " = -
2?7 3| XA EoaE Mol N N 10,000 |BIT==2=
” — & x*
6 0220103 | K AlE| Eai2= Jhol N 30,000 HAE=EZ
2171 50200103 | KI2i A = A o =
2177 3 |xoAs s2aE JHol N N e R
” — Hxx
2?7 0220103 | KI2iAtel B2 = Jhol N 10.000 | A&=a=
0 — Coxx
1| 20220108 | Kt ALSl BRSE Sl N 10,000 |BIT==s2=
2181 50020103 | x| AE| & h = -
0 NEINSIESEE= 3 ] N 10,000 | BINE=AS
2181 90020105 | x| AE| = A = -
1 5| XotAtsl sR2E ol N 0.000 |HITI==22
O] **
10,000 |HIX==2
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
2181 20220105 | M2 AtS) 2R E Hol N . 10,000 |HIXIZ=2=

2181 20220105 | T2 Ata) 2R2E Hol N S 10,000 |HIXIZ=R=

218| 20220105 | XIojAtEl 2R E Hel N N Lk 5000 |HXzsa=

2181 20220105 | T2 Ate) 2R2E JHol N =1 5000 |HINZS2Z

2181 20220105 | T2 Ats) 2R E JHol N N Olxx 30,000 |HIXZsAZ & 4CMS
218| 20220106 | T2 AtE) 2R E JHol N Lwx 10,000 |HIXIZERZ

2181 20220107 | T2 A8l 2R E JHol N N Qe 5000 |HIXNES2= SHCMS
238| 20220107 | XIojAtEl BR2E Jhe! N N | xx 30,000 | Nm=22 S4CMS
209 20220107 | T2 AtE) 2R E Hol N N S 20,000 |HIXZEAZ

219| 20220107 | XIojAtEl 2R E JHol N 0l 10,000 |HX==2A2

291 20220107 | T2t Ate) 2R2E JHol N N S 5000 |HINms2Z S5CMS
219] 20220107 | XIojAtEl 2R E JHol N N S 20,000 |HINE=AAZ &4CMS
219] 20220107 | T2t AtE) 2R E JHol N N =1 50,000 |HINXSAZ S5CMS
2191 20220107 | xIotAtEl 2R2E JHol N N 0l 10,000 |HINESA 545CMS
2190 20220107 | T2t Ate) 2R2E Hol N P 10,000 |HIXIZ=R= S5CMS
219] 20220107 | W2 AtE) 2R E ol N Jup 10,000 |HINESA S4CMS
2491 20220107 | T2t AtE) 2R E Hol N Sax 10,000 |HIXZEAZ SHCMS
29 20220107 | T2 AtE) 2R2E JHol N e 30,000 | NmEA2 S4CMS
2201 20220107 | XIojAtEl ER2E ol N N e 10,000 |HX==22 S5CMS
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No.| 3« =g axz= _
220l 5 255 saxne |2RWIE | ITQEA Z
1 0220107 | XIS9Ate =]22 o - VE] SAX e
5 Hol N \ - S EENEY
5°| 20220107 | KK AIEl =23 Ok =A38 HID
2200 5o el N N 40,000 |HIXIZS2Z —
20| 20220107 | IfAtEl 2RSE JHeol S ce SHCMS
220 - = N 10.000 | BIXIZ=9 _
2| 20220110 | XIHASl 2R 3E - N |+ Sd3 S45CMS
220[ , el N N 10,000 |HIXE=22 —
220/, JHel N 10,000 | HIXEE22
£°| 20220110 | M AIE| £RA2E el Of # " 22
220 ,OOO ==
21 20220111 | XI%ALEl 22 E N N 2Ukx BiNasds
555 =22 Jhol N 5,000 HX &S
5| 20220112 | N ALS] A2 E ST 2%23
550 =23 JHol N 10,000 HXESA2
5o 2= ol N 30,000 HA RS2
T o oo
221, Ml N N 10,000 |HIXE=RS —
7| 20220113 | N AtS| S ASE o bk 23 S4CMS
221 , He! N 5000 |HIXIEEA2 _
21l 20220113 | Mot Arel 2228 0 e — SECWS
221, MHel N N - 10,000 |HIXE=2A —
5| 20220113 | XIHASl 2E3E R T 23 S4CMS
5o JHol N 10,000 HXES2 -
2'] 20220117 | XI=AS] £33 S Bk =23 S4CMS
5 kel N 10,000 | HIXEE2
55 == ol N 10,000 HA RS2
221 el N 10.000 |HN===
§'| 20220117 | NtAIEl 2RSS St 2223
5o =3 JHol N 20,000 HX &S
&'l 20220117 | Rt ArEl =212 E Fx -
o= Jhol N 10,000 |HIXNXS2AZ
Qx* ==
10,000 =5
HIXEE22 S4HCMS
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NO. @%% S22 = —
— SASER saxze 2L |5 RS
— 5 S2X
07| 20220119 | NiGiAtel 2RSS JHel NT e J e 3 EENZY
2221 90220119 | X% AFS] = N Fox -
2122 9 |XIAE EARE JHol N 10,000 |Hixim=saz
o . & x*
22| 20220119 | RISl ArEl 2R2E ol 10.000 | Hx==a
227 2oso011 | o al = N o -
3 9 | NG Atel S 3 =F Kol 10,000 HXNESRZ
222! 50920119 | XIS AF3] = " Ol —
7 9 | XAlE 2R2E Shol 10,000 |Hix==22
227 soso011 | ot el = N L —
5 9 [XIY¥AIS S22E Kol 10,000 |HIX®EE=22
527 pooo0r1o | 1o e = N T -
© 9 |XIZAE 2RASE|  o1e N N 10,000 | BIXZZA3
o —__ Bhx
22 20220119 | NI MEl 228 Jhel 10,000 |Hixim=saz
222] 20920120 | 1ot el = N ST —Z
8 0| XAtE 2= Jhol N 10,000 |Hxmsa2
222| 50220120 | X2 ALS] = " 2 —
9 NeAtsl 2eaE | oje N 10,000 | BIXIZ=2AZ
223 50200101 | 1<t Aral = N 2 -
223 NSAe SR=S Kol N 10,000 HXE=AZ
o — K **
=3l 20220121 | X% AIE) 2R3 ol 10,000 | Hx==a2
223 20000121 | 11 a1 = N e -
2 KNEA2 2J33 JHol N 10,000 HXEZ=Z
223| 20200121 | X1 ALE] = A B —
3 XSAS S2E Hel N 10,000 |Hix==s12
223| 5020012 — N P -
233 4 | RAe sz ol Xy - 10,000 |Hixim=saz
20 Sl S22 a**
5 220124 | KIYAte 2238 ol N 10,000 |HIXX==Z
223| 20220124 | x| A5 = A s —
6 XSAts SJA2E ol N 30,000 |HIXIH=2=
223 popao125 | 1o nal = N 0%+ -
2;3 ENCELEE Jhol N 10,000 |Hxmsa2
= PL*x
29| 20220125 | 12 MEl 2RI2E Jhol N 00000 | ===
2 x% -
30,000 |HIXIES22
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No.| oigy SAZER sAxPE E%‘mxgl% j'%ifi“ SR e =X EENRY
223| 20220125 | XIojAtEl 2R E Hol N N Sy 10,000 |HX==2A2
2241 20220125 | T2 AE) 2R E Hol N Sk 30,000 |HIXz=AZ
2241 20220125 | XIojAtEl £R2E Hel N Olxx 10,000 |HIXIZ=R=
2241 20220125 | I AIE) SR2E JHol N N 0l 20,000 |HIXZEAZ
2241 20220125 | T2 ALS) SR E JHol N S 10,000 |HIXIZ=R=
2241 20220125 | T2 AtE) 2R E JHol N N =1 10,000 |HIX=EAZ
2241 20220125 | T2 ALS) 2R E Hol N Of 20,000 |HIXZEAZ
2241 20220125 | XIojAtEl SRS E Jhe! N Ea- 10,000 |HIXIZ=22
2241 20220125 | T2 AHS) 2R E ol N . 30,000 |HIXzE=AZ
2241 20220125 | XIojAtEl £R2E JHol N L 20,000 |HIXN==AAZ
224! 20220125 | T2 AtE) 2R E JHol N N Dk 20,000 |HIXE=AAZ
2251 20220125 | W% ALS) SR E JHol N N ok 10,000 |HX==22
2251 20220125 | T2 AHS) 2R E JHol N N S 10,000 |HIXIZER=
2250 20220125 | W% ALS) 2R E JHol N Pk 10,000 |HINESA
2251 20220125 | IS ALS) 2R E JHol N N T owx 10,000 |HIXXEAZ
225] 20220125 | T2 AHS) 2R ol N N Obxx 20,000 |BIXXS2AZ
2251 20220125 | T2 ALS) 2R E Hol N N s 10,000 |HIN==22
2251 20220125 | I ALS) 2R E JHol N N b 10,000 |HIXIZ=R=
225| 20220125 | XIojAtEl £R2E ol N 2k 30,000 |HIXESS
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No. o 2lal == = =
— SAIER SANPE E%‘mxgl% JIE =
— o EEW

23| 20220126 | XIS M3l 2228 Mol — Ae } L= 3 EENEY

225 00000126 | KIS ALE| = s A = . =

5 6 |XAEl SRBE| Kl N 10,000 | BINE=#=

226| 50200126 | Xl AL8] = ™ .

226 S ——— o - 10,000 |HX=R=2A2
5 — N **

226| 50200126 | X1 AL8] = h o s

226 X=AIE SRADE I N 10,000 |HX==aA2
5 —— O] **

228 20500100 | 1ot 121 = N O« —

4 NEPNSSIETE = S 1] N 20000 | BINE=ES

226| 50200126 | I AL 3] = = e

5 6 |XeiAEl SRBE| Kl 10,000 | wiA@==3

226| 50220126 | XIS ALEl & h " = e

6 NoAS 2RZ2E | Jhel N 30,000 | BIXIE=#=

226| 00000127 | KICiALEl = " = e

2 XeAsl =222| Ko N 70,000 | BINE2AS

226| 50920127 | XIS ALE] = h i e

226 7 | XIeAE 22 IHol N N 50,000 |HIXZE=AS SHCMS
” — 2 x* -

227 0220127 | XISiAS 212 = ol N - 10,000 |HX==2A2 = HOMS
5 ——— 2 x* -

227 0220127 | KAl 2= ol N - 10,000 |HIXIZ=R= & HOMS
” — 2 x* -

2;7 0220127 |KI ALl 2212 = Mol N - 10,000 |HXNZ=2A2 5 HOMS
’ — Ehxx -

227 0220127 | XIGAtel =3 S5 JHol N N 5,000 HIXE=E= SACMS
0 — HExx -

27 20200127 [t n2 2 E s - 20,000 |HIXE=AZ = A
237 7 | XIciAlsl 3R2= Mol N N 30,000 |HIXNFEAZ S4HCMS
5 —— 2 ** -
227 0220127 | KIALS| 212 = S0l N - 20,000 |HIXZEAZ & HOMS
20220127 | X1 ALS| B2 A y

6 |2ALE] SRS E 10 s2
= p/e] N N o 000 |HIXEZRAS 54CMS
10,000 |HIXIZ=2= 5H0MS
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NO. @%% S22 >= _

227 TESET saxze | Ty | JINREA Z

7 20220127 | KIZALE S22 = - (0: 1= S2xt Ly = =

TCooo Jpel N Shal IE=H38Y

2271 2022012 ol A1 5| = N BH = "I

22 7 | XoAs =222 Mol N N 10,000 |HIN=ES2= 540MS

228 SNEFESE| A N N 10,000 |HINESEZ|  SHOMS
2 e — o o A xx A

2g8 0220127 | IR A2l £ 2=S JHel N N 10,000 HXEZAAZ SACMS
2 - = Hhxx =

1| 20220127 | XISAtE] 2RSS JHel 10,000 |HIXZEEZA2 54

2281 2022012 ol AL E| = N N (S T2 S4CMS

238 L JHQl N N 10,000 |HIX®EE=22 S4CMS
2 - =0 Q| ** =

725 DOl | FANE EESS] W N N 10,000 |HINESAZ |  SHCMS
2 = =o Alxx S

a4 | 20220127 | XI%Asl 2238 el 10,000 |HIXEZ= -

228 2022012 ol kLB N N Hhxx == S dCMS
258 TPENE FESE] A N 10,000 |HIX==22 54HCMS
2 = =o j,:,l** (=}

57| 20220127 | KX AISl 23S JHol 10,000 |HINES2=
228 2022012 ol ALs| = N 0] %% ==
2;8 7 | XAs 222 oMol N N 10,000 |HIXESZ
20 = =o ‘_T"\_-l**
8 220127 | XNIYALE 222 kel N 20,000 | HIX=EE2=
228 20220127 | (I ALE] & 0] %% ==
5 el =ESS) e N 10,000 |HIXESA
229 20220127 | KIZALE] & N 0] %% ==
0 DAl ESR/Z2E JHol N 20,000 T
2291 50000127 | X1 ALE| & N Ll =
53 NEAE 2ESS) W N N 20000 |HIKEEaZ
20 = =0 O
229 220127 | N2AIS S22 el N 10,000 |HIX=Esg= = 4CMS
2 = S &I** S
729 0220127 | NIHAIS] 2238 |  RIZEH N Y 5000 | NE=a3 &4CMS
2 S =<2 (** <
5 Q220127 |MBNS =858 | e N 100,000 | BIXIZS2Z S5CMS
20220127 | K| AlE] &2 2wk o
> IS AE 2RSS 5,0 .
= Jpel N o ,000 A2 SHCMS
20,000 |HIXNZZAZ 5 H0MS
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2295 saxne |2RWIE | ITQEA =z
&9 20220127 | X AtEl RSB = o S e
e jHOI = 1 0H
229 > N 3% | BENEY
77| 20220127 | NIH At S ASS 2 xx <
- sd=as JHol 10,000 =
229] , N : HXES2Z
29| 20220127 | N MEl 2RSE il
229 , N , HXES2Z
29| 20220127 | NN 2RBE|  OHe =
%005 ol N 10,000 |HIXESZA2
20l 20020127 |WIAE 2RIBE|  JHe o
5ol ol N 10,000 |HIXIZE22 -
01 20220127 | X2 Atel SRBB S =
2 20220127 | XIS AL &2 Hhxx Co S
AN 2RSS Jhol 10,0 =
230 N ,000 WL _
30| 20220127 | T2t A8l 2RI2E B — -
230 =t ol N 10,000 N _
2 | 20220127 | KIS Atel 2E =S o Ol *% =2
200, Hol N 10,000 N = =
20| 20220127 | KIiAtEl 2RSE ol 0]+ a
230[ , H N N - 10,000 |HIXIZ= =
20| 20220127 | XIS ArEl =RI2E ol Btk =
730 5, I N - 10,000 |HIXIZZS =
2P| 20220127 | K AtE) =213 S =
230[ 50 N N - : SEELE! _
a°| 20220127 | N%AtEl 2R3 ol |+ s
%5005 I N 10,000 |HIX=EZA2 =
9 0220127 | XIS AS] =23 o 2 xx k=3
21, Hol N . 10,000 N = =
0 0220127 | XIALE] SR2=E e -
231 5 N N : HXES2Z _
Ol 20220127 | KI2Atel 2228 o Dx =
231, f N N 5,000 |BIXm=2Z —
31 20220127 | Kt ALSl 2RI2E Shol = -
237, i N 5000 |Hum=saz —
31 20220127 | MetAtEl 2RSS | He e -
IS ol N - 10,000 |HIX=EZA2 s
21 20220127 | M MEl 2REE ol = -
! N 10,000 |HIXIZ=22 —
Hxx -7 =2
10,000 |HIXIZZES 5
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X EENRY HID
291\ 20220127 | XIojAtEl 2R2E Hol N Bk 10,000 |HIXIZ=2= S5CMS
2911 20220127 | T2 AtE) 2R2E Hol N L 10,000 |HIXIZ=R= SHCMS
291\ 20220127 | XIojAtEl 2R2E Hol N Rl 10,000 |HIXIZ=R= & 4CMS
2911 20220127 | T2 AtE) 2R E JHol N =1 10,000 |HIX=EAZ S5CMS
2911 20220127 | M2 AtSl 2R2E Hol N w—- 20,000 |HIXZEAZ & 4CMS
2921 20220127 | T2 AtE) 2R E JHol N =1 10,000 |HIX=EAZ S5CMS
22| 20220127 | WIS ALE) 2RBE|  LI2E N N (x 100,000 |HIXIZER= SHCMS
2921 20220128 | M ALE] ERBE| =PIV eSp. 500,000 |HIXZE22

2921 20220203 | W% AHE) 2R E JHol N Ol 10,000 | xNZ=2=

2%2| 20220203 | XIojAtE] £R2E JHol N 2k 10,000 |HIXIZ=2=

2321 20220203 | T2 AtE) 2R E Hol N L 20,000 |HIXZEAZ

2921 20220203 | XIojAtEl £R2E Hol N N 0l x 5000 |HIXNES2Z

2921 20220203 | T2 ALE) 2RIE | L2AE N N Tk 200,000 | HIXHEAZ

2921 20220203 | XIojAtEl £R2E Hel N N =1 20,000 |HIXIZERZ

2921 20220203 | T2 AtS) 2R E Hol N Ol 10,000 |HIXIZ=R=

2931 20220203 | T2 AtE) 2R ol N S 100,000 |HIXIZ=22 S4CMS
23] 20220203 | T2 A3l 2R E Hol N N Sax 10,000 |HIXZEAZ SHCMS
293] 20220203 | T2 A3 2R E JHol N N T 30,000 |HIXESAZ S4CMS
23| 20220208 | XIojAtEl BR2E ol N N 2k 20,000 |HIXZEAZ S5CMS
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NO. @%% S22 = —
— SAZERF saxne |2RWIE | ITQEA Z
2| 20220208 | W AIE) 2R2E = T TR LH< =10 =
TESS p/iJel =" HEANZY

2331 50220203 | xi2iALS] = h N g . =
2% 3 | XAt =228 ol N 10,000 | HIXX=AZ SA4CMS

o . Bhyx =
33 20220208 | Kot A3l 2 RSB o 20,000 |HIXEs2= _

2831 002202 _ " s — =
2g3 03 [ NGAe =3=3 Kol N N 10,000 HIXEZ=3= SAHCMS
o . Hxx =

5| 20220204 | XI%HAtsl SRS ol 10,000 NESEE = 54
P — —— N N ™ =23 S4CMS
234 07 | XNISAte] SRS S ol N 10,000 NE=2=
o — Q| **
54 20220207 | NI MEl 2R2E S0l N 10,000 |Hx==az
2341 50000207 | XIS AE| = = —
1 KNGAe SR23 ol N 10,000 HXES2A2
2341 50020207 | X1 AE| = N S —
2 KNSAte =325 ol N 5,000 HIXNE=E=
2341 50000207 | X1 AE| = A S* —
3 XHAS 2A2E Hel N 20,000 | BIXd=ES
7] B p— 2 xx -
4 7 | NSAe 2RSS I 5,000 HIXESR2
2341 50000207 | X1 AE| = " = —
£4 KNEAE S)2E ol N . 10,000 HXES2A2 S ACMS
o = O] ** -
224 0220207 | XIALS 2323 ol N N 30,000 | HIXIHE=2 SA5CMS
o . Hhex =
2;4 0220208 | XIAtSl 23S ol N 10,000 |HIXEE2A2 S4CMS
o E— Bhyx -
8 0220208 | KIZAtsl =3 =5 Kol N 10,000 N EEELE]
234 50000208 | KIS A3 = B —
9 XAE Sa2= Mol N 5000 |HNm=22
2351 90220208 | X121 Al = A S —
0 NN == Mol N 00.000 |HIXNmEaZ
235 50200208 | X1 AE| = N Se —
1 XAE SA2E Jhol N 5000 |HIXN=E=AZ
285 50200208 | X1 A3l = = —
5 8 |XIciAtsl 22122 ol N 10,000 |Hx==a2
O] **
10,000 | HIX==2=
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No.| oigy SAZER sAxPE Eé‘mxgl% 7|$01€.‘$E*i1l SR LH =X oE

23| 20220209 | XIojAtEl ER2E Hol N Jup 10,000 | HIXIE

2350 20220209 | T2 AtE) 2R E Hol N P 10,000 | HIXIE

23| 20220209 | XIojAtEl £R2E Hol N Sk 10,000 |HIXIN=

2951 20220209 | T2 AtE) 2RI E Hol N e 30,000 | XNm= =

2951 20220209 | T2 AHS) SR E JHol N N e 10,000 |HIXIZ= =

2951 20220209 | T2 AtE) 2RI E JHol N N O 40,000 | HIXIH =

2350 20220209 | T2 A8l 2R E JHol N N bk 10,000 | HIXI=E =

29| 20220209 | xIojAtEl BR2E Jhe! N N | xx 10,000 | HIXIE s

2901 20220209 | T2 AtE) 2R E Hol N N S 5000 | HIXIH =

290] 20220209 | T2 AHE) 2R E JHol N N 0l 10,000 | HIXIE

20| 20220209 | T2 A3l 2R E JHol N N =1 50,000 | HIXIH

2%0] 20220209 | T2 A3l 2R E JHol N N S 20,000 | HIXIZ

230 20220209 | T2 A3l 2R E JHol N N = 5000 | HIXIH

29| 20220210 | XIoiAtEl 2R E JHol N 0l 10,000 | HIXIN

230] 20220210 | T2 AtE) 2R E JHol N Of 10,000 | HIXI=

20| 20220210 | W2 Atel 2R E ol N N 0l 10,000 | HIXIN

20| 20220211 | T2t AtEl 2R E Hol N S 10,000 | HIXI=

2971 20220214 | T2 AtS) 2R E JHol N N S 5000 | HIXIH S4CMS
297\ 20220214 | XIojAtE] £R2E ol N Fax 10,000 | HIXIH S5CMS
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No.| olmig sazs saxqe |22 | JISSEH sa7 Lol 2o oEHR
e o

25237 20220214 | XI2tAtS] B2 = Hel N N £ wx 10,000 |HIx=saz
237 00220214 | KICiAtS] E212= Mol N Kl 10,000 |HINE=2=
227 20220214 | XI2AIS] B2 = Hel N Ofx 30,000 |HIXESa=
227 00220214 | XICiAlE] B2 el N e 10,000 |HIx=s2=
227 20220215 | XI2AIS| B2 = Hel N Ela 10,000 |HIx=s2=2
2§7 00220215 | KICiAtE] 22 Mol N e 10,000 |Hx=s2=
237 20220216 | KICIAlS] E212= el N Dk 10,000 |HIXN=ES2= S4CMS
237 20220217 | XItAtS] B2 = ol N N S 10,000 |HIx=saz S4CMS
288 20220217 | KICiAtS] 22122 Mol N Sk 10,000 |HIx=s2=2
2?8 20220217 | XI2tAIS] B2 = Hel N Bhax 20,000 |HIX=Esa2
228 00220217 | KICiAtE E212= Hel N 0] # 10,000 |HIx=sa=
238 20220220 | XI2tAIS| B2 = JHel N 2e 10,000 |HIx=sa=2
228 20220220 | KICIALS] ER22 |  oI2teHy N N e 10,000 |Hx=sa=z
228 20220221 | XI2tAIS| B2 E Hel N N Zan 10,000 | BIXIREZ
228 00220221 | KICiAIE] B2 Mol N N 21k 10,000 |HIX=Esg=
2§8 20220221 | KICiAtS] E212= el N N 2wk 10,000 |Hix=aaz
238 00220221 | XI2IAIE B2 Mol N N £k 10,000 | HIX==2=
288 00220221 | KICiAtS] E212= Mol N e 10,000 |HIXEsg=
289 20220221 | XI2tALS] B2 = ol N T 10,000 |HIx==

Ctsel & 126/127




g
™~ &)
o 0

o

no | no | no
0w | @ | w
A I T
Sl ro | ®o0 | RO
el e
His| 5|5
=
= | |38 |8 |=
mlslel2E
O () (@) N~
— o — Ouy
2
ar
=
Bl:lz|z
I O
__o_l (@] _JD a
=
aJ
:aww Zz|l=z| =z
I+
~
A
m
ﬂmww Z |z | Z
ro
Y
i8]
o N I
Tla|a|a
XKi=s|s|5
(4]
i0f
HO | HO | HO
no | no | no
E | o | oo | oo
0 1 k| o |
o | 9| e
| < | < | =<
s | ar | ar
Kl=|IR=
Al Al (ep]
—_ Al Al [aV]
alslslelm
& S|s|y|®™
@-._ (@) (@) (@)
(q\] Al Al
N ()] (@)) (@)}
O [O—[Oaifmdm
Z | Al Al

127/127



SES(SZ) MEZAMA

[ 20210101 ~ 20211231 ]

No. | ALR Xt A LR ANEH =g gy S et bl AQlo R
i 2021-01-12 | ARA WD o W x D i 700,700 H 2021-01-12
> | 20e1-01-13 | 29t o E Su3} i 50,000 H 2021-01-13
3 240) OG0l 127 i 950,000 o 2021-01-13
4 | ooi-01-18 | 2= ol st 10 400,000 box 2021-01-16
5 | 2021-01-26 | 220! Osoa | ¢y i 3,300,000 o 2021-01-26
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10| 201-04-00 | wX RAmAI| Csomy | BN TESE 1 1,000,000 o 2021-04-09
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SES(SZ) MEZAMA

[ 20210101 ~ 20211231 ]

No. | ALR Xt A LR ANEH =g gy S et bl AQlo R
i 2021-01-12 | ARA WD o W x D i 700,700 H 2021-01-12
> | 20e1-01-13 | 29t o E Su3} i 50,000 H 2021-01-13
3 240) OG0l 127 i 950,000 o 2021-01-13
4 | ooi-01-18 | 2= ol st 10 400,000 box 2021-01-16
5 | 2021-01-26 | 220! Osoa | ¢y i 3,300,000 o 2021-01-26
6 | 201-02-16 | ermermaEDy Ceoz | atnerna > 377,200 oH 2021-02-16
7 | ootz | eu: ol = > 200,000 = 2021-02-22
8 | 2001-03-08 | =40 CsolE A0l i 787,450 o 2021-03-08
o | ooet-03-14 | =20l Lo 7] i 1,000,000 o 2021-03-14
10| 201-04-00 | wX RAmAI| Csomy | BN TESE 1 1,000,000 o 2021-04-09
1| eoet-04-14 | &= SRS src ) 1000 1,124,000 oH 2021-04- 14
12 | eot-a-z0 | JME TEERL paoy S MEAD) 1 1,190,000 H 2021-04-30
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14| 2001-05-04 | zE0 ol ste ) 1000 1,124,000 o 2021-05-04
5| 2001-05-31 | 2ltx A=H Doz | Sl-A=H i 100,000 = 202/E 1S 2021-05-31
6 | 2001-06-21 | IOk ol E o %I O 4 40,000 o 2021-06-21
17 | ooe1-op24 | mEz:Ea CsolE e=E ] 360 610,560 oH 2021-06-24




AE LT AELHS INE=PS| =3 =g =N £t u] pr] =Xt
2021-06-24 =1 G2 e 400 449,600 H 2021-06-24
2021-07-17 &2 th&2 8 & e 8 320,000 box 2021-07-17
2021-07-28 SHE Chs2 8 SHE 4 480,000 box 2021-07-28
2021-08-06 =8¢ G2 =8¢ 5 100,000 = 2021-08-06
2021-09-01 o BESCIES oo 50 100,000 H 2021-09-01
2021-09-27 R0 (B Es HRAN 100 1,500,000 H 2021-09-27

2 &EA th&2d = &AM 100 1,500,000 H 2021-09-27

2021-11-04 Shree (BEiSIES &y 40 120,000 H 2021-11-04

2021-11-10 o (B NSIES o 25 65,000 H 2021-11-10

2021-12-24 B 2 Xl 2t (B ENSIES B = 2 Xl 2t &H 30 855,000 box 2021-12-24
Al 3,151 18,771,950
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